ROLLCO

ALUMINIUM
PROFILE
SYSTEM >




Note! The products available in this catalogue is Rollco standard range. Other specialty profiles, fasteners
and accessories are available upon request. Please contact us with your specific requirements.

Delivery time for most products in this catalogue is approx. 2 weeks, however lead times may vary.
For exact lead times, please contact us.

Every care has been taken to ensure the accuracy of the information contained in this catalogue, but no liability
can be accepted for any errors or omissions. We reserve the right to make changes without prior notice.

Any reproduction, even partial, is allowed only by written permission by Rollco.

100%

RENEWABLE ENERGY




INDEX

ALUMINIUM PROFILES

FASTENERS

51

ACCESSORIES 95
SHEET MATERIAL 223
SWIVEL ARMS & WIRE DUCTING 227
TOOLS 233
APPLICATION EXAMPLES 235
ALPHABETICAL INDEX 239

ROLLCO



ROLLCO



ALUMINIUM PROFILES

Index

ALUMINIUM PROFILE OVERVIEW ..ot smrs e s e s sss s s e s ne s ne s ne s sne s s sn e s nnenan 7

F 43 I =3 1 1 9
Profiles 40x40 9
Profiles 40x80 10
Profiles 40x120 n
Profiles 40x160 n
Profiles 40x200 12
Profiles 80x80 13
Profiles 80x120 14
Profiles 80x160 14
Profile 80x200 15
Profiles 120x120 15
Profiles 120x160 16
Profiles 160x160 16
Profiles 16x40 17
Profiles 16x80 17
Profile 28x120 17
Profile 28x160 18
ANGIE Profile@s 4AOXEBO/BO oottt 18
ANGIE Profile 40X120/T20 oottt 18
Profiles 40/A0 EAGE oottt ettt ettt 19
Closed Profile 80x80 Edge ... 19
Profile 80x80 7N Double Bridge 19
Closed Profile R40/80 30° ..o, 19
Closed Profile RAO/80O A5 .o 20
Closed Profile RAO/80 BO° ..o, 20
Closed Profile RAO/80 G0 .o 20
Closed Profile 40/40 RO oo 20
Tear-Off Profile 40X4A0 O/AN ettt 21
Tear-Off Profile 40X80 O/BN oottt 21
Tear-Off Profile 8OX8O O/8N oottt ettt 21
Clam ProfileS 4O e e et 22
ClamD SEIIOS 4O ettt 22

SPECIAL PROFILES 4O ...t rceir st s s e e s s s e s s s e s me s sne e s e s sne e e s me s ne e s n e s nn e s nn e s nnnnnan 23
Angle Profile 70x70 23
Angle Profile 60x80 23
ANGIE Profile BOXI20 oottt 23
ANGIE Profile BOXEBO et 23
ANGIE Profile BOXI20 ettt 24
ANGIE Profile T20X120 ettt 24
Angle Profile 120X120 BYIiOOE oottt 24
Cabinet Profiles B0OX52 ettt 25
CabiNet Profile BOXT74 oot 25
Handle Strip Profile BOXA0 oottt 25
Telescope Profile D345 ettt 26
Clamp Profile 22X28 .o ettt 26
COVEYI PrOfile 4O oot 26
SlAING DOOK Profile 4O ettt 26
Step Profile 43x100 26
Step Profile 43x150 27
Tent Profile e, 27
Hand Rail Profile ... 27
Tread Plate 4O e 27

ROLLCO 5



ALUMINIUM PROFILES

Tread Plate 8O et 28
Table Profile AOXAQ ettt 28
Table Profile AOXBO oot 28
SUpPOrt Rail FOr Table Profile e et 29
BIENA PrOfile@s 4O et 29
BIEN Profile@s 8O oot 30
Blend Corner Profile 4O ettt 30
EAge SEOP Profile 4O e 30
Wiring Duct @27 e 31
Wiring Duct 42x60 .., 31
Door Jamb Profile . 31
Mounting Foot Profile 60x80 32
Mounting Foot Profile 80x80 32
Protection Wall Profiles 40 33
Protection Wall Support Leg Profiles 6OX80 ..ot 33
Protection Wall Support Leg Door Profile 6OX80 ..ot 34
Protection Wall Support Leg Profile 8OX80 ..ot 34
Mesh GUArdING Profile 4O ettt 35
TECHNICAL INFORMATION SYSTEM 40 ... rcrrceirseeessen s sse s s e s s ssesssss e s snesssss s sssn e sssnnenns 37
L0 4 I =3 7 = 41
PrOfiles BOXBO e ettt 4]
Profiles 3OX30 5% L ettt 4]
Profiles 30X30 RO L ettt 4]
PrOfiles BOXOO oottt ettt 42
Profiles BOXI20 ettt 42
Profiles BOXOO oottt ettt 43
Profiles BOXI20 e ettt 43
E R 4 I =1 7 - S 44
Profiles 20X20 ettt 44
Profile 20X20 ROOC .ottt 44
Profiles 20XA0 e 44
Profile 20X00 ottt 45
Profiles 20XT0 ettt 45
Profile AOXAQ e ettt 45
TECHNICAL INFORMATION SYSTEM 6 & 5 ..ot ssessse e nesssse s ne s e e sssn e s nnenen 47

ROLLCO



ALUMINIUM PROFILE OVERVIEW

Profile Ranges

40 System 40

The System 40 profile is the most frequently used profile range. The name indicates a distance of 40 mm
grooves. The range includes different versions from Standard to Superlight. All profiles in the System 40 range

are interchangeable.

e T-slot 8
¢ Center hole for M8

Standard Double bridge Semi Light Superlight

o .
6 & -
& 4.5 @ 4.5 ¢ @ 4.5
I ] ~ ] I
. 7198 ,@{«%—QL&?%? 0,25x90 D79 9 HLS 2
@4 < 4 @ I

ROLLCO



ALUMINIUM PROFILE OVERVIEW

6 . systems 5  systems
The System 6 profile is designed for any kind of The System 5 profile has small outer dimensions
construction with optimised weight. The range which particularly fit compact equipment with minor
includes two versions, Standard and Light. design space requirements, covers and handling me-
chanisms.

20

20

e T-slot5
¢ Center hole for M5

e T-slot 6
¢ Center hole for M6

System 6, Normal System 6, Light System 5

6,85 R3
6,85 :E e R2
05+O2‘ }:j\‘ i/L __::l__ i,
‘ ik
R
9,75+0.2 L .y 1 , : 6,3520.1515503| | 1] 1184015
13,0-0,25 6,2 +0,3 3-0,25 115403 0,15 0,15
6,20 +0.3 |Lo520.10 2005 __|.01520,10 T
16,3 +0,3
16,3 +0,3
Iy (cm#) . .
x ¢ Moment of inertia
|y (CmA) o )
O X
(] (¢
Wy (cm3) -
X Resistive moment y
Wy (cm3)
A (cm2) Profile surface




SYSTEM 40

Profiles 40x40

SP4000N
40x40

O [l=i8

(©)

40

SP7100N
Closed 40x40 3N

SP5510N
Closed 40x40 3N
Light

SP5640N
Closed 40x40 3N
Superlight

SP5050N
40x40 Semi

SP6400N
Closed 40x40 2N 180°

| )

oy

40

SP5520N
Closed 40x40 2N
180° Light

40

SP5630N
Closed 40x40 2N
180° Superlight

SP5000N
40x40 Light

SP6500N
Closed 40x40 2N 90°

SP5530N
Closed 40x40 2N
90° Light

<€

40

SP5620N
Closed 40x40 2N
90° Superlight

SP5100N
40x40 Double Bridge

SP5480N
Closed 40x40 1N
Semi

SP5600N
40x40 Superlight

SP400ON 40x40 12.91 12.91 6.46 6.46 8.49 2.30

SP5050N 40x40 Semi 917 917 459 459 6.44 175

SP5000N 40x40 Light 7.82 7.82 3.91 3.91 5.67 154

SP5100N 40x40 Double Bridge 1016 1016 5.08 5.08 6.54 177

SP5600N 40x40 Superlight 7.96 7.96 3.98 3.98 514 1.39

SP7100N Closed 40x40 3N 12.20 12.01 5.95 6.01 8.33 2.6

SP6400ON Closed 40x40 2N 180° 10.69 13.24 5.35 6.62 811 2.20

SP6500N Closed 40x40 2N 90° .88 .88 5.66 5.66 8.1 2.20

SP5510N Closed 40x40 3N Light 8.41 7.85 410 3.93 5.83 158

SP5520N Closed 40x40 2N 7.88 9.02 3.94 451 5.99 1.62
180° Light

SP5530N Clatze] S05A0 21N 8.44 8.44 412 412 5.99 162
90° Light

SP5480N Closed 40x40 IN Semi 9.94 10.67 484 5.34 7.04 1,92

SP5640N Cllasiag] A0xA0 F 8.45 7.90 410 3.95 5.04 1.42
Superlight

SP5630N Closed 40x40 2N 7.93 9.06 3.97 453 5.40 1.46

180° Superlight
SP5620N Clatze] SONAT 21N 8.48 8.48 412 412 5.40 1.46

90° Superlight

ROLLCO 9



SYSTEM 40

Profiles 40x80

SP4200N SP5250N SP5200N SP5300N SP5700N
40x80 40x80 Semi 40x80 Light 40x80 Double Bridge 40x80 Superlight

80

A
40
SP690ON SP68OON SP7180N SP5900N
Closed 40x80 5N Closed 40x80 4N Closed 40x80 3N Closed 40x80

SP5540N SP5560N SP5550N SP5570N
Closed 40x80 5N Closed 40x80 4N Closed 40x80 4N Closed 40x80 3N
Light 270° Light 180° Light 90° Light
SP4200N 40x80 93.73 26.08 23.43 13.04 15.95 4.32
SP5250N 40x80 Semi 69.49 17.43 17.37 872 18 3.03
SP5200N 40x80 Light 60.79 14.06 15.20 7.03 9.80 265
SP5300N 40x80 Double Bridge 7374 19.88 18.44 9.94 12.64 3.43
SP5700N 40x80 Superlight 56.96 15.02 14.24 7.51 916 2.48
SP690ON Closed 40x80 5N 98.51 2610 24.63 13.05 16.31 4.42
SP68OON Closed 40x80 4N 96.65 2811 2416 13.58 16.67 4.52
SP7180N Closed 40x80 3N 102.21 28.23 25.05 13.64 1716 4.65
SP5900N Closed 40x80 70.39 1757 17.60 8.79 10.74 291
SP5540N Closed 40x80 5N Light  63.22 14.09 15.57 7.05 9.95 270
Closed 40x80 4N
SP5560N B 6212 15.23 15.53 7.39 1012 274
SP5550N Closed 40x80 4N 65.74 1412 16.44 7.06 1012 274
180° Light
SP5570N Closee] 40 9N 64.56 15.26 15.90 7.41 10.28 278
90° Light

10 ROLLCO



SYSTEM 40

Profiles 40x120

SP4400N SP4450N SP5220N
40x120 40x120 Semi 40x120 Double Bridge
SP4400N 40x120 30218 39.24 50.36 19.62 23.41 6.34
SP4450N 40x120 Semi 222.70 26.14 3712 13.07 16.74 4,52
SP5220N 40x120 Double Bridge 234.92 28.94 39.15 14.47 18.03 4.89

Profiles 40x160

SP4600N SP4650N
40x160 40x160 Semi
SP4600N 40x160 697.91 52.41 87.24 26.21 30.87 8.37
SP4650N 40x160 Semi 520.54 35.67 65.07 17.84 22.82 6.16

ROLLCO




SYSTEM 40

Profiles 40x200

SP4700N SP5350N

40x200 40x200 Semi
SP4700N 40x200 1386.00 66.71 138.60 33.36 33.36 10.52
SP5350N 40x200 Semi 970.93 43.03 97.09 21.52 26.98 7.31

12 ROLLCO



SYSTEM 40

Profiles 80x80

08

= D)

(©)

s,

SP8400N SP810ON SP8150N SP8OOON SP88OON
80x80 80x80 Bridge 80x80 Bridge NV 80x80 Round 80x80 Filled

SP5450N SP5400N SP5500N SP5800N
80x80 Semi 80x80 Light 80x80 Double Bridge 80x80 Superlight

’EDC‘D W, 5@ @D

a m)
o) |O
O
G b O & J_ D

80

=65 o 25\@@

SP660ON SP6700N SP5580N SP5590N
Closed 80x80 6N Closed 80x80 4N 90° Closed 80x80 6N Light Closed 80x80 4N 90° Light
edonaton | oescrton |y | by cmy | Wy |y cn®y | > | s i |
SP8400N 80x80 173.08 173.08 4327 43.27 24.51 6.64
SPS100N 80x80 Bridge 174.65 18812 43.66 47.03 27.98 7.58
SP8150N 80x80 Bridge NV 177.21 190.67 4430 47.67 28.23 7.62
SPSOOON 80x80 Round 188.31 188.31 47.08 47.08 30.24 8.20
SPSSOON 80x80 Filled 239.66 239.66 59.92 59.92 50.99 13.82
SP5450N 80x80 Semi 134.28 134.28 33.57 33.57 19.37 5.25
SP5400N 80x80 Light 10513 105.13 26.28 26.28 15.56 422
SP5500N 80x80 Double Bridge 146.92 146.92 36.73 36.73 21.56 5.84
SP5800N 80x80 Superlight 9510 9510 23.78 23.78 13.93 3.78
SP6600ON Closed 80x80 6N 174.34 180.22 43.59 43.96 24.63 6.67
SP6700N Closed 80x80 4N 90° 183.37 183.37 44.83 44.83 25.51 6.91
SP5580N Closed 80x80 6N Light  109.99 106.47 26.96 26.62 15.88 430
SP5590N Closggosggﬁ? 4N m.33 m.33 27.29 27.29 16.20 439

ROLLCO 13



SYSTEM 40

Profiles 80x120

SP8500N SP5420N

80x120 80x120 Light
SP8500N 80x120 554.55 274.80 89.73 68.70 38.57 10.45
SP5420N 80x120 Light 418.05 201.67 69.44 50.42 26.20 710

&
18
\/
160

160
160

=00 G )
S,
-

O U ; @&ea 1 @&6
4 -3 =D
G}
'E.GBC: :DGB o ID@ S G
6 éiw% S

8l

SP8700N SP8200N SP8250N SP5440N
80x160 Bridge 80x160 Round 80x160 Round NV 80x160 Light
ocsgnaion | bescrption —ly(cm iy e | Wy tcm | Wy e A e s ig/m |
SP8700N 80x160 Bridge 1M2.01 346.22 139.00 86.56 45.56 12.35
SP8200N 80x160 Round 1354.32 371.87 169.29 92.97 59.48 16.12
SP8250N 80x160 Round NV 1300.36 364.04 162.55 91.01 56.65 15.35
SP5440N 80x160 Light 906.61 260.24 13.33 65.06 33.30 9.02

14 ROLLCO



SYSTEM 40

Profile 80x200

200

SP860OON 80x200 2120.64 425.40 212.06 106.35 54.54 14.78

Profiles 120x120

@@(ﬁ

N

120

@

oG

A

120

120

SP7650N SP7660N

120x120 120x120 NV
SP7650N 120x120 763.23 763.23 127.21 127.21 47.92 12.99
SP7660N 120x120 NV 77213 77213 128.69 128.69 48.31 13.09

ROLLCO 15



SYSTEM 40

Profiles 120x160

SP7670N 120x160 1737.86 104218 212.97 173.70 66.39 17.99

Profiles 160x160

TS Ss
@O OEE

(!

160

() C@>
S GUGOE—}S
160
SP7680N 160x160 2 230.55 2 230.55 278.82 278.82 7412 20.09




SYSTEM 40

Profiles 16x40

o
Q
@ Zl
16
SP3000ON SP3050N
16x40 16x40 Light
SP3000N 16x40 6.95 1.08 3.48 1.27 4.26
SP3050N 16x40 Light 4.49 0.75 2.25 1.01 273 0.74
Profiles 16 x80
(6]
Q 3
(3]
16
16x80 16x80 Light
SP3100N 16x80 48.99 217 12.25 2.55 7.82 212
SP3150N 16x80 Light 30.00 1.46 7.50 1.69 4.55 1.23

Profile 28x120

o

28

SP3300N 28x120 302.71 15.31 50.45 10.63 23.10 6.26

ROLLCO 17



SYSTEM 40

Profile 28x160

©
o)
28

SP3400N 28x160 695.74 20.25 86.97 14.16 30.36 8.23

Angle Profiles 40x80/80

SP4800N SP5150N

Angle 40x80/80 Angle 40x80/80 Semi
SP4800N Angle 40x80/80 125.71 127.71 27.03 27.03 22.91 6.21
SP5150N Angle 40x80/80 Semi 90.82 90.82 19.69 19.69 16.62 4.50

Angle Profile 40x120/120

| 120

SP4500N Angle 40x120/120 47116 47116 62.32 62.32 37.47 1015

18 ROLLCO



SYSTEM 40

Profiles 40/40 Edge

40

60
O
Y

SP7200N SP5670N
Closed 40/40 Edge 40x40 Egde Superlight
SP7200N 40/40 Edge 8.88 8.88 3.89 3.89 6.92 1.88

40x40 Egde Superlight

SP5670N 5.22 5.22 2.24 2.24 3.88 1.05

Closed Profile 80x80 Edge

80

SP80O50N Closed 80x80 Edge 122.08 122.08 25.76 25.76 19.79 5.36

Profile 80x80 7N Double Bridge

‘ 80

SP5470N 80x80 7N Double Bridge 108.12 108.12 24.74 24.74 17.88 4.85

Closed Profile R40/80 30°

40 G
SP7250N Closed R40/80 30° 6.09 8.48 2.67 3.59 579 1.57

ROLLCO 19



SYSTEM 40

Closed Profile R40/80 45°

SP7260N Closed R40/80 45° 16.26 11.85 5.06 4.59 1.92

Closed Profile R40/80 60°

SP7270N Closed R40/80 60° 30.40 19.27 7.94 6.40 8.30 2.25

Closed Profile R40/80 90°

SP7280N Closed R40/80 90° 66.03 66.03 16.14 16.14 12.69 3.44

Closed Profile 40/40 R90

SP7210N Closed 40/40 R90 8.21 8.21 3.54 3.54 6.23 1.69

20 ROLLCO



SYSTEM 40

Tear-Off Profile 40x40 O/4N

S 2 .

NS ¥ ﬂ

40 |

SP3900N Tear-Off 40x40 0/4N n.73 1n.73 5.87 5.87 214

40

Tear-Off Profile 40x80 0/6N

SP3910N Tear-Off 40x80 O/6N 85.73 21.52 21.43 10.76 13.93 3.78

Tear-Off Profile 80x80 0/8N

SP3920N Tear-Off 80x80 0/8N 162.66 162.66 40.66 40.66 23.34 6.67

ROLLCO 21



SYSTEM 40

Clamp Profiles 40

18

18

SP7500N SP7520N SP7510N
Clamp Profile 40 Clamp Profile 40 90° Clamp Profile 40 180°
oesgnaion | bescrption —ly(cm iy e | Wy tcm | Wy e A e s kg/m |
SP7500N Clamp Profile 40 9.20 10.30 4.49 5.05 6.76 1.83
SP7520N Clamp Profile 40 90° 10m 101 4.89 4.89 6.74 1.83
SP7510N Clamp Profile 40 180° 10.19 12.01 5.10 5.80 7.23 1.96

Clamp Strips 40

6 25
ml“’. i .
18.9 = 12.

12.3

SP60OON SP601ON
Clamp Strip 40 Clamp Strip 40 180°
SP600OON Clamp Strip 40 0.12 0.29 0.17 0.23 1.07 0.29
SP6010N Clamp Strip 40 180° 0.14 0.94 0.22 119 0.66 0.18

Clamp Strips

Application
Simple mounting of sheet elements and wire mesh (max. 9 mm) suitable for the construction of protective
guards, doors, etc. The clamped surface material gives a highly rigid construction.

Supply

e Complete with clamp strip and grub screws
e SP7401N: grub screw M 6 x 16, DIN 912

e SP741IN: grub screw M 6 x 25, DIN 913

SP7401N SP7421IN SP741IN

22 ROLLCO



SPECIAL PROFILES 40

Angle Profile 70x70

&)
70

49

29.1
A
O
5

13.70 3.71

Angle 70x70 46.02 46.02

SP9450N

Angle Profile 60x80

20

80

20

60
16.22 25.40 6.88

135.91 64.41 27.02

SP9300N Angle 60x80

Angle Profile 60x120

20

120

20

60
17.55 33.40 9.06

445.95 73.52 60.67

SP7800N Angle 60x120

Angle Profile 80x80

20

80

20

80
28.45 29.40 7.97

SP9400N Angle 80x80 150.69 150.69 28.45
23

ROLLCO



SPECIAL PROFILES 40

Angle Profile 80x120

20

120

(o)
<&
O
N

80

SP7850N Angle 80x120 49.49 1716 6.39 3.03 37.40 1013

Angle Profile 120x120

20

120

o
(Y

120

SP7860N Angle 120x120 567.72 567.72 68.29 68.29 45.40 12.26

Angle Profile 120x120 Bridge

116.5

86.5

Q)@

i
o,
116.5 |

¥

SP6200N Angle 120x120 Bridge 225.29 225.29 28.63 28.63 21.51 5.83

24 ROLLCO



SPECIAL PROFILES 40

Cabinet Profiles 30x52

15

52

23]
23

30 30
SP1810N SP180OON
Cabinet Profile 30x52 Cabinet Profile 30x52 Open
SPI8ION Cabinet Profile 30x52 13.05 5.44 479 3.62 4.88 1.32
SP180ON Celonmai ggr']'e SonEz 12.77 514 472 3.43 472 1.28

Cabinet Profile 30x74

22

74

12.5| 245

SP1820N Cabinet Profile 30x74 110.67 70.05 20.23 11.39 6.56 1.77

Handle Strip Profile 30x40

SPO590N Handle Strip 30x40 5.88 2.85 3.83 1.80 2.98 0.80

ROLLCO 25



SPECIAL PROFILES 40

Telescope Profile @34.5

@29
@35
8.2
SP1900N Telescope @34.5 3.69 4.37 2.06 2.50 3.77 1.00
Clamp Profile 22x28
20
I3
‘EI‘QIN
N
28

SP6GI10ON Clamp Profile 22x28 1.62 2.37 1.29 1.44 4.58 1.24

Cover Profile 40
ok

SP7900N Cover Profile 40 0.01 0.01 0.02 on 0.03

Sliding Door Profile 40

...35
[ s
e
40
SPO400N Sliding Door Profile 40 1.92 6.84 13.61 3.42 4.46 1.21
Step Profile 43x100
Step Fasteners are found under Accessories
75 38 -
3
o) 34 P D ol Q
| | 8

T T T R Y

SPO610ON Step Profile 43x100 15.37 130.66 5.57 26.13 9.27 2.51

26 ROLLCO



SPECIAL PROFILES 40

Step Profile 43x150

Step Fasteners are found under Accessories

SPO620N Step Profile 43x150 18.57 356.07 6.29 46.95 12.40 3.36

Tent Profile

5.7
L2
g
©
| 2
0z
L4
I lens
SPO700N Tent Profile 1.61 0.37 0.65 0.35 1.44 0.39
Hand Rail Profile
45°
ALY ue
— O
C10 ~
WA WES

33

52

SPOG60ON Hand Rail Profile 119 13.57 4.48 5.22 7.22 1.96

Tread Plate 40

7.5 _
o 38 S “’Tﬂ 38 oy
ol éa — Ll ‘ e
@ 8.6
40 R
SPO640N SPOG60ON
Tread Plate 40 Tread Plate 40W
SP0640N Tread Plate 40 0.06 1.34 0.09 0.67 125 0.34
SPO660ON Tread Plate 40W 0.05 1.34 0.08 0.67 118 0.32

ROLLCO 27



SPECIAL PROFILES 40

Tread Plate 80

. 38 ﬂm ; "E ™ :r
g’F = =
X
0]
©
SPO630N SPO650N
Tread Plate 80 Tread Plate 80W
SPO630N Tread Plate 80 0.2 12.32 0.8 312 2.47 0.67
SPO650N Tread Plate 80W omn 12.20 0.17 3.05 2.34 0.63

Table Profile 40x40

15.9/11.5

SP7000N Table Profile 40x40 9.96 4.44 4.44 2.02

Table Profile 40x80

SP2500N Table Profile 40x80 31.49 16.80 5.74 7.24 9.61 2.61

28 ROLLCO



SPECIAL PROFILES 40

Support Rail For Table Profile

60

2.3
<

4
12.4

35.8 18.7

65.1

Support Rail For Table 18.80 12.28 453 283 56

SPOSOON Profile

Blend Profiles 40

o Y, -
e WA rwe KA

SPO570N SPO580N
Blend Profile 40/2 180° Blend Profile 40/2 90°

[Te) [Te)
5 ! %
;" 6 mm g = 6 mm
oW T M T

5
35
Al

1.3

SPO510N SPO520N
Blend Profile 40/6 180° Blend Profile 40/6 90°
SPO570N Blend Profile 40/2 180° on 1.40 0.13 0.70 1.38 0.37
SPO580N Blend Profile 40/2 90° 0.12 1.63 014 0.78 1.48 0.40
SPO510N Blend Profile 40/6 180° 0.27 1.41 0.24 0.70 1.58 0.43
SPO520N Blend Profile 40/6 90° 0.30 217 0.15 0.95 1.95 0.53

Blend Profiles

Application
To fix panels (2 mm or 6 mm)

ROLLCO 29



SPECIAL PROFILES 40

Blend Profiles 80

0 0 l
™ _ 2 mm ® - 2 mm
T T R GAl W W R7 QA1
‘ 80 ‘ 84
SPO360N SPO380ON
Blend Profile 80/2 180° Blend Profile 84/2 180°
0 0 b
™ - l 2 mm "Dl "’L l 2 mm
{ep)
2 f m | f
44 42 1
SPO330N SPO340N
Blend Profile 44/2 180° Blend Profile 42/2 90°
SPO360N Blend Profile 80/2 180° 0.23 14.19 0.27 3.55 2.90 0.79
SPO380ON Blend Profile 84/2 180° 0.23 16.46 0.27 3.92 3.04 0.82
SPO330N Blend Profile 44/2 180° 0.12 1.98 0.14 0.90 1.56 0.42
SPO340N Blend Profile 42/2 90° 0.12 2.01 0.14 0.91 1.63 0.44

Blend Corner Profile 40

42

SPO420N Blend Corner Profile 40 9.60 4.66 2.89 1.47 3.87 1.05

Edge Stop Profile 40

SP6120N Edge Stop Profile 40 7.06 2.89 2.89 2.05 414

30 ROLLCO



SPECIAL PROFILES 40

Wiring Duct 927

SP6460N Wiring Duct @27 8.64 2.54 2.23 144 315 0.85

Wiring Duct 42x60

8.6

60
20
IN
o

20.4
24.4

—Q&Pj

SP6390N Wiring Duct 42x60 9.29 6.84 2.39 2.48 3.25 0.88

Door Jamb Profile

6
15
|
<
o<
N~
| I
128 \
SPO410N Door Jamb Profile 7.31 174.95 1.95 24.51 10.90

ROLLCO 31



SPECIAL PROFILES 40

Mounting Foot Profile 60x80

N2 13
T I
g 8
S
- 60.5 £h
130
SPO560N Mounting Foot Profile 852.58 69714 102.06 90.54 2712
60x80
Mounting Foot Profile 80x80
N\o13
: I
805

140

Mounting Foot Profile
80x80

SPO530N 867.94 917.45 103.02 105.45 281

32 ROLLCO



SPECIAL PROFILES 40

Protection Wall Profiles 40

Panel thickness 4 mm

27.5 27.5

Y e I ae—

~5
(=]
<

60
SP6270N SP6350N SP6360N SP6340N SP6280ON
Protection Wall Profile Protection Wall Profile Protection Wall Profile Protection Wall Profile Protection Wall Profile
40/4 40/4-8.6 40/4180° 40/4 Semi 40/4-8.6 Semi

Protection Wall Profile

SP6270N o/ 7.9
Protection Wall Profile

SP6350N eI 7.87 8.47 3.88 413 511 1.38
Protection Wall Profile

SP6360N o 1800 12.66 24.57 6.00 818 7.47 202

SP6340N Pireizeiion Wl Preifls 917 976 4.56 475 557 1.80

40/4 Semi
SP6280ON Protection Wall Profile 915 974 455 4.74 6.45 174

40/4-8.6 Semi

Protection Wall Support Leg Profiles 60x80

Panel thickness 4 mm.

60 ‘\‘\,:)/" ‘\S’,"/"

SP6370N SP6450N
Protection Wall Support Leg Profile 60x80 Protection Wall Support Leg Profile 60x80 5N

Protection Wall Support
Leg Profile 60x80

SP6370N 70.71 38.18 16.44 1210 9.16

Protection Wall Support

P Leg Profile 60x80 5N

63.14 38.70 15.62 12.47 9.90 2.67

ROLLCO 33



SPECIAL PROFILES 40

Protection Wall Support Leg Door Profile 60x80

Panel thickness 4 mm.

20

Protection Wall Support
Leg Door Profile 60x80

34.5

SP6380ON 65.37 29.27 15.46 8.18

Protection Wall Support Leg Profile 80x80

Panel thickness 4 mm.

275 275

ot
~

N

N

[
80

[ 275
L

D |

275

80

Protection Wall Support
Leg Profile 80x80

SP6330N 88.41 87.72 21.58 21.66 12.51

34 ROLLCO



Mesh Guarding Profile 40

Panel thickness 7.8 mm.

7.8
7.8
{ . BRACH
<t I
]
40 | 40
SP6300N SP6310N SP6320N
Mesh Guarding Profile 40 Mesh Guarding Profile 40 90° Mesh Guarding Profile 40 180°
Mesh Guarding
SP6300N Profile 40 5.9 5.7 0.2 0.27 3.6
Mesh Guarding
SP6310N Profile 40 90° 5.34 5.34 0.26 0.26 3.47 0.94
SP6320N Mesh Guarding 813 164 0.27 0.08 5.06 137

Profile 40 180°

ROLLCO 35



36

ROLLCO



TECHNICAL INFORMATION SYSTEM 40

Technical Information System 40

Mechanical Data

(Values in direction of press.)

« EN AW - 6063 (in some cases EN AW 6060) T66
« Al Mg Si 0.5 F25 / 3.3206.72

« Rm: 245 N/mm2 (minimum tensile strength)

« Rp 0.2: 195 N/mm2 (yield strength)

* A5: 10% (elongation at break)

* Al10: 8% (elongation at break)

« E: Approx. 70,000 N/mm2 (modulus of elasticity)
* HB: Approx. 75 (Brinell hardness)

« a: 23.4 x 10-6 1/K (coefficient of linear expansion)
* Tolerances: DIN EN 12020-2

» Eloxal: E6EV1or E6/EV6 (Black)

* Coating thickness: 10-15 um

* Coating hardness: 250-350 HV

* RAL colours powder coating (on request)

Manufacturing Tolerances

Tolerances Of External Dimensions and T-Slot Positions

Width H (mm) Tolerances of external
dimension H or rather
over to t-slot position N* (mm)

0 10 0.10
10 20 0.15
20 40 0.20
40 60 0.30
60 80 0.40
80 100 0.45
100 120 0.50
120 160 0.60
T-Slot Dimension Tolerances 160 240 0.80

The standard, double bridge, semi, light and superlight
series profiles possess a standardised t-slot shape. This
guarantees that all fasteners and accessories can be
utilised with the different profile series and sizes.

Center Holes a 820 =01

The center hole bore of the profiles can be opened up b 20.00 =o1

according to the table. Profiles of the series superlight c 12.40 +02

(40 mm), however, may not be opened up due to the wall d 4.50 +01

section around the center hole. e 0.20 o1
ol 26.8-02(M8)

Up to max. d2 28 i)

(not for superlight)

ROLLCO 37



TECHNICAL INFORMATION SYSTEM 40

NV Profile T-Slot

The NV t-slot is not pretensioned. The NV profile range has
been designed for use with gauge plates and linear bearings,
that require the profile surface to be flat. E.g. jigs, fixtures
and special purpose machines.

pretensioned 1° not pretensioned

Drilling Position Tolerances
The drilling position tolerance is
dependent upon the number of the
center hole bores and the contour of
the profile.

Profiles with open Profiles with closed
t-slots t-slots

number of number of
drillings drillings

2to4 0.6 >1 0.8
>4 0.8
T-Slot Stre_mgth . Profile Max. pull charge F
Information in regards to the maximum
allowable t-slot load capability F. These ciancze SCCob
values already include a safety factor double br. 3250N
(S>2) against plastic deformation. semi 2500N
light 2000N

superlight 1750 N

Torsion Width W Torsion tolerance T (mm)

(mm) for nominal length L (mm)

1000 | 2000 | 3000 | 4000 | 5000 | 6000

50 75 1.0 1.2 1.2 1.5 2.0 2.0
75 100 1.0 1.2 1.5 2.0 2.2 25
100 125 1.0 1.5 1.8 2.2 25 3.0
125 150 1.2 1.5 1.8 2.2 25 3.0
150 200 1.5 1.8 2.2 2.6 3.0 3.5
200 300 1.8 25 3.0 3.5 4.0 4.5

Straightness Tolerance

Longitudinal
300 mm ]
Straightness tolerance ht for
S [E (i) nominal length L (mm)

till 1000 0.7
till 2000 1.3
till 3000 1.8
till 5000 2.2
till 5000 2.6
till 6000 3.0

The straightness tolerance ht is in relation to a corresponding length
L and will not exceed the stated value in the table. The straightness
tolerance hs will not exceed 0.3mm per 300 mm in length.

38 ROLLCO



TECHNICAL INFORMATION SYSTEM 40

Straightness Tolerance
Transverse

Width W (mm)

Straightness tolerance F (mm)

0 30 0.20
30 60 0.30
60 100 0.40
100 150 0.50
150 200 0.70
200 250 0.85

Angle Tolerance

Width W (mm) Permissible deflection

Z (mm) from a right angle

80 120 0.8
120 200 12
200 1.5

ROLLCO 39



TECHNICAL INFORMATION SYSTEM 40

Bending/Calculation

_ FxL® Profile bending caused
3E x | x 104 by force F
L
mxgxL* . .
Profile bending caused by

<«

fo —_—
\ 8E x | x 10 the profile’s own weight
% f

— (mxgxL+F)xL

&= Control of bending stress
W x 103
f= FxL® Profile bending caused
L 48 X E x | x 10 by force F
F

S5xmxgxL Profile bending caused by

384E x | x 104 the profile’s own weight

=
%\

(mxgxL+F)xL

o= Control of bending stress
4W x 103
3
f= L Profile bending caused by
L 192E x | x 10% force F
F
Z - mxgxLl4 Profile bending caused by

tf f 384E x | x 104 the profile’s own weight

%q/

(mxgxL+F)xL
o= Control of bending stress
8W x 10°%

f = bending (mm)

F = force (N)

L = profile length (mm)

E = modulus of elasticity (70,000 N/mm2)

g = fall velocity (9.81 m/s?)

m = mass (kg/mm)

| = moment of inertia (cm*)

W = section modulus (cms3)

40 ROLLCO



SYSTEM 6

Profiles 30x30

PP3060 PP3010 PP3110 PP3130 PP3120

30x30L 30x30 30x30 3N L 30x30 2N 180L 30x30 2N 90° L
PP3060 30x30 L 2,88 2,88 1,92 1,92 3,34 0,90
PP3010 30x30 4,13 4,13 2,75 2,75 4,60 1,24
PP3110 30x30 3N L 3,02 3,02 2,88 2,88 3,41 0,92
PP3130 30x30 2N 180L 2,89 3,17 1,92 2N 3,48 0,94
PP3120 30x30 2N 90°L 3,02 3,02 1,98 1,98 3,48 0,94

Profiles 30x30 45° L

PP3150
30x30 45° L
PP3150 30x30 45° L 2,20 2,20 1,32 1,32 3,05 0,82

Profiles 30x30 R90° L

PP3160
30x30 R90° L

PP3160 30x30 R90O° L 2,4 2,4 1,30 1,30 2,99 0,81

ROLLCO 4




SYSTEM 6

Profiles 30x60

] -]
1 .
a i
B : ,
PP3070 PP3020
30x60 L 30x60
PP3070 30x60 L 20,80 5,47 6,93 3,65 594 1,61
PP3020 30x60 28,90 7,85 9,63 524 8,32 2,24

Profiles 30x120

PP3080 PP3030

30x120 L 30x120
PP3080 30x120 L 149,85 10,81 24,97 7,21 1,34 3,06
PP3030 30x120 207,28 15,31 34,55 10,20 15,73 4,26

42 ROLLCO



SYSTEM 6

Profiles 60x60

PP3090 PP3040

60x60 L 60x60
PP3090 60x60 L 38,69 38,69 12,90 12,90 9,71 2,62
PP3040 60x60 53,13 53,13 17,71 17,71 13,10 3,54

Profiles 60x120

PP3100 PP3050

60x120 L 60x120
PP3100 60x120 L 74,95 252,26 25,98 42,04 18,07 4,88
PP3050 60x120 101,82 342 33,94 57,00 24,47 6,61

ROLLCO 43



SYSTEM 5

Profiles 20x20

m
=
C ]

i W W h o i " E
1 1 1
- . . ST —
PP4030 PP4031 PP4900
20x20 20x20 3N 20x20 2N90
PP4030 20x20 0,74 0,74 0,74 0,74 1,82 0,49
PP4031 20x20 3N 0,82 0,75 0,78 0,75 1,92 0,52
PP4900 20x20 2N90O 0,82 0,82 0,79 0,79 2,01 0,53
Profile 20x20 R90°
I
n
PP4110
20x20 R90O°
PP4110 20x20 R90O° 0,58 0,58 0,54 0,54 1,72 0,47
Profiles 20x40
PP4040 PP4071
20x40 20x40 4N
PP4040 20x40 512 1,40 2,56 1,40 3,29 0,89
PP4071 20x40 4N 519 1,47 2,59 1,44 3,36 0,91

44



SYSTEM 5

Profile 20x60

PP4050
20x60
PP4050 20x60 16,07 2,07 5,36 2,07 4,76 1,28

Profiles 20x10

PP4010
20x10
PP4010 20x10 0,12 0,53 0,22 0,53 1,29 0,35

Profile 40x40

PP4070
40x40
PP4070 40x40 9,24 9,24 4,62 4,62 1,38

ROLLCO 45



46

ROLLCO



TECHNICAL INFORMATION SYSTEM 6 & 5

Technical Information System 6 & 5
Mechanical Data

(Values in direction of press.)

« EN AW - 6063: Material number pursuant to DIN EN 573
« Rm: 245 N/mm?2 (minimum tensile strength)

* Rp 0.2: 195 N/mm? (yield strength)

* A5: 10% (elongation at break)

* A10: 8% (elongation at break)

« E: Approx. 70,000 N/mm?2 (modulus of elasticity)
* HB: Approx. 75 (Brinell hardness)

« a: 23.4 x 10-6 1/K (coefficient of linear expansion)
* Tolerances: DIN EN 12020-2

e Eloxal: EGEVI1

* Coating thickness: 10-15um

* RAL colours powder coating (on request)

Manufacturing Tolerances

Tolerances Of External Dimensions and T-Slot Positions

- KA A
Gy Sy
Spacing R R: 30 mm R: 20 mm

Width H (mm) Tolerances of external di-

n|o mension H or rather

(/14 to t-slot position Nt (mm)
0] 10 0.10
10 20 0.15
20 40 0.20
40 60 0.30
_ n _ 60 80 0.40
80 100 0.45
T-Slot Dimension Tolerances 100 120 0.50
The profiles possess a standardised t-slot shape. This guaran- 120 160 060

tees that all fasteners and accessories can be utilised with

160 240 0.80

the different profile series and sizes.

Center Holes
K67| 8571

The center hole bore of the profiles can be opened up accor-

ding to the table. K S K S
a 6.2 +0.3/-0 5.0 +0.3/-0
(] () b 16.3 +03/-0 N5 +03/0

[« 9.75 +0.2/-0 6.35 015

d1 G d 3.0 +0/-0.25 1.8 2015

c CIU] ['UHMd e 0.15 o1 0.15 zo1

- .a. { di 5.0 +02/-01 4.3 01

b e

ROLLCO 47



TECHNICAL INFORMATION SYSTEM 6 & 5

Load capacity of profile slot

Tensile stress
Static stress limit of slot (when deformation sets in) if connectors with largest thread are used:

- <
<"
Nut Profile Pivoting slot nut
5 152020 1,000 N
6 16 3030 3,500 N
6 16 3030L 1,000 N

Note: The above stress limits have been determined on samples subjected to pull-out tests.
Safety factors have not been taken into account.
Separately consider statutory regulations and the relevant codes of practice.

Torsion Width W Torsion tolerance T (mm)
(mm) for nominal length L (mm)

1000 | 2000 | 3000 | 4000 | 5000 | 6000

50 75 1.0 1.2 1.2 1.5 2.0 2.0
75 100 1.0 1.2 1.5 2.0 2.2 2.5
100 125 1.0 1.5 1.8 2.2 25 3.0
125 150 1.2 1.5 1.8 2.2 25 3.0
150 200 1.5 1.8 2.2 2.6 3.0 3.5
200 300 1.8 25 3.0 3.5 4.0 4.5

Straightness Tolerance

Longitudinal
till 1000 0.7
till 2000 1.3
till 3000 1.8
till 5000 22
till 5000 26
till 6000 3.0

The straightness tolerance ht is in relation to a corresponding length
L and will not exceed the stated value in the table. The straightness
tolerance hs will not exceed 0.3 mm per 300 mm in length.




TECHNICAL INFORMATION SYSTEM 6 & 5

Bending/Calculation

_ FxLs Profile bending caused
3E x | x 10% by force F
L
mxgxL* . .
Profile bending caused by

<«

fo —
\ 8E x | x 10 the profile’s own weight
% f

— (mxgxL+F)xL

o= Control of bending stress
W x 103
f= FxL® Profile bending caused
L 48 X E x | x 10 by force F
F

S5xmxgxL Profile bending caused by

384E x | x 104 the profile’s own weight

e
L\

(mxgxL+F)xL
= Control of bending stress

4W x 103
f= FxLs Profile bending caused by
L 192E x | x 104 force F
E
* 7 f= mxgxL4 Profile bending caused by
/ —_— v / tf 384E x | x 104 the profile’s own weight
(mxgxL+F)xL
6= Control of bending stress
8W x 103

= bending (mm)

= force (N)

= profile length (mm)

= modulus of elasticity (70,000 N/mm?2)
fall velocity (9.81 m/s2)

= mass (kg/mm)

= moment of inertia (cm*)

= section modulus (cm3)

s—-3emr T~
n

ROLLCO 49



50

ROLLCO



FASTENERS

Index
FASTENERS SYSTEM 40 OVERVIEW ..ttt sse st sne s s s ne s snn s s s ne s smn e s nnn s 53
I 3 L0 T 56
T-NULES, Dall-tY D@, PUSNIN et 56
T-Nuts ball-tye, PUSh-IN, Flat e 57
T-Nuts, ball-type, slide-in 57
T-NUES, PUSH-IN e, 58
T-Nuts, slide-in e, 58
T-NUES SEEEI / DIASTIC oottt ettt ettt ettt 59
SPECIAL TNUL ettt ettt 59
SQUAE ToNUL ettt ettt 59
DOUBIE ToNUES AO/20 oottt ettt ettt ettt 60
T-NUEL Profile, SIIA@=IN oottt 60
T-NUEL Profile, PUSN=IN ettt 61
T-Nut Profile, aluminum, SHAE-IN ..t 61
T-Nut Profile, aluminium, DUSN=IN e 61
FASTENERS 40 ... 62
Standard Connector 40 62
Standard Fastening Set 62
DUMMY PIUG e 63
UNIVEISAl FASTENEE ettt 63
UNIVErSal FASTENEr 4O ettt 64
AULoOMAtiC Fastening S 4O e 64
QUICK FASEENEE 4O oottt 65
CeNtral FASEENEE 40 S/ SN oottt ettt ettt 65
Central FAstener 40 EL / EQ oottt 66
Central Fastener 40 SVL e 66
Central FAStENEr 40 SL / SV L oottt 67
Central FAstener 40 NL / NQ oottt ettt ettt ettt 67
Central FAstener 40 G et 68
Central Fastener G 30 SS / G 45 S oottt 68
Central Fastener 40 Q0° e 69
Central Fastener 40 120° ettt 69
Central Fastener 40 135°% e 70
Profile Cap for SV drillings ..o, 70
Central Fastener 40 GC / GCV 71
Central Fastener 40 SPS / SVPS 71
Central Fastener 40 EVLS / EVQS oottt 72
SPECIAL T-NUTS 4O  ..ooooiiicciciccerrseiessssssssssssssessssssssssessssssssnsesssssssssssssssessssesssssesessesssnsssesesssnsessn 73
LOCATON BIOCK e 73
DOWEING ToNUL oottt ettt ettt s 73
SPECIAL FASTENERS 40 74
Pneumatic Fastener 40 74
Miter Connector 40 90° 74
ATLACHMENT SCrEWS ettt 75
HEAVY DUTY FASTENERS 40 .....iiiiriercer e seeessee s sme e s sse e s se e s s sns e s se e s snesssne s ssnnesssnsessnnssnsnnen 76
HEAVY DULY FASTENEIS oottt 76
ATTACHMENT PLATES 40 77
Attachment Plates ... 77
Attachment Plates, angled 78
STEP FASTENERS 4O ...t scee s st s s e s s s s s sss e s sms s sne e s n s sme e s e e s ne s e nn s sn e s nn e s nnesnsnnenen 79
SO A NS e 79

ROLLCO 51



FASTENERS

PROTECTION WALL FASTENING ELEMENTS 40 .. ree e s s see s sne s snessssnes 80
ANGIE 4O X BO oo ettt 80
ANGIE BO X 7O oo et 80
B Ot Gty 08 e e 80
HoOlAEr, adJUSTAIE ettt 81

MISCELLANEOQUS FASTENERS 40 ...t rcser s sse s e e s sss e s e s sne s sne s sne s sne s s smsesssne s 82
Potential Equalizers 82
Earth Connection 40 82

FASTENERS SYSTEM 6 & 5 OVERVIEW ... et e s e s s se s s s s s smn s sms s s mn s 83

L 0 1 O 1 = 84
Pivoting Slot Nut, 10.5 x 6.9 mm 84
Pivoting Slot Nut, 10.5 x 6.3 mm 84
Pivoting Slot Nut, 8.0 x 4.2 mm 85
Pivoting Slot Nut, 7.7 x 4.0 mm 85
Pivoting Double SIot NUE, TO.5 MM e 86

CONNECTORS 6 & 5  eiiciiriccirsriir s st s s s e s s e s e s st s s e e s ae s s e e e m e e sme e e s an e e e me e e snneesneessnnennsnn 87
STANAAIA FASTENEI et 87
UNIVEISal CONNECEOIS oottt 88
Universal BUTE CONNEBCTON et 89
AULOMALIC CONNEBCLOIS ottt 90
Automatic Combination CONNECLON e 91
Automatic Butt Connector 92
CUBE CONNECEON 20 ettt 93

52

ROLLCO



FASTENERS SYSTEM 40 OVERVIEW

Standard Fasteners

¢ Universal applications with anti-twist feature.
¢ |nexpensive and simple connection.

¢ Simple assembly.

¢ For high static and dynamic loads.

« Positive locking.

¢ The shape of the fastener protects the t-slot.

‘F#h-.i . ﬁ

Universal Fasteners

¢ For high static and dynamic loads.

* Universal applications when using the range of
t-nuts.

* Positive locking.

by T

Screws M8

¢ For high static and dynamic loads.

* Positive locking.

¢« Simple assembly.

« When using only one screw a locator block
prevents the profile from twisting.

Quick Fasteners

¢ Anti-twist feature.

« Positive locking.

¢ No machining required.
¢ Simple assembly.

D

Central Fasteners

« For high static loads.

« Universal applications when using the range of
anchors.

« Positive locking.

Heavy Duty Fasteners
¢ Stable and positive attachment.
¢ For high static and dynamic loads.

r"|’f- P
AP =

Automatic Fasteners

¢ Quick and easy to use

¢ No need to modify the profiles.
¢ Should be used in pairs.

S Silverline fastener NL T-slot fixation, parallel connection
Anti-twist feature G Thread (butt connection)

VA Stainless-steel GC G-type bolt / t-nut connection

ON Barrel housing without tappets GCV G-type bolt / t-nut connection, anti-twist security

EL Parallel connection, twist-in SPS Parallel connection

EQ Cross connection, twist-in SVPS Parallel connection, anti-twist feature

L Long EVLS Parallel connection, twist-in

NQ T-slot fixation, cross connection EVQs Cross connection, twist-in

ROLLCO 53



FASTENERS SYSTEM 40 OVERVIEW

T-Nuts, ball-type

\

steel / PA

4 7 7 v

push-in flat

slide-in (zinc-plated or stainless steel)

« Positioning in the t-slot via spring-loaded ball or grub screw
¢ Slide-in and push-in t-nut design
¢ Threaded holes from M3 up to M8

T-Nut Profiles

Double T-Nuts

T-Nuts, with grub screw

> >
slide-in push-in
Special Square
T-Nut T-Nuts
> r4

Standard Connector

slide-in, steel push-in, steel slide-in, Al push-in, Al
Standard Universal Dummy Universal Automatic Quick Fasteners
Fastening Set Fastener Plug Fastener 40 Fastener
i e i
e ‘.’ o . | [ l = R w
— ! -l iy ey
iy
40 Set 40 40 40 S
Central Fasteners
£ _l ] E £ _l. LY | ']
- o T L J - . B5° - ¥ | J
40S 40 S VA 40 SV 40SVON 40SVVA  SVLL90O 40 G 40 NL 40 NQ 40 EL
i 1 N
- -
40 EL VA 40 EQ 40 EQ VA 40 GC 40 GCV 40 SPS 40 SVPS 40 EVLS 40 EVQS
A B o
¥ ¥ e e L <!
et
40 SL 40 SVL 40 90° 40 120° 40 135° 40 G45 SS 40 G30 SS
Heavy Duty Fasteners
.-.:;\_ - =
- ] s i
RS : ———— n“':.| -1; I ‘J h__ i ﬂ_ — ; L :
: . | B {
] i — T—-—.__ *. ., e [?E T 'F X El
s '.I'-:| L_' | i
— L‘
80x200 M27 80x160 M 27 120 x120 M 27 120 x120 M12 80x120 M12 80x80 M12
i
ROLLCO

54



FASTENERS SYSTEM 40 OVERVIEW

Locator Block Doweling T-Nut

Pneumatic Fastener 40

Attachment Plates

40x80 80x80 80x120 80x160
40x120 80x280 30° 80x200 45°
Step Fasteners
= L . E; 3 L2 i '1 = .
300 250
Angles Bolt
= G-type
- L]
L] ol
- :
'--..____J
40 x 60 60 x 70

Special T-Nuts 40

80x160 60°

200

Holder,
adjustable

™

Attachment Screws M6 & M8

Miter Connector 40 90°

Potential Earth
Equalizers Connection
F =l
L] '
w § il
"

ROLLCO

55




T-NUTS 40

T-Nuts, slide-in T-Slot Strength
Information in regards to the maximum allowable t-slot
load capability F. These values already include a safety
factor (S >2) against plastic deformation.

O O
Profile type Max. pull charge F O
T-Nuts, push-in standard 5000 N H /'\ o
double br. 3250N
semi 2500 N ' F
light 2000N
superlight 1750 N
T-Nuts, ball-type, push-in 40
Application: T-nut for swiveling into the t-slot. Fits into the t-slot at any point.

Held in position by a spring-loaded ball. Raised area fits into the t-slot to stop twisting.

12‘

SV2102v
“m
SV2110vV Steel, zinc-plated 129
SVv2112v M4 Steel, zinc-plated Mg
SVv2114v M4 Stainless steel Mg
SV2100V M5 Steel, zinc-plated Mg
SVv2104vV M5 Stainless steel Mg
SV2101vV M6 Steel, zinc-plated 1049
SV2105V M6 Stainless steel 1049
SV2102V M8 Steel, zinc-plated 949
SV2106V M8 Stainless steel 949
SV2860V 1/4” Steel, zinc-plated 1049
SVv2880V 1/4” Stainless steel 109
SVv2850V 5/16” Steel, zinc-plated 949
SVv2870V 5/16” Stainless steel 949
SV2890V #10-32UNC Stainless steel Mg

56 ROLLCO



T-NUTS 40

T-Nuts ball-type, push-in, flat 40
Application: T-nut for swiveling into the t-slot. Fits into the t-slot at any point.

Held in position by a spring-loaded ball.
Material: Steel, zinc-plated

esgnaion | g g

PN1030 M4 Mg

PN1035 M5 g

PN1040 M6 109

PN1045 M8 949
T-Nuts, ball-type, slide-in 40

Application: Slides in the t-slot from the end of the profile and is held in position by a spring-loaded ball.
The wide supporting surface of the t-nut makes it suitable for higher fastening forces.
(SV2003V is machined after threading.)

Material: Steel, zinc-plated

SV2002V SV2003V
Designation Thread Weight
SV2000V M5 17 g
SV2001V M6 17 g
SV2002V M8 159
SV2003V M8 S 14 g
SV2810V 1/4” 179
SV2800V 5/16” 159

ROLLCO 57



T-NUTS 40

T-Nuts, push-in 40
Application: T-nut for swiveling into the t-slot. Fits into the t-slot at any point. Held in position

by a grub screw. Raised area fits into the t-slot to stop twisting.
Material: Steel, zinc-plated

SV2152VV
SV2150V M5 14 g
SV2151vV M6 14 9
SV2152V M8 129
T-Nuts, slide-in 40
Application: Slides in the t-slot from the end of the profile and is locked into position by a grub screw.

The wide supporting surface of the t-nut makes it suitable for higher fastening forces.
Material: Steel, zinc-plated

il <
p- -
P M8

SV2052v
SV2050V M5 269
SV2051V M6 24 g
SV2052V M8 219

58 ROLLCO



T-NUTS 40

T-Nuts steel / plastic

Application: T-nut for swiveling into the t-slot. Fits into the t-slot at any point. Held in position
by a spring-loaded ball. Raised area fits into groove to stop twisting.
Material: Plastic t-nut with steel insert

SV2148S

SV2145S M3 49
SV2146S M4 49
SV2147S M5 49
SV2148S M6 49

Special T-Nut

Application: Provides anti-twist security used for heavy loads.
Material: Steel, zinc-plated

SZ2060V
SV2060V Special T-Nut 21g

Square T-Nuts

Application: T-nut for swiveling into the t-slot. Fits into the t-slot at any point.
Material: GDZn (zinc diecasting)

SV2180N
SV2178N M4
SV2179N M5
SV2180N M6

ROLLCO 59




T-NUTS 40

Double T-Nuts 40/20 40

Application: T-nut for swiveling into the groove. Fits into the t-slot at any point. For fixing of
foot plates and any other accessories that require a fixing pitch of 40 mm x M8
(20 mm x M6 respectively) thread. Raised area fits into t-slot to stop twisting.
SV2202V: bore hole distance: 40 mm, thread: M8
SV2210V: bore hole distance: 20 mm, thread: M6

Material: Steel, zinc-plated

SV2202V Sv2210V
SV2202V 40 M8
SV2210V 20 M6
T-Nut Profile, slide-in 40
Application: For manufacturing t-nuts, maximum tapping size M8.
Material: Steel, blank

N
oS
BN
SV2570V
oesgraton | oeserption —_woome__
SV2570V T-Nut Profile, slide-in 2880 g

60 ROLLCO



T-NUTS 40

T-Nut Profile, push-in

Application: For manufacturing t-nuts, maximum tapping size M8.

SV2560V
SV2560V T-Nut Profile, push-in Steel, zinc-plated 3000 mm 1605 g
SV2575V T-Nut Profile, push-in Stainless steel 3000 mm 1605 g

T-Nut Profile, aluminum, slide-in

Application: For manufacturing t-nuts, maximum tapping size M8.
Material: Aluminium, natural anodized

SV2570N
oesaton ————————— ompton oo
SV2570N T-Nut Profile, slide-in 332 g/m

T-Nut Profile, aluminium, push-in

Application: For manufacturing t-nuts, maximum tapping size M8.
Material: Aluminium, natural anodized

SV2560N
oigrtion |t | vt
SV2560N T-Nut Profile, push-in 185 g/m

ROLLCO 61




FASTENERS 40

Standard Connector 40 40

Application: An inexpensive and simple connection for profiles. The t-slot is not deformed when
the joint is made, giving greater stability to the joint. At the same time, the fastener
guarantees no twisting of the joined profiles.

Material: Steel, zinc-plated

Assembly: Bore hole for Km 8: @ 8.5mm, 20 mm from the profile end, 40 mm deep
Bore for cap screw head: @15mm, 20 mm from the profile end, 12.4 mm deep
Tap center hole of mating profile with an M8 thread

o~ >

SV1900V
Desgnatn | ————_eserpton | __waiame__|
SV1900V Standard Connector 40 14 G
Standard Fastening Set 40
Application: An inexpensive and simple connection for two profiles. Teeth crack the anodized coating
and create a reliable and conductive link. A fixed joint similar to SV1900V this connector
comes instead as a set including screw and anti-rotation element.
Material: Steel, galvanised
Supply: 1x ISO 7380 M8x20 fillister head screw
17.0
Mg
PV1022
S S N7
PV1022 Standard Fastening Set 25 Nm

62 ROLLCO



FASTENERS 40

Dummy Plug 40
Application: Use the dummy plugs to close the drill hole in closed slots.
Material: PVC, black

5,0

9,5

- 64 - |95
i 1,6

PA1110 Cap 8 D7, black

PA1115 Cap 8 D7, grey

Universal Fastener 40
Application: Links two aluminium profiles.

Material: Die-cast zinc, galvanised
Supply: Set of universal fastener with guide lug and 8 mm hole. M8 slot nut and cheese head screw

included.
137 197
- -H-\- e o

Machining:

Drill hole (a) @20 mm
Drill hole (al) @ 7 mm
Distance (b) 20 mm

Depth (c) 16 mm
PV1015 Universal Fastener Set 8 with lug 1750 N 80ONmM

ROLLCO 63




FASTENERS 40

Universal Fastener 40 40
Application: Standard fastener with universal applications. The push-in t-nut can be swiveled into
the profile t-slot at any point and is held in position by a spring-loaded ball.
Material: Steel, zinc-plated
Assembly: Insert t-nut into the t-slot of profile.

Bore hole for the fastener housing: @20 mm, 20 mm from the profile end, 16 mm deep

|'_ g .1'-
g I || {‘.

SVI1800V SV1801V
Desaraton —__Desanon _______weam
SV1800V Universal Fastener 40 21.5¢g
SV1801V Universal Fastener Set 40 4339
Automatic Fastening Set 40 40
Application: The automatic fastening set is quick and easy to use without modifying the profiles.

Universal force-fit link for all profiles and option of moving them afterwards because the
fastening sets are fitted in single profiles only. There is no restriction on installing them in
existing constructions later.

Supply: 1 x socket head screw M6x40, galvanized
1 x slot nut M6 / ball-type push-in, galvanized,
1 hollow screw automatic tensioner, galvanized

Assembly: Insert the cylinder head screw M6x40 head first into the profile groove. Then the self-tapping
hollow screw is screwed into the profile groove on the face side. You should use a lubricant for
this. Then the slot nut M6 / ball-type push-in is plugged into the profile to be connected and
the cylinder screw tightened. We recommend installing them in pairs.

SV1700V Automatic Fastening Set 40

64 ROLLCO



FASTENERS 40

Quick Fastener 40 40

Application: No machining of either profile is required when using this fastener. The RH grub screw is driven
into the profile to retain the t-nut, the LH grub retains and tensions the anchor during the
fastening process. The anchor has an anti-twist feature.

Material: Steel, zinc-plated

Assembly: Insert the t-nut portion of fastener so that the anti-twist feature protrudes 3 mm over the end
of the profile.

Screw in the cone point set screw on the t-nut portion of fastener into the profile.
Insert the anchor into the t-slot of the mating profile and tighten into place by means of the
set screw on the t-nut portion of the fastener.

SVO101V SV0o102V
oesgnaton | osrpton ———_wegne |
SVO101vV Quick Fastener 40 46 g
SVOo102vV Quick Fastener 40 S 47 g
Central Fastener 40 S/SV 40
Application: All-purpose universal fastener. The slide-in anchor is held in position in the profile groove by a

spring-loaded ball in the opposing profile t-slot. The SV fasteners have an anti-twist feature.
The SV ON fastener is to be used with closed profiles.

Assembly: Bore hole for the barrel housing: @12 mm, 15 mm from profile end, 30 mm deep
Bore for center hole on end of profile for anchor: @8.5mm, 25mm deep

SV1001V & SVI21TV SVI1212V

oesgnaton | pescrption _—————__vaers gt |
SV1001vV Central fastener 40 S Steel, zinc-plated 289
SV1353V Central fastener 40 S VA Stainless steel 299
svianv Central fastener 40 SV Steel, zinc-plated 289
SV1212v Central fastener 40 SV ON Steel, zinc-plated 27 9
SV1350V Central fastener 40 SV VA Stainless steel 30g

ROLLCO 65



FASTENERS 40

Central Fastener 40 EL / EQ 40

Application: All-purpose universal fastener. The twist-in anchor, with an anti-twist feature, can be fixed in
the profile groove at any point. The anchor is held in position by a spring-loaded ball
in the opposing profile t-slot.

Assembly: Bore hole for the barrel housing: @12 mm, 15 mm from profile end, 30 mm deep
Bore for center hole on end of profile for anchor: @8.5mm, 25mm deep

SVIONV SV1021V
oesoraton | Dwspton o voom
SVionv Central Fastener 40 EL Steel, zinc-plated 26 g
SV1351vV Central Fastener 40 EL VA Stainless steel 26 g
SV1021vV Central Fastener 40 EQ Steel, zinc-plated 26 g
SV1352V Central Fastener 40 EQ VA Stainless steel 26 g
Central Fastener 40 SVL 40
Application: All-purpose universal fastener. The slide-in anchor is held in position in the profile groove by a
spring-loaded ball in the opposing profile t-slot. The SV fasteners have an anti-twist feature.
Assembly: Bore hole for the barrel housing: @12 mm, 20 mm from profile end, 30 mm deep

Bore for center hole on end of profile for anchor: @8.5mm, 25 mm deep

.
H—
SV1222V
Do et e e
SV1222V Central fastener SVL90 Steel, zinc-plated

66 ROLLCO



FASTENERS 40

Central Fastener 40 SL / SVL 40

Application: Special applications. The slide-in anchor, with an anti-twist feature, can be fixed in the
profile t-slot at any point. The anchor is held in position by a spring-loaded ball in the
opposing profile t-slot. The SVL fastener has an anti-twist feature. Both fasteners can be used
for parallel and transverse connections.

Material: Steel, zinc-plated

Assembly: Bore hole for the barrel housing: @12 mm, 20 mm from profile end, 30 mm deep
Bore for anchor in the profile: @8.5 mm, 20 mm from profile end, 25 mm deep

Lns fm
& Q
¥ "
SVI213V SVI1221v
SV1213V Central Fastener 40 SL
SV1221V Central Fastener 40 SVL
Central Fastener 40 NL / NQ 40
Application: Special applications. The twist-in anchor, with an anti-twist feature, can be fixed in the profile

t-slot at any point. The fastener is used where high bending moments are required.
Material: Steel, zinc-plated
Assembly: Bore hole for the barrel housing: @12 mm, 15 mm from profile end, 30 mm deep
Bore for center hole on end of profile for anchor: @8.5mm, 25mm deep
Hole for locking pin on anchor in opposing profile: @8.5mm, 20 mm from profile end, 3mm deep

SV1031V SV1041V
SV1031vV Central Fastener 40 NL
SV1041vV Central Fastener 40 NQ

ROLLCO 67



FASTENERS 40

Central Fastener 40 G 40
Application: Butt fastener. Used for joining two profiles end to end or for frontal attaching of plates.
The anchor is screwed into the opposing profile or plate.
Material: Steel, zinc-plated
Assembly: Bore hole for the barrel housing: @12 mm, 15 mm from profile end, 30 mm deep

Bore for center hole on end of profile for anchor: @8.5mm, 25mm deep

O g O
Ei N g 1.8
e 1 | {
\_4 IS
33 L e
SVI071V
T ™ S
SV1071vV Central Fastener 40 G 229
Central Fastener G 30 SS / G 45 SS 40
Application: The anchor is screwed into the t-nut at either 30° or 45°. Special angles are available on request.
Material: Steel, zinc-plated
Assembly: Bore hole for the barrel housing: @12 mm, 27 mm (35 mm) from profile end, 30 mm deep

Bore for center hole on end of profile for anchor: @8.5mm, 25mm deep

SVIvV SV1151vV
I
SV1IIvV Central Fastener G30SS 56 9
SV1151V Central Fastener G45SS 579

68 ROLLCO



FASTENERS 40

Central Fastener 40 90° 40
Application: Fastener for 90° mitered joint, cut angle is 45°
Assembly: Bore hole for the barrel housing (2x): @12 mm, 38 mm from profile end, 30 mm deep

Bore for center hole on end of profile for anchor (2x): @8.5mm, 50 mm deep;
@10 mm, 26 mm deep

NN AT
Q

_ (Y-
- ¥
ol TR

SVI650V SV1660V
oesgnaton | Desrpton | ——_wotsl gt |
SV1650V Central Fastener 40 90° Steel, zinc-plated 42 g
SV1660V Plastic Corner 40 90° POM, black 849
Central Fastener 40 120° 40
Application: Fastener for 60° mitered joint, cut angle is 60°
Assembly: Bore hole for the barrel housing (2x): @12 mm, 33 mm from profile end, 30 mm deep

Bore for center hole on end of profile for anchor (2x): @8.5mm, 50 mm deep;
@10 mm, 26 mm deep

SV1640V SV1670V
oesgnaton | Desrpton | wotosl gt |
SV1640V Central Fastener 40 120° Steel, zinc-plated 409
SV1670V Plastic Corner 40 120° POM, black 69

ROLLCO 69



FASTENERS 40

Central Fastener 40 135° 40
Application: Fastener for 45° mitered joint, cut angle is 67,5°.
Assembly: Bore hole for the barrel housing (2x): @12 mm, 27 mm from profile end, 30 mm deep

Bore for center hole on end of profile for anchor (2x): @8.5mm, 40 mm deep;
@10 mm, 26 mm deep

I LY « ] g118 g
X | ;I\ Ll .
X 19 ¥ .h

278

SV1645V SV1665V

oesgraton | sscrpion _————_——_watoral______woiomt__
SV1645V Central Fastener 40 135° Steel, zinc-plated 42 g
SV1665V Plastic Corner 40 135° POM, black 69
Profile Cap for SV drillings 40

Application: For covering profile drillings that occur by assembling SV fasteners.

fe}
s
N i 29
o1
215
SZ0099S
SZ0099S Profile Cap for SV drillings

70 ROLLCO



FASTENERS 40

Central Fastener 40 GC / GCV 40

Application: All-purpose universal fastener. Uses a slide-in t-nut with locking grub screw. The anchor
with M8 thread is screwed into the opposing profile. The Central Fastener 40 GCV includes
an anti-twist feature

Material: Steel, zinc-plated

Assembly: Slide t-nut portion into the t-slot from the end of the profile.

Tap center hole of mating profile with an M 8 thread and screw in threaded anchor.
Twist to orient »diveted« portion of fastener so that it is facing the same direction as the
barrel housing.

]

fe—— >

ﬁi’* 5

S

L

SV1301V SVIZNV
Desanatin | Desaroton ______________Woiane__
SV1301vV Central Fastener 40 GC 30.7 9
SV1311V Central Fastener 40 GCV 40.8 9
Central Fastener 40 SPS / SVPS 40
Application: All purpose universal fastener. The anchor must be positioned in the profile t-slot from the end

of the profile and is held in position by a spring-loaded ball. The Central Fastener 40 SVPS has
an anti-twist feature. No drilling required.
Material: Steel, zinc-plated
Assembly: Slide anchor into the t-slot profile which is to be connected.
Slide t-nut portion of into the t-slot from the end of the profile.
Lock in anchor with set screw located in t-nut portion of fastener.

10

.
o | 5278
t 29
SV1231V SV1241V
oesnation ————————owpton oo
SV1231vV Central Fastener 40 SPS 359
SV1241V Central Fastener 40 SVPS 359

ROLLCO 71



FASTENERS 40

Central Fastener 40 EVLS / EVQS 40

Application: Suitable for 90° and parallel profile connections. The anchor can be twisted into the profile
t-slot at any point. No drilling required.

Material: Steel, zinc-plated

Assembly: Slide or twist in anchor into the t-slot profile which is to be connected.

Slide or twist in t-nut portion into the t-slot from the end of the profile.
Lock in anchor with set screw located in t-nut portion of fastener.

- h 378
J'
SV1251V
Designatin | —___pmarpton | Woian__
SV1251vV Central Fastener 40 EVLS 329
SV1261vV Central Fastener 40 EVQS 329

72 ROLLCO



SPECIAL T-NUTS 40

Locator Block 40

Application: Installation accessory and anti-twist feature device for simple screw and central fastener
connections in the 40 profile range.

Material: PA, black

T e .
S73000S
oesanatin | Desaroton _______________Woiane__
SZ3000S Locator Block 39
Doweling T-Nut 40
Application: Prevents movement caused by heavy loads. Can also be used to stop aligned profiles from
moving. Resilience against movement per element - up to 3kN.
Material: Steel, zinc-plated

SZ2070V
oesntion ———————— ompton oo
SV2070V Doweling T-Nut 359

ROLLCO 73



SPECIAL FASTENERS 40

Pneumatic Fastener 40

Application: For extending profile runs used as compressed air lines. Can also be used to extend standard
profile runs.
Material: Steel, zinc-plated
Supply: 1 x t-nut M8, slide-in, L =120 mm
2 x tensioning bush
2 X grub screw M8 x 12, zinc-plated
N
e
SV3500V
st omerpton |
SV3500V Pneumatic Fastener 40 M4 g

Miter Connector 40 90°

Application: For right angled joining of table profiles (SP2500N).
Material: Steel, zinc-plated

ol
SV1901V
S
SV1901V Miter Connector 40 90° 49 g

74 ROLLCO



SPECIAL FASTENERS 40

Attachment Screws 40

Application: Attaching accessories and sheet material to profiles. The twist-in attachment screw, with an
anti-twist feature, can be fixed in the profile groove at any point and is held in position by a
spring-loaded ball.

Material: Steel, zinc-plated

Supply: 1 X hexagon nut M6 (M8), DIN 934, Zn
1 x washer M6 (M8), DIN 125
1 x attachment screw M6 (M8) x L

M6 »
4 e LS e
s f
254 2 os | es |
aa e al =
$S2225V $52230V $52240V S$S2330V $52332V $52340V

SS2225V Attachment Screw M6 / L 25 129
SS2230V Attachment Screw M6 / L 30 129
552240V Attachment Screw M6 / L 40 159
SS2330V Attachment Screw M8 / L 30 209
SS2332V Attachment Screw M8 / L 32 20 g
SS2340V Attachment Screw M8 / L 40 229

ROLLCO 75



HEAVY DUTY FASTENERS 40

Heavy Duty Fasteners 40

Application: For a stable and positive attachment of large profiles under heavy loads. Due to the large
support area, high pressure forces can be achieved.

Material: Steel, zinc-plated

Supply: 1x/2x/ 4 x hexagon screw with washers

1x / 2 x fastening bolt
1 x traction plate

SV6000V SVe002v SV6005V

SV6008V SV6010V SVeOonv
SV6000V Heavy Duty Fastener 80 x 80 200 M27 1.53 kg
SV6002V Heavy Duty Fastener 80 x 80 160 M27 118 kg
SV6005V Heavy Duty Fastener 80 x 80 M12 0.80 kg
SV6008V Heavy Duty Fastener 80 x 120 M12 1.57 g
SV6010V Heavy Duty Fastener 120 x 120 M12 3.94 kg
SVeOonv Heavy Duty Fastener 120 x 120 M27 4.30 kg

76 ROLLCO



ATTACHMENT PLATES 40

Attachment Plates 40

Application: To attach profiles onto assemblies, work benches, etc. Can also be used to connect profiles
one to another.

Material: Aluminium, natural anodized

Supply: 1 x attachment plate

4

o

= g

e

SV5001N SV5002N SV5003N
180
f}l 140 120
w40 — 80 100
e
Ry L \l l l |
e e - ] P s =k
| =~ JM = 7
160 & 200 ‘ 120 40
SV5004N SV5005N SV5006N
SV5001N Attachment Plate 80 x 40 130 g
SV5002N Attachment Plate 80 x 80 260 g
SV5003N Attachment Plate 80 x 120 3909
SV5004N Attachment Plate 80 x 160 520 g
SV5005N Attachment Plate 80 x 200 650 g
SV5006N Attachment Plate 40 x 120 190 g

ROLLCO 77



ATTACHMENT PLATES 40

Attachment Plates, angled 40
Application: For bracing two profiles by either attaching two 45° plates or one 30° plate and one 60° plate
to the 80 x 80 profiles.
Material: Aluminium, natural anodized
Supply: 1 x attachment plate
x40
2 x o0 170
e [—& 2g - 59
300"\\..:“ L5\5> - e w
: s > r AN
e () ) (=)
o N o= \NI
L\; 200 y\

SV5013N SV5014N

SV5016N
SV5013N Attachment Plate 30°, 80 x 280 N30 g
SV5014N Attachment Plate 45°, 80 x 200 800 g
SV5016N Attachment Plate 60°, 80 x 160 6359

78 ROLLCO



STEP FASTENERS 40

Step Fasteners 40

Application: One or two step fasteners are attached to the end of a length of tread profile (SPOG610N or
SP0O620N) to make one complete step. The complete step is attached to the profile that
makes the staircase. The pitch of the steps can be quickly varied by sliding the step up or
down the staircase profile groove.

Material: Aluminium, natural anodized

SV3200N SV3202N

SV3205N
Desinatin | oeserpton _____________|__weign:_|
SV3200N Step Fastener 200 450 g
SV3202N Step Fastener 250 489 g
SV3205N Step Fastener 300 530 ¢

ROLLCO 79



PROTECTION WALL FASTENING ELEMENTS 40

Angle 40 x 60

Application: For attaching and adjusting protection panels. Gap adjustment: 16 - 24 mm
Material: Aluminium, natural anodized
Supply: 1 x attachment screw M8 / L24
1 x screw M8 x 20, DIN 7380, washer
SZ800ON
ossnation oo |
SZ80OOON Angle 40 x 60 31549
Angle 60 x 70 40
Application: Panel support angle with bolt for angular adjustment of panels.
Material: Aluminium, natural anodized
Supply: 1x SS2330V attachment screw M8 / L30

1x SZ80OO05N bolt type G

60

—',@
R
SZ8001IN
oesgnaton | oesrpton e |
SZ8001IN Angle 60 x 70 Nn3.59

@2 S5
Bolt G-type p
Application: For the centering of protection panels. The bolt G-type gears with the angle 60 x 70.
Material: Steel, zinc-plated
SZ8005N
oesoraton ——______Desanon _______________weam
SZ8005N Bolt G-type 66.19

80 ROLLCO



PROTECTION WALL FASTENING ELEMENTS 40

Holder, adjustable

s o)

Application: Compensating mounting for protection panels. Gap adjustment: 11 - 25 mm
Material: Steel, zinc-plated

“‘2

% o
| |

11-25

SZ8OION
ossonaton oo |
SZ8010V Holder, adjustable 66.19

ROLLCO 81



MISCELLANEOUS FASTENERS 40

Potential Equalizers

Application: For the bonding of machine frames. Establishes an electrical conductivity connection between
two profiles. The potential equalizer must not be used to carry current or become description
of a protective circuit.

Material: Steel, zinc-plated
S
N
3
A =
1] o8 f - .
wol ol
10 E
2 M\
SZ7000N
oesgraton | oeserption —_woome__
SZ7000N Potential Equalizer 40 47 9

i @@ S
Earth Connection 40
85 29
Application: Terminals for earthing machine frames etc.
Supply: 1x SZ2148S t-nut steel / plastic M6
1 x grub screw M6 x 25, DIN 916
1 x hexagon nut M6, DIN 934
1 x brass screw 6.4 (M6), DIN 9021
1 x brass lock washer A 6.4, DIN 6798
3221433
SZ6800N
ossnation ——————omcrpton |
SZ6800N Earth Connection 40 4,7 9

82 ROLLCO



FASTENERS SYSTEM 6 & 5 OVERVIEW

Slot Nuts
< @5’:,; <, ?g‘
Pivoting Slot Nut Pivoting Slot Nut Pivoting Slot Nut Pivoting Slot Nut Pivoting Double Slot Nut
10.5 x 6.9 mm 10.5 x 6.3 mm 8.0 x 4.2 mm 7.7 x 4.0 mm 10.5 mm
Connectors
Standard Fastener Universal Connectors Universal Butt Connector
Automatic Connectors Automatic Combination Connector  Automatic Butt Connector Cube Connector 20

ROLLCO 83



SLOT NUTS 6 &5

Load capacity of profile slot

Tensile stress
Static stress limit of slot (when deformation sets in)

if connectors with largest thread are used: — ﬂ«
5 152020 1,000 N
6 16 3030 3,500 N
6 16 3030 Light 1,000 N

Note: The above stress limits have been determined on samples subjected to pull-out tests.
Safety factors have not been taken into account.
Separately consider statutory regulations and the relevant codes of practice.

Pivoting Slot Nut, 10.5 x 6.9 mm 6

Slot 6, with ball spring and guide step.

=R
é SS.LE .

PN2012 Pivoting slot nut with ball spring and guide step Galvanised steel
PN3055 Pivoting slot nut with ball spring and guide step Galvanised steel 6 M4 1750
PN3060 Pivoting slot nut with ball spring and guide step Galvanised steel 6 M5 1750
PN3065 Pivoting slot nut with ball spring and guide step Galvanised steel 6 M6 1750
Pivoting Slot Nut, 10.5 x 6.3 mm 6
Slot 6, with ball spring.
17
PR LM
hn.
- ﬁ =
|
Cm—— p—
PN3914 Pivoting slot nut, ball spring Galvanised steel 6
PN3010 Pivoting slot nut, ball spring Galvanised steel 6 M4 1750
PN3015 Pivoting slot nut, ball spring Galvanised steel 6 M5 1750
PN3020 Pivoting slot nut, ball spring Galvanised steel 6 M6 1750
PN3030 Pivoting slot nut, ball spring Stainless steel 6 M5 1400
PN3025 Pivoting slot nut, ball spring Stainless steel 6 M6 1400

84 ROLLCO



SLOT NUTS 6 &5

Pivoting Slot Nut, 8.0 x 4.2 mm 5

Slot 5, with ball spring.

I

& + {':"} = L3 1 i
i1
é ol

PN4025 Pivoting slot nut, ball spring Galvanised steel 5
PN4030 Pivoting slot nut, ball spring Galvanised steel 5 M4 500
PN4035 Pivoting slot nut, ball spring Galvanised steel 5 M5 500
PN2003 Pivoting slot nut, ball spring Stainless steel 5 M4 400
PN2004 Pivoting slot nut, ball spring Stainless steel 5 M5 400
PN4110 Pivoting slot nut profile, 8 x 4.2 mm, I=1500 mm Uncoated steel 5

Pivoting Slot Nut, 7.7 x 4.0 mm 5

Slot 5, with guide step and ball spring.

) La

= ] =

Designation Description “ Fmax (N)

]

7

PN4010 Pivoting slot nut, ball spring, step 5
PN4015 Pivoting slot nut, ball spring, step 5 M4 500
PN4020 Pivoting slot nut, ball spring, step 5 M5 500
PN2005 Pivoting slot nut profile, step L = 1500 mm 5

ROLLCO 85



SLOT NUTS 6 &5

Pivoting Double Slot Nut, 10.5 mm

Slot 6

Fmax
Designation Description Thread

10.5

.07

10.5

6.5 ©

Y 7y °
£ S0 A < R
v

PN2006 Pivoting double slot nut Galvanised steel 2 x M5 1750

PN3115 Pivoting double slot nut Galvanised steel 6 28 19 2 x M6 1750 No
PN3125 Pivoting double slot nut Galvanised steel 6 58 47 2 x M6 1750 No
PN2007 Pivoting double slot nut Galvanised steel 6 28 19 2 x M5 1750 Yes
PN2008 Pivoting double slot nut Galvanised steel 6 58 49 2 x M5 1750 Yes
PN2009 Pivoting double slot nut Galvanised steel 6 28 19 2 x M6 1750 Yes
PN2010 Pivoting double slot nut Galvanised steel 6 58 49 2 x M6 1750 Yes
PN2011 Pivoting double slot nut Galvanised steel 6 1500 No Yes

86 ROLLCO



CONNECTORS 6 & 5

Standard Fastener 6 5

Connect two aluminium profiles. Teeth crack the anodised coating and create a reliable and conductive link.
Material Connector: Galvanised or stainless steel
Material Dummy plug: PVC, black

Note: Use the dummy plugs to close the drill hole in closed slots

2 =

¢4

Designation Description mm A x B (mm) “ F (N) M (Nm)

PV4010 Galvanised screw connector @ 5 19 x 10 7.3 450
Galvanised screw connector

PRy including ISO 7380 M5 x 12 screw @ g R e wED g
Galvanised screw connector

PV3025 including ISO 7380 M6 x 14 screw @ 6 27513 73 600 30

PV3020 Galvanised screw connector @ 6 275 %13 7.3 600 30

PA3050 Dummy plug for D5.5 Black

PA3055 Dummy plug for D5.5 Grey

PA4065 Dummy plug for D4.3, Grey

PA4066 Dummy plug for D4.3, Black

5 6

Machining Profile 20x20 Profile 30x30

Drill hole (a) @ 4.3 mm 2 5.5 mm =
Distance (b) 10 mm 15 mm ;J

Distance (b) -.[ x| '

(to make a flush mount of a 7.5 mm 12 mm

profile with cover cap)

Thread (M) M5 M6
Depth of thread (T) 12 mm 15 mm

ROLLCO 87



CONNECTORS 6 & 5

Universal Connectors 6 5

Links two aluminium profiles. Supplied with slot nut and screw.
Material: Galvanised die-cast zinc
Dummy plug material: PVC, black

Designation Description A D H Fmax | Mmax
(mm) | (mm) | (mm) (N) (Nm)

Set of universal connectors with guide lug and
PV4020 4 mm hole; 5 54 11,8 8,5 400 12
M4 slot nut and cheese head screw included

Set of universal connectors with guide lug and
PV3015 6 mm hole; 6 9,3 15,7 12,5 1250 35
M6 slot nut and cheese head screw included

5 6

Machining Profile 20x20 Profile 30x30

Drill hole (a) @12 @16 =
Drill hole (al) 24,3 25,5

Distance (b) 10 15

Depth (c) 8,5 12,7 -

88 ROLLCO



CONNECTORS 6 & 5

Universal Butt Connector

Links the face ends of two aluminium profile from the same series. Supplied with mounting kit.
Material Connector: Galvanised die-cast zinc

Designation Description A H M max1 M max2
2 . (mm) (mm) | (Nm) (Nm)

Universal connector set

PV4030 (2 universal connectors, 1 M4 x 20 screw 5 32 n,8 8,5 20 20

(DIN912), 1 M4 nut (DIN934))
Universal connector set

PV3016 (2 universal connectors, 1 M6 x 35 screw 6 46 15,7 12,5 50 50
(ISO7380), 1 M6 nut (DIN934))

Machining Profile 20x20 Profile 30x30

Drill hole (a) @12 @16 0

Drill hole (al) 34,3 @ 5,5

Distance (b) 10 15

Depth (c) 8,5 12,7

ROLLCO 89



CONNECTORS 6 & 5

Automatic Connectors 6 5

The set of automatic connectors mount quickly and easily because there is no need for modifying the
profiles. Universal force-fit link for all profiles from the same series plus the option of moving them afterwards
because the connectors are fitted in a single profile only. There is no restriction on installing them in existing
constructions later.

Note: We recommend that you install them in pairs - this is also what the stress data refers to.

P

|

Automatic connector

PV4035 including slot nut with guide step Galvanised steel 25

PV1203 _ SUEOmELE Gonmeeton 5 Stainless steel 250 20
including slot nut with guide step

PV3045 Automatic connector 6 Galvanised steel 600 40

including slot nut with guide step

PZ3905 o el ey g Stainless steel 400 30
including slot nut with guide step

90 ROLLCO



CONNECTORS 6 & 5

Automatic Combination Connector 6 5

Quickly and reliably links two aluminium profiles without having to modify them.
Material: Galvanised steel

Designation Description m“ M (Nm)

PV1204 Automatic combination connector 20 including slot nut
with guide step

PV1205 Automatic comblnatpn con_nector 30 including slot nut 6 600 25
with guide step

ROLLCO 91



CONNECTORS 6 & 5

Automatic Butt Connector 6 5

Use the automatic butt connector to quickly and easily link the face ends of two profiles from the same series
without having to machine the profiles beforehand. Best practice is to use the automatic butt connectors in
pairs. You may need several pairs, depending on the size and load on the profiles. Package includes the screw
and cutting bush.

Note: The load values refer to connectors installed in pairs

Material: Galvanised / stainless steel

PV4040 Set of automatic butt connectors 5 Galvanised steel 1500

PV1209 Set of automatic butt connectors 5 Stainless steel 1500 22
PV3050 Set of automatic butt connectors 6 Galvanised steel 1800 45
PV1210 Set of automatic butt connectors 6 Stainless steel 1800 45

92 ROLLCO



CONNECTORS 6 & 5

Cube Connector
Links up to three aluminium profiles at a right angle, use the caps to cover the holes.

Cube connector material: Die-cast aluminium

Cap material: Plastic (PE)

Mounting material WV20: M5 x 14 pan head screw (ISO7380)
Mounting material WV40: M8 x 25 countersunk screw (DIN7991)

Note: The caps in the sets are not ESD-readly.

Cube connector 20 loads

Mampx! ]

Type Mmax (Nm) Mmax/2 (Nm)
Cube connector 20/2 15
Cube connector 20/3 18
Cube Connector 20 5
-

&
-

=

‘@ Db c prnecion JOUT

Cube connector 20/2, uncoated aluminium, 2 black PE caps and

PVi224 mounting kit included > Yes
Cube connector 20/2, silver coated aluminium, 2 silver PE caps and
PV1225 ) o 5 -
mounting kit included
PV1226 Cube connector 20/3, uncoa_zted z_aIL_Jmlnlum, 3 black PE caps and 5 Yes
mounting kit included
Cube connector 20/3, silver coated aluminium, 3 silver PE caps and
PV1227 : o 5 -
mounting kit included
PA121 Black cap for cube connector 20 -
PA1212 Silver cap for cube connector 20 -

ROLLCO 93




94

ROLLCO



ACCESSORIES

Index
ACCESSORIES 40 OVERVIEW ..ttt ssse s mn s sns s s s sns s s e s sne s sne e s sn e s ne e s an e s nnnnnn 99
PROFILE CAPS 4O ..oooiiicieictercseeesetessseessstessssesssssessssessssssssassssssssassssssssessssessssssssnsesassssssnsessnsesssnnes 107
PrOfIle CapS 4O ettt 107
WIFING DUCE CAPDS oottt ettt ettt 108
Corner Bracket Caps e, 108
Protection Wall Support Leg Cap 108
Fixing Angle Caps e, 109
Profile Cap fOr SV drilliNGS et 109
ADJUSTABLE FEET 4O ...eeiiiciiccirriterecetesctsssssessnsessssesssnsessssesssseessnsssssnesssnsssssnesssnssssnnessnnesssnsesen 110
AdJUSTADIE FEEE T 39 et 10O
AJUSTADIE FEEE I 79 ettt 110
Adjustable Feet @79 With fiXiNg NOIES ... m
Adjustable Feet @79 with anti-vibration pad ... 12
Adjustable Feet @79 with anti-vibration pad and fixing holes ... n3
RUDBDEI BOOT @79 et 14
Adjustable Foot @9 With fiXing NOIES ..o 14
Adjustable Foot @136 with fiXing Noles .., 115
Adjustable Foot @136 with anti-vibration pad and fixing holes ............. 15
Adjustable Foot @136 Steel with anti-vibration pad and fixing holes .. 116
MEEAI F OO ettt ettt 116
ClamIPING FEBE oottt n7
MOUNTING FOOE ettt en et n7
(0083 1[0 1 =S o L S S SR 118
LIfEING CaAStOr UNIES oottt 18
HINGE CaSTOl ottt 18
CaASTOrS, FUDIDEI ettt 19
Double Castors @75, rubber 19
Steering Castors, rubber ..., 120
Swivel Castors, Bolt Hole ..., 121
Swivel Castor, Plate Fitting 122
Swivel Castors, BOIL HOIE e 123
FOOT PLATES 40 ..o ccceicceerrstsiseessssssssssessssessssssssssesssnsssssssssssssssssssssnessssesssssesessesesnsssensessnnsnnsnnes 124
FOOL Plates 4O X 8O oottt 124
FOOL Plates 4O X120 oottt 124
FOOL Plates 4O XTOO oottt 124
FOOL Plates 4O X200 ettt 125
FOOL Plates SO X 8O oottt 125
Foot Plates 80X 80 EAGE 7N ettt 125
Foot Plates R40x80 90° 126
Foot Plates 80 X120 ..o 126
Foot Plates 80 X160  .....cccccovveeevieeeeen 126
Foot Plates 80 X200 ... 127
Foot Plates 120 X120 .. 127
FOOL Plates 120 X T8O oottt 127
FOOL Plates T8O XTOO ..ottt 128
BEARING PLATES & ADJUSTING ELEMENTS 40 ...iiiirrcccererereee e see s sne e s ee s sness e snnes 129
SYSTEM PlAtES ettt 129
BaAING Plales oottt 129
AJUSTING EIEMENTS et 130

ROLLCO 95



ACCESSORIES

FLOOR FIXING ELEMENTS 40 ..ot s s sse e s ssee s see s s sse s s e e s sne e s se e s sne s s sae s s snn s snssnsnnsssnnen 131
FlOOFr FIXING Plate ettt 131
FLOOE PIAtES oottt 131
FOOt BIOCK, JACKING SCIEWS oottt 132
FLOOE PlALE oottt 132

PORTAL PLATES 40 oot rcee st s st s s e e s s se s s sse e s e s s s s e s sne e s ae s ne e e e e s mn e s e ne e e mnennnnn s 133
Portal Plates 133

HANDLES 40 134
HANAIES oo 134
MACHhINE HANAIE bbb 134
Protection Wall HANAIE e 135
Handle Strip Profile 3O X 4O ettt 136

FIXING ANGLES 4O ..ciiiireeerctsrcee s st e st e e s s s s ssneessse s s s n e e s sse e s e e e s sae e s sn e e sne e s nnesnsneessnsessnnesssnnen 137
FiXiNng ANGIES 4O X 20 ettt 137
FiXiNG ANGIES 4O X AO oottt 137
FIXING ANGIES ettt ettt 138
ANGIE PIAte, SEEEI oot 138
THE PlAte, STEEI ettt 138
FiXiNG ANGIES 7O X 7O oottt 139
Corner BraCKets ZN 4O oot 139
(o g aTSTal =T =Y AT =Y OO 140
ANGIES T20 X120 ettt 140
ROUNG COMNEIS oottt ettt 141
ClaMID ANGIES ettt 141
GUSSEEL Plates Al et ettt 142

SR R =3 T 51 = = S ¥ 143
SYSEEMN GlIORE e e ettt 143
SHAR RAII ettt ettt ettt 143
SYSEEM GHARE 4O oo ettt 144
BIN LOCAEION ottt 144
(@1 at=Te =TI F=Ta oY@ TP 145
GlAEY / SOFNG HOOK oottt ettt 145

ROLLERS 40 147
Rollers, POM 147
Load Bearing Rollers ... 147
Roller Housings 148
Stabilizing Roller, vertical profile 148
Stabilizing Roller, horizontal Profile e 149

L L T = ¥ S 150
HINGES 4O ettt ettt 150
HINGE 40, STEEI oottt 150
HINGES 4O ettt 151
HINGES Al e ettt ettt ettt 151
Hinge 40 Al 152
Hinges PA ... 152
Hinges 48 PA 153
Inside Hinge Element 153
Anti-Twist Set Screw 154

HEAVY DUTY JOINTS 40 155
Heavy Duty Joints 40 155

HANGERS 40 ... 156
Hangers 40 V and 40 U 156
Hangers 40 e 156
HANGEIS 4O SV P S ettt 157

96

ROLLCO



ACCESSORIES

SEALING RUBBERS, EDGING AND COVER STRIPS 40 .....rrccrrccerrrcerrceesssseesseesssneenas 159
SRAIING RUDID IS e e ettt 159
WEAGE SCAIING 4 ettt 159
EAQiNg and COVEINNG SEEDS oottt 160

COVER PROFILES AND RUBBERS, DOOR SEALING 40 161
Slot Profiles 40 161
Cover Profile 161

MAGNETIC CATCH PLATES, DOOR STOPS 40  ...ciiicirrcerrceerssesssseesssesssn e sssnessssesssssssnsnes 162
MagnetiC CatCh Plates ettt 162
Door Stop, tOp rOUNd (EXCENLIIC) ettt 162
D OO SO oottt 163
DOOK SEOPS, DOTEOM ettt 163

PROTECTION WALL LOCKS AND LOCKING MECHANISMS 40  ....rrccrrccrrreeerceeeeeen 164
ProteCtion Wall LOCK ettt 164
Protection Wall LOCKING MECNANISMS oot 164
DIOOF LOCKS ettt sttt 165

DOOR LATCHES AND INTERLOCKS 40 ...iicirrccircetr s sen s er s sseesssee s sne s s e e s snssssne s sssnssnsnn s 166
DOOF LAECNES oottt 166
Protection Wall LAtCNEs et 167
SPINNG DOOF CAlCN ettt 168
SATELY INEEITOCKS e ettt 168

FIXING BLOGCKS 4O  .cciircersrcisrcee s st s s s e s s sne s s sns e s s n s s sme s s s e s m s ne e s e e s me e s e e s nne s e neensnneensnnen 169
FIXING BIOCK oottt ettt 169

ACCESSORIES 6 & 5 OVERVIEW ...ttt ssr s s e s sne s sss s s e s sne s e e s snessssn e sssnesnnnenen 171

PROFILE CAPS B & 5 .oooiiccerccetrrcirrsseesssstessssesssssessssesssssessssssssssssssssssssesassessssssssssesssssessnsesssssessanes 174
Aluminium Profile Caps 174

ADJUSTABLE FEET 6 & 5 175
Threaded Rods for Hinged Knuckle Foot, Ball 15 e 175
Ball Head 15 with Female TRread .. 176
Base for Hinged Knuckle Feet, Ball 15 .ot 177
Trapezoid Base for Hinged Knuckle Feet, Ball 15 e 178
Square Base for Hinged Knuckle Feet, Ball 15 ..t 178
Base 40 WIth Arm, Ball 15 et 179
Threaded Rod for Steady Knuckle Feet for Levelling 179
Base for Steady Knuckle Feet ..o 180
Trapezoid Base for Steady Knuckle Feet 180
Floor Mount for Trapezoid Base ... 181
Absorber Plate for Hinged Knuckle Feet 181
Adustable Levelling FOOT ettt 182
Height-Adjustable FIOOr ANGIE et 182
FIOOr BraCket T8XTAQ ettt 183
BaSE Plale ettt 183

CASTORS 6 & 5 .ottt r s sse s s se e s s e sn e s e s ae e e ae e e e e e ne e e nn e e e aneesneesenneeenenssnnenasnn 184
SEEBIING CaASTON ettt 184
HEAVY-DULY CaStOr ettt 186
Castor with Fitted Flange 187
Plastic Double Castor ..., 188
IS 1T T T O= TS o Y OO 188

HANDLES B & 5 oo cciicccrictrssseesssss s ssssesssss s ssss e ss s sssss e s ssn s sssme s s sse e s snessssnesssnessnsnessssesennesasnsensnnensnns 189
BOW HANAIE bbb 189
HANAIE bbb 190
HANAIE AL e 191
LIGNT-DULY HANAIE AL oottt 191

ROLLCO 97



ACCESSORIES

ANGLES AND BRACKETS 6 & 5 .oicciimimiimnnisn s s s sss s s sssssssssssssssssnsnnns

Bracket 20 X 20 ettt
Bracket 4O X 4O oottt
Bracket 30 X B0 oot
Bracket 30 X B0 oottt
Bracket B8O X B8O et
COrNEr ANGIE 20 e ettt
COrNEr ANGIE B0 e ettt
Articulated Brackets
Clamping Bracket ...,

ANGle JOINT e

Angle Element ..,

Angle Plate, Steel ..,

MOUNTING ANGIE e ettt
THE Plat@S oottt

SLIDING TOOL HANGERS AND RUNNERS 6 & 5 ...

Snap Hook & SHAING TOOI HABNGEI ot
RUNINEE ettt b st 4t h bbbttt

HINGES 6 & 5 oottt a e a e e e a e e e ne e

MiINT PIASTIC HINGE 20 ettt
Plastic Combination Hinge, NO UNNINGING oot
Plastic Hinge With Clamping LEVEL .ot
Plastic DOUBIE HINGE oottt
Combination Hinge of Die-Cast AIUMINIUM e
Hinge System with Positioning CatCh ..
Hinge System with Adjustable FriCtion ...
Combination Hinge of STaiNless SEEEI ...
INSIAE HINGE EIEMENT ettt
Light-Duty Metal Hinge = NO UNNINGING oot
Die-Cast Zinc Hinge with Oblong Holes, No Unhinging

B0 IS

JOINE 20 e ettt
JOINE B ettt

SEALINGS AND COVER PROFILES 6 & 5 ....cccciiininnnnnnssssnnssssssnsnnssassns

COVEE PrOfIIES oottt
Cover and LiNING Profil@S oottt
COVEYE PrOfIlE T8 oottt
NBR Cover Profiles
Sealing Strip e

FASTENING ELEMENTS 6 & 5 .

UNIDIOCK ettt
UNIBIOCK SPECEE ettt
MoUNEING Pad / MUILT BIOCK oot
ClamPING PAO ottt
PANEl BraCKEE oo
EArtNING STIAI0 oottt

DOOR LOCKS AND CATCHES 6 & 5 ... sassss s s ssssas s

Compact Door LOCK e,
Compact Double Door Lock
DOOF LOCK PROE oottt sttt
Emergency DOor LOCK ORENEI ..ottt
Bl ettt
Ball CatCN e ettt
Ball Catch MouNting BraCKet ...
MAGNETIC CALCN et
Lo Yo Yl = e o TSR

98

ROLLCO



ACCESSORIES 40 OVERVIEW

Profile Caps 40

— T— gy, Ty, Ay Ty, T, T,

16x40 16x80 28x120 28x160 40x80 40x120 40x160 40x200

-~ a a > o .Y =

40x40 40x4045° 40x40R90 R40/8030° R40/8045° R40/8060° R40/8090° Handrail Profile Cap

S B, Oy, Ay, W, an, T

80x80 80x80 45° 80x120 80x160 80x200 80x80 7N 45° 120 x120
1
aQ
o
o
Wiring Duct Caps Corner Bracket Caps o
=
(7]
~ o o Ay Ay
16x40 40x40 40x80 80x80 80x120 .\‘ ‘ ‘
20x20 30x 30 40x40 40x80

Protection Wall Support Leg Cap

@
M o e F‘%\h

T

60x80

SV Drilling Cap

]
Fixing Angle Caps 40x40
40x40 45° 40x40 rund 40x40 Edge
Adjustable Feet @ 39 Adjustable Feet @79

o & & @ & e &

M8/L 41 M8/L65 M10/L 65 M12/L70 M12/L150 M16/L70 M16/L160 M16/L160

ROLLCO 99



ACCESSORIES 40 OVERVIEW

2
[2]
[0}
3
0
o
=
[
[

Adjustable Feet @ 79, with fixing holes

L. b LS 2

M8/L70 M8/L70 M10/L70 M10/L70 M12/L70 M12/L150 M12/L70 M12/L150

S &S &S &3 i

M12/L70 M12/L150 M16/L70 M16/L160 M16/L70 M16/L160 Fixing Set

Adjustable Feet @ 79, with anti-vibration pad Adjustable Foot @119,
with fixing holes

Rubber Boot

@ o o o —

M8/L71 M10/L71 M12/L71 M16/L161 M16/L 151

Adjustable Feet @ 79, with fixing holes, anti-vibration pad

o - o - e

M8/L71 M8/L71 M10/L71 M10/L71 M12/L151 M12/L151

M12/L151 M16/L 71 M16 /L 161 M16/L71 M16/L161 Fixing Set

100 ROLLCO



ACCESSORIES 40 OVERVIEW

Adjustable Feet @136, with fixing holes Angle Feet 60x120

Ll d

M16/L 94 M16/L165 Angle Feet Angle Feet, adjustable

Adjustable Feet @136, with fixing holes, anti-vibration pad

>
a
a
[0}
(7]
173
o
=
[0}
0

M16/L95 M20/L95 M16/L166 M20/L166

Adjustable Feet @136 steel, with fixing holes, anti-vibration pad

M16/L95 M20/L95 M16/L166 M20/L166

Metal Foot Clamping Feet 40x40, 60x80, 80x80

Mounting Feet

Mounting Foot 80 x 80 Mounting Foot 60 x 80

ROLLCO 101



ACCESSORIES 40 OVERVIEW

S9110SS9IDY

Lifting Castor Units

# /’

w3 3

Steering roller Tresle roller

Hinge Castor

- =F —_p - a
With bolt hole With plate fitting With directional With total lock, With wheel brake With total lock  With total lock,

Castors, rubber

ki
Castor @75 Castor @125
& i".

Steering Castor
a75 @75, fixable

Swivel Castors

Steering Castor

A

Double Castors @75

LT~

Steering Castor Steering Castor
3125 @125, fixable

lock, plate fitting plate fitting kick pedal
Foot Plates, zinc-plated
= o # o
40x80 40x120 40x160 40x200 R40x80 90°
80x80 80x80 Edge 7N 80x120 80x160 80x200
v 7 /
120 x120 120 x160 160 x160
System Plates, zinc-plated Bearing Plates, zinc-plated
i : a rr N /
120x160 @9 160x240 D9 40x80 80x80
102 ROLLCO



ACCESSORIES 40 OVERVIEW

Floor Fixing Elements

Floor Plate 28 x160 x 160 Floor Plate 28 x 160 x 280

Foot Block M32x1,5

Floor Fixing Plate

Jacking Screw
M32x1.5 60 SW 36

Jacking Screw
M32x1.5100 SW 36

L= |

Pressure Plate 100 x 100 x 10 Fixing Set For Portal Plates

Portal Plates

-

100x300/80x80 300x300/80x80 350x350/80x120
300x350/80x120 300x400/80x160 300x450/80x200
Handles

Handle Al/L147

ﬂ L h-m—" H’"““i-i

Handle Al 55°

Protection wall Handle Al/L700

handle

Handle Strip Profiles

& C2

Handle strip profile Profile cap set

Handle PA

Foot Plate

b
Foot plate, with four adjustable feet @39

Y e W e W el

Handle light Machine Handle

Adjusting Elements

Vertical Angle

2
[2]
(0]
7]
7]
o
=
]
(7]

ROLLCO

103



ACCESSORIES 40 OVERVIEW

S9110SS9IDY

Fixing Angles
i i a r
L b - P - - - -
40x20x15  40x20x20 40x20x30 40x20x40  40x40x15 40x40x20 40x40x30  40x40x40
El
' ¢ £ b
-t L ;'.
! ! ot oy o
60x80 80x80 60 x120 80x120 120x120 70x70x 36 70x70x76
. o & e#- f
h k & : | »
i 1. - I ‘ il
k A L Y S N T g Y
120 x 120 x 40 120120 x 80 120 x 120 x 120 120x120 X160 120 x 120 x 200

Angle / Strap, steel

- L

Strap 40x80 Angle 40 x40 Corner Bracket

(comple

Corner Fasteners 40 x40

A A8 2 A8

Corner brackets Zn

0
Zn40x 80 Corner Bracket Zn40 x40
te) (complete)

|

=

&

40x40 45° 40 x40 round 40x40 45° 40x40 edge
Clamp Angles Round Corners
] '] - L]
1 i e L]
. - L]

» [ "'

28x22x40 28x22x80 28x22x120 28x22x160 28x22x200 80x80 40x40
Gusset Plates
Al 160 x160 Al, t-version Al, angle
104 ROLLCO



ACCESSORIES 40 OVERVIEW

4

40/60

7

Slide rail for sliding door
profile

Rollers, POM

Qo o0

226 @24 @29

40 40
natural black

Hinges PA

40/40 48 PA, 48PA,

System Gliders 40

s’
=

40, fixable 40, offset 40, offset, fixable
Bin locator Omega clamp Glider Spring hook
Load Bearing Rollers Roller Housings Stabilizing Roller
60 ' /&
@45 RM @45 RS @45 40 80 Vertical Horizontal
Hinges 40
=
-

] 1k “H k

m&1& . 1t a s I

40 GDZn, 40 AmS8 40, 40/L124, 40/L160, Al 2-parts Al, 3-parts 40 Al
black steel natural natural
Inside Hinge Anti-Twist Heavy Duty Joints
Element Set Screw
a -
y (O
L 4 & e 4 A

PA left right 40x40 40x 40, 40x80
9 (with clamp lever) massive (with clamp lever)
Hangers 40 VU Hangers 40 Hangers 40 SVPS

w W w - ] i ]
n -
] - b s "
[ ] L.
-] I __' ) |

40 V Fastener 40 V Fastener
LH, black RH, black

Sealing Rubbers

R

40 4 mm 40 6mm

L]

40 U, black
40 PA 40, natural 40, black black natural
Wedge Edging and Covering Strips Cover Profiles
Sealing
40, natural 40, black 24x3 32x4

2
a
(0]
7]
7]
o
=
]
(7]

ROLLCO

105



ACCESSORIES 40 OVERVIEW

Magnetic Catch Plates Door Stops
2mm 4mm 6 mm 8mm i Top, round Bottom, Bottom,
POM aluminium
Locks
2 - ;
(] ¥ . n
«n F-
» _— )
o L4
o ﬁ n E - W
o .
Protection wall Protection wall locking Protection wall locking Cylinder door Door lock Safety interlock,
lock mechanisms mechanism with lock with contact
transponder
Door Latches Spring Door Catches

L~ L - #

- l_\_.h el " - - — T 3
Catch plate  40x40, right 40x 40, left 40x 80, righ 40x 80, left 40
Protection Wall Latches Fixing Blocks
e i 40 vario 40/2
| Wy g
40/ 4 40/6 40/8
For single doors For double doors Set of shoot bolts

106 ROLLCO



PROFILE CAPS 40

Profile Caps 40 40

Application: Profile Caps for the profile ranges 40 standard, semi, double bridge, light and superlight.

80

S7Z0010S SZ0017S S70020S S70023S

570024S 570025S 570022S

>
(2]
(2]
0]
o
@
o
=4
]
@

SZ0030S Profile Cap 16 x 40

SZ0031S Profile Cap 16 x 80 5¢g
SZ0018S Profile Cap 20 x 120

SZ0019S Profile Cap 20 x 240

SZ0042S Profile Cap 28 x 120 129
SZ0043S Profile Cap 28 x 160 17 g
SZ0010S Profile Cap 40 x 40 5¢g
SZ0016S Profile Cap 40 x 40 45° 49
SZ0017S Profile Cap 40 x 40 R 90 39
SZ0011S Profile Cap 40 x 80 89
SZ0012S Profile Cap 40 x 120 139
SZ0013S Profile Cap 40 x 160 21g
SZ0014S Profile Cap 40 x 200 339
SZ0020S Profile Cap 80 x 80 17 g
SZ0023S Profile Cap 80 x 80 45° 159
SZ0025S Profile Cap 80 x 120 21g
SZ0021S Profile Cap 80 x 160 349
SZ0022S Profile Cap 80 x 200 44 g
$70024S Profile Cap 80 x 80 7N 45° 139
SZ0100S Profile Cap 120 x 120 29g
SZ0026S Profile Cap R 40 / 80 30° 49
SZ0027S Profile Cap R 40 / 80 45° 69
$Z0028S Profile Cap R 40 / 80 60° 79
SZ0029S Profile Cap R 40 / 80 90° Ng
SZ0060S Handrail Profile Cap 69

ROLLCO 107



PROFILE CAPS 40

S9110SS9IDY

Wiring Duct Caps 40
Application: End caps for wiring ducts.
Supply: 2x / 4x sheet metal screw ST 4.2 x 9.5, DIN 7981
Y Jm4
Iy < " S
a0 | ﬁ 80 40 80
x
SZ0053S SZ0050S SZ00515 SZ00525 SZ00555
oesgration oo |
SZ0053S Wiring Duct Cap 16 x 40 39
SZ0050S Wiring Duct Cap 40 x 40 849
SZ0051s Wiring Duct Cap 40 x 80 14 g
SZ0052S Wiring Duct Cap 80 x 80 309
SZ0055S Wiring Duct Cap 80 x 120 3249
Corner Bracket Caps 40
Application: Caps for corner brackets Zn. The corner brackets Zn are also available in a set with the

required caps.

$Z0070S SZ0071S
SZ0070S Corner Bracket Cap 40x40 89
SZ0071S Corner Bracket Cap 40x80 159
Protection Wall Support Leg Cap 40
Application: End caps for protection wall support leg profiles 60 x80 and 60 x 80 5N.
g
F
I3
$70082S
SZ0082S Protection Wall Support Leg Cap 60 x80

108 ROLLCO



PROFILE CAPS 40

Fixing Angle Caps 40

Application: Caps for fixing angles 40 x 40 45°. The fixing angles are also available in a set with the
required caps.

)4}«
SZ0075S S$70076S SZ0077S
SZ0075S Fixing Angle Cap 40x 40 45° 89
SZ0076S Fixing Angle Cap 40 x 40 round 8¢9
SZ0077S Fixing Angle Cap 40 x40 edge 169
Profile Cap for SV drillings 40
Application: For covering profile drillings that occur by assembling SV fasteners.

Yo}
s,
91
215
SZ0099S
SZ0099S Profile Cap for SV drillings

>
0
0
0]
n
173
o
=
]
0

ROLLCO 109



ADJUSTABLE FEET 40

S9110SS9IDY

Adjustable Feet @ 39 40 6 5
Application: Height adjustable foot for leveling machines and structures. Any tipping is

compensated by a ball and striker pad. Maximum load: 150 kg
Material: Pad: POM, black

Spindle: steel, zinc-plated
Hexagon nut SW17: steel, zinc-plated

40°
A/_\

SF0204S SF0202S SFO210S
[Designation | ———__pwserption ————_——_Hn | woigne |
SF0204S Adjustable Foot @39 M8/ L 41 34 mm 549
SF0202S Adjustable Foot @39 M8/L 65 34 mm 689
SF0210S Adjustable Foot @39 M10/L 65 35mm 759
Adjustable Feet 279 40 6. 5
Application: Height adjustable foot for leveling machines and structures. Any tipping is
compensated by a ball and striker pad. Maximum load: 150 kg
Material: Spindle: steel, zinc-plated
Hexagon nut SW17: steel, zinc-plated
Acc.: SZ1701S rubber boot & 79

SF0448S SF0O480V
[oesgnation | pescrption ————_paavatorsl | b Welgnt
SF0448S Adjustable Foot @79 M12 PS L70 POM, black 45 mm 1749
SF0470V Adjustable Foot @79 M12 SV L150 Steel, zinc-plated 45mm 6579
SF0450S Adjustable Foot @79 M16 PS L 70 POM, black 46 mm 1919
SF0464S Adjustable Foot @79 M16 PS L160 POM, black 46 mm 1969
SF0480V Adjustable Foot @79 M16 SV L160 Steel, zinc-plated 46 mm 7379

10 ROLLCO



ADJUSTABLE FEET 40

Adjustable Feet @ 79 with fixing holes 40 6 5

Application: Height adjustable foot for leveling machines and structures. Any tipping is
compensated by a ball and striker pad. Maximum load: 750 kg
Material: Spindle: steel, zinc-plated

Hexagon nut: steel, zinc-plated
Acc.: SZ1700V fixing set for adjustable feet
SZ1701S rubber boot @79

ShaiEe jiiEge s

awiisiaiaicimizi
-,

=<
=
160

W Rk . l :

: , .
"’"h.u.-':!_""' S - ;
-l g2 :

+
SFO727V SZ1700V

POM, black; with fixing

2
a
0
7]
7]
o
=
[}
(7]

e —

e ——

SFO516S

SFO417S Adjustable Foot @79 M8 PSB/L 70 oo 40mm 1444
SFO415V Adjustable Foot @79 M8 SVB /L 70 szl Z'”C'pr:itlig; LA IS 5464
SF0429S Adjustable Foot @79 M10 PSB/L 70 POM, black; with fixing holes 40 mm 1509
SF0427V Adjustable Foot @79 M10 SVB/L 70 Szl Z'”C'pr']ztli‘:; with fixing 6 m 5529
SFO516S Adjustable Foot @79 M12 ASB/L 70 Aluminum, black anodized; 45mm 247 g
with fixing holes
SFO616S Adjustable Foot @79 M12 ASB/L 150 suluiiluoin, leel srmee e 45mm 302g
with fixing holes
SFO517S Adjustable Foot @79 M12 PSB/L 70 POM, black; with fixing holes 45mm 1709
SFO0617S Adjustable Foot @79 M12 PSB/L 150 POM, black; with fixing holes 45 mm 2259
SFO515V Adjustable Foot @79 M12 SVB/L 70 Steel, Z'”C'pr']itli‘:; with fixing 45mm 5749
SFO615V Adjustable Foot @79 M12 SVB /L 150 Stz Z'”C'pr']itlzg; Gl i) 45mm 6309
SF0529S Adjustable Foot @79 M16 PSB/L 70 POM, black; with fixing holes 46 mm 19049
SFO729S Adjustable Foot @79 M16 PSB/L 160 POM, black; with fixing holes 46 mm 3079
SFO527V Adjustable Foot @79 M16 SVB/L 70 Steel, z'”c'p}:itli‘s"; with fixing 46 mm 5904
SFO727V Adjustable Foot @79 M16 SVB/L160 Szl Z'nc'pr"it@‘:; el ifbding) 46 mm 700g
. Stainless-steel; with fixing
SFO750V Adjustable Foot @79 M16 VAB/L160 holes 46 mm 730 9
SEO760V Adjustable Foot @79 M20 VAB/L160 Stainless-steel; with fixing 46 mm 861 g
(only for System 40) holes
SZ1700V Fixing Set For Adjustable Feet

ROLLCO



ADJUSTABLE FEET 40

Adjustable Feet @ 79 with anti-vibration pad 40 6 5
Application: Height adjustable foot for leveling machines and structures. Any tipping is

compensated by a ball and striker pad. Maximum load: 750 kg
Material: Spindle: steel, zinc-plated

Hexagon nut: steel, zinc-plated

S9110SS9IDY

SF0447S SFO481V
oesgration | pescrption | padteris b eigne_
SF0443S Adjustable Foot @79 M8 PSD /L 71 POM, black; with anti-vibration pad 41mm 1539
SF0447S Adjustable Foot @79 M10 PSD /L 71 POM, black; with anti-vibration pad 41mm 1629
SF0449S Adjustable Foot @79 M12 PSD /L 71 POM, black; with anti-vibration pad 46 mm 1799
SF0481V Adjustable Foot @79 M16 SVD /L 161 Steel, zinc-plated; with anti-vibration pad 47 mm 6929

12 ROLLCO



ADJUSTABLE FEET 40

Adjustable Feet @ 79 with anti-vibration pad
and fixing holes

Application:
Material:

Acc.:

SF0435S

40 6 5

Height adjustable foot for leveling machines and structures. Any tipping is compensated by a
ball and striker pad. Maximum load: 750 kg

Spindle: steel, zinc-plated
Hexagon nut: steel, zinc-plated

SZ1700V fixing set for adjustable feet

40°

SFO733V

Anti-vibration pad

POM, black; with anti-vibr. pad/ fixing

2
[2]
(0]
7]
7]
o
=
]
(7]

SF0423S Adjustable Foot @79 M8 PSDB /L 71 holes 41mm 1519
SF0421V Adjustable Foot @79 M8 svDB/L71  HOM black W'thhirl‘et's""b" pad/fixing 400 508¢
SF0435S Adijustable Foot @79 M10 pSDB/L71  HOM black W'thhf;l‘:s""b“ pad/fixing 4 157g
SF0433V Adjustable Foot @79 M10 SVDB/L 71 steel, zinc-plated; with anti-vibr. 41mm 5139
pad/ fixing holes
aluminum, black anodized; with anti-vibr.
SF0722S Adjustable Foot @79 M12 ASDB /L 151 pad/ fixing holes 46 mm 2299
SF0723S Adijustable Foot @79 M12 psDB/L151  FOM. black; W'thhzrl‘et's'v'b“ pad/fixing 46 mm 2329
SFO721V Adjustable Foot @79 M12 SVDB /L 151 steel, zinc-plated; with anti-vibr. 46 mm 582g
pad/ fixing holes
SF0535S Adjustable Foot @79 M16 PSDB /L 71 PO, e W'thhzrl‘et's'v'b“ pad/fixing 47 mm 1959
SFO735V Adjustable Foot @79 M16 PSDB/L161 "~ OM black W'thhzrl‘:s""b“ pad/fixing 34g
SFO533V Adjustable Foot @79 M16 SVDB/L 71 steclizineplated:iw/ithantisvior: 47 mm 551g
pad/ fixing holes
SFO733V Adjustable Foot @79 M16 SVDB /L 161 steel, zinc-plated; with anti-vibr. 47 mm 6709
pad/ fixing holes
SZ1700V Fixing Set For Adjustable Feet
ROLLCO 13



ADJUSTABLE FEET 40

>
(2]
(2]
[}
0
0
o
=4
[}
n

Rubber Boot @79 40 6 5
Application: The anti-vibration boots are used with adjustable feet @ 79.
Material: Rubber, black

SF0O435S
esgration ————————— owpton oo
SZ1701S Rubber Boot @79 249

Adjustable Foot @119 with fixing holes 40 6 5
Application: Height adjustable foot for leveling machines and structures. Any tipping is compensated by a

ball and striker pad. Maximum load: 1300 kg
Material: Pad: VAB stainless-steel; with fixing holes

Spindle: steel, zinc-plated

Hexagon nut: steel, zinc-plated
Acc.: SZ1700V fixing set for adjustable feet

40°
TN
\

SFO770V
esgnton | omrton o
SFO770V Adjustable Foot @79 M16 VAB /L 151 44 mm 1.5kg

n4 ROLLCO



ADJUSTABLE FEET 40

Adjustable Foot @136 with fixing holes 40 6 5

Application: Height adjustable foot for leveling machines and structures. Any tipping is compensated by a
ball and striker pad. Maximum load: 1300 kg

Material: Pad: SVB steel steel, zinc-plated

Striker pad: POM, black
Spindle: steel, zinc-plated
Hexagon nut: steel, zinc-plated
Acc.: Two fixing sets SZ1700V are required for adjustable feet & 136.

165

N
2136
SFO918V
oesianaten | pescrbton b el
SFO818V Adjustable Foot @136 M16 SVB/L 94 47 mm 215kg
SF0918V Adjustable Foot @136 M16 SVB/L 165 47 mm 2.26 kg
SZ1700V Fixing Set For Adjustable Feet
Adjustable Foot @136 with anti-vibration pad and fixing holes 40
Application: Height adjustable foot for leveling machines and structures. Any tipping is compensated by a
ball and striker pad. Maximum load: 1300 kg
Material: Pad: SVDB steel, zinc-plated; with anti-vibr. pad /fixing holes
Striker pad: POM, black
Spindle: steel, zinc-plated
Hexagon nut: steel, zinc-plated
Acc.: Two fixing sets SZ1700V are required for adjustable feet & 136.

SFO931V
esgration ——————pesrtion b o
SF0822V Adjustable Foot @136 M16 SVDB/L 95 48 mm 2.02kg
SF0922V Adjustable Foot @136 M16 SVDB/L 166 48 mm 21kg
SFO929V Adjustable Foot @136 M20 SVDB/L 95 54 mm 210kg
SFO931V Adjustable Foot @136 M20 SVDB/L 166 54 mm 2.23kg
SZ1700V Fixing Set For Adjustable Feet

>
0
0
0]
n
173
o
=
]
0

ROLLCO 15



ADJUSTABLE FEET 40

>
0
(2]
0
n
0
o
=
0
(7]

Adjustable Foot @136 Steel with anti-vibration pad and fixing holes 40
Application: Height adjustable foot for leveling machines and structures. Any tipping is compensated

by a ball and striker pad. Maximum load: 2000 kg
Material: Pad: SVDB steel, zinc-plated; with anti-vibration pad/fixing holes

Striker pad: steel, zinc-plated
Spindle: steel, zinc-plated
Hexagon nut: steel, zinc-plated
Acc.: Two fixing sets are required for adjustable feet @ 136.

SFO953V
(oesignatin | Descrption b Woiare__
SFO950V Adj. Foot @136 M16 SVDB /L 95 St 48 mm 2.04kg
SFO951V Adj. Foot @136 M16 SVDB /L 166 St 48 mm 215 kg
SF0952V Adj. Foot @136 M20 SVDB /L 95 St 54 mm 214 kg
SFO953V Adj. Foot @136 M20 SVDB /L 166 St 54 mm 2.27 kg
SZ1700V Fixing Set For Adjustable Feet
Metal Foot 40
Application: For fixing protection panel support legs to the floor.
Material: GD, natural

SZ8040N
oesgration | oot e |
SZ8040N Metal Foot 5669

16 ROLLCO



ADJUSTABLE FEET 40

Clamping Feet
s o)
Application: For adjusting and fixing protection panel support legs to the floor. One fixing set is
required per clamping foot.
Material: Aluminum, natural anodized
17
H‘wo
= 0
[ ]
| S<
|
| i
| >
SZ8080N S78081N SZ8082N SZ1735V §
o
oesgnation oo oo G
o
SZ8080ON Clamping Foot 40 x 40 896 g @
SZ8081IN Clamping Foot 60 x 80 1500 g
SZ8082N Clamping Foot 80 x80 2000 g
SZ1735V Fixing Set Clamping Foot 3g
Mounting Feet
s o)
Application: For fixing protection panel support legs to the floor. One fixing set is required per clamping foot.
Material: Aluminum, natural anodized
Supply: 2x grub screw M8x10
I-\
TTQ =
< 2me
ol e

SZ1750V

-

SZ8050N Mounting Foot 80 x80
SZ8055N Mounting Foot 60 x 80
SZ1750V Fixing Set Mounting Feet 60 x 80 and 80 x 80

ROLLCO n7



CASTORS 40

SOI110SSDIDY

Lifting Castor Units 40
Application: For relocating measurement devices and jigs.
Material: Aluminum, black anodized

482

-.._'\
SF2600V SF2601V
SF2600V LCU, with steering roller @100 10 kg
SF2601V LCU, with trestle roller @100 100 kg
SF2604V LCU, with steering roller @125 10 kg
SF2605V LCU, with trestle roller @125 100 kg
SF2606V LCU, with steering roller @100, compact 10 kg
SF2607V LCU, with trestle roller @100, compact 100 kg
Hinge Castor 40
Application: For relocating measurement devices and jigs.
Material: Steel, zinc-plated
120 0
-
T =
(] .
i — _  Kmg

80

SF2602V
oesgration | pwrpton oo
SF2602V Hinge Castor 3050 g

18 ROLLCO



CASTORS 40

Castors, rubber 40
Application: For carts with heavy load. Temperature resistance: -20° to 60°
Material: Housing: steel, zinc-plated

35
Swig, ’/ﬂ

35
9106

1

98
158

o
o
SF2200V SF2210V o
ﬁl
oesgnatin ——————omscrpton o e
SF2200V Castor @75, rubber 60 kg 2299
SF2210V Castor @125, rubber 100 kg 1000g
Double Castors @75, rubber 40
Application: For carts and benches with heavy load. Temperature resistance: -20° to 60°
Material: Housing: steel, zinc-plated
=01

52

@
(o)
\
SF2400V SF2401vV
[oesgnation | pescipton o _____weiome__
SF2400V Double Castor @75, rubber 80kg 5819
SF2401V Double Castor @75, rubber, braked 80kg 6669

ROLLCO 19



CASTORS 40

Steering Castors, rubber 40
Application: For carts with heavy load. Temperature resistance: -20° to 60°
Material: Housing: steel, zinc-plated

210

>

0

3 SF2300V SF2302V SF2310V SF2312V

o

]

T T v B BT

3
SF2300V Steering Castor @75, rubber 60 kg 3309
SF2302V Steering Castor @75, rubber, fixable 60 kg 3409
SF2310V Steering Castor @125, rubber 100 kg 100 g
SF2312V Steering Castor @125, rubber, fixable 100 kg N50¢g

120 ROLLCO



CASTORS 40

Swivel Castors, Bolt Hole 40 6. 5

Housing made of Polyamide, precision ball bearing in swivel head, bolt hole.
Wheel centre made of Polyamide
Tread made of Polyurethane, precision ball bearing

Temperature range: - 10 / + 40 °C
Standard: EN 12530
Hardness of tread: Shore A 92

_ 9230 _ 23
219

[ | .l;-_;:'-—.' 4 (Dj‘i’
© i 1 1
. I Y O
A ,4’:
r J T
pPz1542
. 952 _ 32
Z11 -
i —
e e
|
" | | 7 =y o
—_ -
It - \
92. 1 "!:/'.- b, |
A= | "x___,.-" .
"\_ _,J;
t L - e
20 42
PZ1541
- 252 40
@11 B
- -
i et .
)
- | P L (D\‘L
3 -
/ "‘*
v ) %\“_
T S
pPZ1545
: . o Swivel Load Load Capacit
Capacity (Statir::) . m
Pz1542 Swivel castor with bolt hole RAL7001 121 mm 90 kg 180 kg 216 g
PZ1541 Swivel castor with bolt hole RAL9002 180 mm 100 kg 200 kg 682 g
PZ1545 Swivel castor with bolt hole RAL9002 218 mm 10 kg 220 kg 774 g

>
0
0
0]
n
173
o
=
]
0

ROLLCO 121



CASTORS 40

S9110SS9IDY

Swivel Castor, Plate Fitting

40 6 5

Housing made of Polyamide, precision ball bearing in swivel head, plate fitting.

Wheel centre made of Polyamide
Tread made of Polyurethane, precision ball bearing

Temperature range: - 10 / + 40 °C
Standard: EN 12530
Hardness of tread: Shore A 92

124

82

PZ1549
et T
32
TN —
£y o
{
%“ec —
PZ1550
67 o1
- J 32
= T
f . 1 f‘ .\_-Lr Q);\QQ
3 u . o
T L
LF LRy
2
82
PZ1551

Plate Fitting

77
61,5
56

46,5
51,5
67

Plate Fitting

Plate Fitting

7
61,5
56

46,5
51,5
67

Swivel Load Load Capacity
Capacity (Static) m

PZ1549 Swivel castor with plate fitting RAL9002 180 mm 100 kg 200 kg 804 g
Swivel castor with
PZ1550 eliactionel lock, [slkie Hiing RAL9002 216 mm 100 kg 200 kg 8659
PZ1551 Swivel castor with total lock, 4} 9002 216 mm 100 kg 200 kg 8719
plate fitting
ROLLCO

122



CASTORS 40

Swivel Castors, Bolt Hole 40 6. 5

Housing made of Polyamide, precision ball bearing in swivel head, bolt hole.
Wheel centre made of Polyamide

Tread made of Polyurethane, precision ball bearing

Temperature range: - 10 / + 40 °C
Standard: EN 12530
Hardness of tread: Shore A 92

58

PZ1543

118

PZ1540
@52
‘o1
i _:__i
- 1 I
- | 1 i
1
v " !
20 4 _
T
pPz1544
. . o Swivel Load Load Capacity
Capacity (Static)
PZ1543 Swivel castor with wheel | 50 156 mm 90 ki 180 k 237
brake, bolt hole 9 9 9
PZ1540 Siebyel easioy Wity el 06 50 gy 216 mm 100 kg 200 kg 750 g
bolt hole
PZ1544 Swivel castor with total lock, ¢ 5| 9002 258 mm 110 kg 220 kg 743 g
kick pedal

>
0
0
0]
n
173
o
=
]
0

ROLLCO 123



FOOT PLATES 40

S9110SS9I0Y

Foot Plates 40x 80 40

Material: Zinc-plated

I ™ S BT

SZ0210V Foot Plate 40x80 M8 3399

SZ0212V Foot Plate 40x80 M10 3359

SZ0230V Foot Plate 40 x80 M12 3319

SZ0232V Foot Plate 40x80 M16 3359

SZ0233V Foot Plate 40 x80 M 20 308¢g
Foot Plates 40x120 40
Material: Zinc-plated

wsraton |t | v

570214V Foot Plate 40x120 M8 5229

SZ0216V Foot Plate 40 x120 M10 5199

SZ70234V Foot Plate 40x120 M12 5159

SZ0236V Foot Plate 40 x120 M16 5059

SZ0237V Foot Plate 40x120 M 20 4909
Foot Plates 40 x160 40
Material: Zinc-plated

besation | ot | waom

SZ0260V Foot Plate 40x160 M8 7239
SZ0261V Foot Plate 40 x160 M10 7209
S70262V Foot Plate 40 x160 M12 7169
SZ0263V Foot Plate 40 x160 M16 7059
S70264V Foot Plate 40x160 M 20 6929

124 ROLLCO



FOOT PLATES 40

Foot Plates 40 x200 40

Material: Zinc-plated

e ™ S BT

SZ0265V Foot Plate 40x200 M8 9059

SZ0266V Foot Plate 40 x200 M10 9029

SZ0267V Foot Plate 40x200 M12 8989

S70268V Foot Plate 40x200 M16 8879

SZ0269V Foot Plate 40x200 M 20 8749
Foot Plates 80x80 40
Material: Zinc-plated

oston | owrton oo

SZ70240V Foot Plate 80x80 M8 694 ¢

Sz70242V Foot Plate 80 x80 M10 694 g

SZ0220V Foot Plate 80 x80 M12 694 ¢

SZ0222V Foot Plate 80x80 M 16 6789

SZ0223V Foot Plate 80x80 M20 6529
Foot Plates 80 x80 Edge 7N 40
Material: Zinc-plated

osraton |t

SZ0255V Foot Plate 80 x80 Edge 7N M8 65449
SZ0256V Foot Plate 80 x80 Edge 7N M10, zinc-plated 6549
SZ0257V Foot Plate 80 x80 Edge 7N M 12, zinc-plated 6549
SZ0258V Foot Plate 80 x80 Edge 7N M 16, zinc-plated 6389
SZ0259V Foot Plate 80 x80 Edge 7N M 20, zinc-plated 6129

>
0
0
0]
n
173
o
=
]
0

ROLLCO 125



FOOT PLATES 40

S9110SS9I0Y

Foot Plates R40 x80 90° 40

Material: Zinc-plated

osnaton | oton T o

SZ021vV Foot Plate R40x80 90° M8 0.400 kg
SZ0213V Foot Plate R 40 x80 90° M10 0.392 kg
Foot Plates 80 x120 40
Material: Zinc-plated

eston | pton T

SZ0270V Foot Plate 80 x120 M 8, zinc-plated 1.08 kg

SZ0271V Foot Plate 80 x120 M 10, zinc-plated 1.08 kg

SZ0272V Foot Plate 80 x120 M 12, zinc-plated 1.07 kg

SZ0273V Foot Plate 80 x120 M 16, zinc-plated 1.05 kg

SZ70274V Foot Plate 80 x120 M 20, zinc-plated 1.02 kg
Foot Plates 80 x160 40
Material: Zinc-plated

esgnton | oo T g

SZ0250V Foot Plate 80 x160 M 8, zinc-plated 1.39kg
SZ0252V Foot Plate 80 x160 M 10, zinc-plated 1.38 kg
S70224V Foot Plate 80 x160 M12, zinc-plated 1.37 kg
SZ0226V Foot Plate 80 x160 M 16, zinc-plated 1.35kg
SZ0227V Foot Plate 80 x160 M 20, zinc-plated 1.32kg

126 ROLLCO



FOOT PLATES 40

Foot Plates 80 x200 40
Application: Frontal screwing into profiles offers support of ring bolts, castors and adjustable feet.
Material: Zinc-plated

bosraton | ot | v

S70275V Foot Plate 80 x200 M8 1.81kg

>
SZ0276V Foot Plate 80 x200 M 10 1.80 kg §
SZ0277V Foot Plate 80 x200 M12 1.80 kg g
SZ0278V Foot Plate 80 x200 M 16 1.77 kg %
SZ0279V Foot Plate 80 x200 M 20 1.75kg =
Foot Plates 120 x120 40
Material: Zinc-plated

besration | ot | waom

570282V Foot Plate 120 x 120 M 16, zinc-plated 1.59kg
S70283V Foot Plate 120 x 120 M 20, zinc-plated 1.57 kg
Foot Plates 120 x160 40
Material: Zinc-plated

mlﬁ\l

S

I ™ S N

S70287V Foot Plate 120 x160 M 16, zinc-plated 217 kg
570288V Foot Plate 120 x160 M 20, zinc-plated 213 kg

ROLLCO 127



FOOT PLATES 40

S9110SS9IDY

Foot Plates 160 x160 40
Application: Frontal screwing into profiles offers support of ring bolts, castors and adjustable feet.
Material: Steel, zinc-plated

Km\u&l

wsraton |t | oo

S70280V Foot Plate 160 x160 M16 2.928 kg
S70281V Foot Plate 160 x160 M 20 2.914 kg

128 ROLLCO



BEARING PLATES & ADJUSTING ELEMENTS 40

System Plates

Application:
Material:

SZ0160V

For fixing profile structures onto countertops.
Steel, zinc-plated

Sz0166V

40

I ™ S BT

System Plate 120 x160 @ 9, zinc-plated

SZ0160V

2kg

SZ0166V

System Plate 160 x240 @9, zinc-plated

4kg

Bearing Plates

Application:
Material:

Suitable for holding shafts and axles.

Steel, zinc-plated

40

SZ3500V SZ3510V SZ3520V SZ3530V
F "'--.._- ‘ I "'ll-.___
H Q T T —_J
oesgnaton —————————— oweipton e
SZ3500V Bearing Plate 40x80 @8 3189
SZ3510V Bearing Plate 40x80 @10 3109
SZ3520V Bearing Plate 40x80 @20 1639
SZ3530V Bearing Plate 80 x80 @20 3159

>
0
0
0]
n
173
o
=
]
0

ROLLCO

129



BEARING PLATES & ADJUSTING ELEMENTS 40

S9110SS9I0Y

Adjusting Elements 40
Application: Suitable for variable angle adjustments as well as for vertical adjustments.
Material: Steel, zinc-plated
>
%

j=)
%9}
<
\
ST3510V ST4010V
oesgnation —————————— omipton e
ST3510V Angle Adjuster 2.2kg
ST4010V Vertical Adjuster 1.75 kg

130 ROLLCO



FLOOR FIXING ELEMENTS 40

Floor Fixing Plate 40

Application: For fixing racks and frameworks to the floor or to strengthen right-angled connections as
additional support.

Material: Aluminium, black anodized

Supply: SZ1730V: 2x cap head screw M8 x 30, DIN 912

2x t-nut M8/ ball-type, push-in

I"'III"-H :'
b

|
!
>

5703005 SZ1730V 5
o
0
SZ0300S Floor Fixing Plate 7609 ﬁl
SZ1730V Fixing Set For Floor Fixing Plate 489
Floor Plates 40
Application: For attaching profiles to the floor. Designed to support various sizes of profiles simply by
turning the floor plate to match the hole or t-slot pattern.
Material: Aluminium, natural anodized
Supply: Completely pre-machined, with two profile caps 28 x160.

SZ0350V SZ0352V
SZ0350V Floor Plate 28 x160 x 160
SZ0352V Floor Plate 28 x 160 x 280

ROLLCO 131



FLOOR FIXING ELEMENTS 40

S9110SS9IDY

Foot Block, Jacking Screws 40
Application: Heavy duty fastening of machine frameworks.
Material: Foot block: aluminium, natural anodized

Jacking screw: steel, black
Pressure plate: steel, black
Acc.: SZ1732V: 2x floor anchor M12x 115
Two fixing sets SZ1732V are required for portal plates with four jacking screws.

Sw3e

Sw3e

M32x15

SZ0310S SS3060S SS3100S

SZ0300V Foot Block M32x1.5 9569
SZ0310S Pressure Plate 100 x 100 x 10 7429
SS3060S Jacking Screw M32x1.5 60 SW 36 2269
SS3100S Jacking Screw M 32 x1.5 100 SW 36 3639
SZ1732V Fixing Set For Portal Plates 1589
Floor Plate 40
Application: A stable platform for conveyors and machine assemblies. The foot plate comes with
four adjustable feet @39 M8 (SF0202S).
Material: Aluminium, black anodized

ST4500S
oesgnatin | oot _weane |
ST4500S Foot Plate, with four adjustable feet 10 kg

132 ROLLCO



PORTAL PLATES 40

Portal Plates 40
Application: Portal plates are used to fix large machine frames or portal robots to the floor.
Material: Steel, zinc-plated black
Supply: 2x/ 4x jacking screw M32x1.5x60
1x pressure plate 100 x100 x 10 per jacking screw
Acc.: SZ1732V: 2x heavy duty dowel M12x 115

Two fixing sets SZ1732V are required for portal plates with four jacking screws.
Longer floor anchors with a length of 100 mm (SS3100S) are also available.

SZ0321S S70322S SZ0337S

300

SZ0325S S70327S S7Z0329S

SZ0321S Portal Plate 100 x300/80x 80 9.6 kg
SZ0322S Portal Plate 300 x 300 /80 x 80 13.6 kg
SZ0337S Portal Plate 350 x 350 /120 x120 17.6 kg
SZ0325S Portal Plate 350 x 300 /80 x 120 15.9kg
SZ0327S Portal Plate 400 x300/80x160 18.3kg
SZ0329S Portal Plate 450 x 300/80x200 20.6 kg
SZ1732V Fixing Plate For Portal Plates 1589

2
[2]
(0]
7]
7]
o
=
]
(7]

ROLLCO 133



HANDLES 40

S9110SS9IDY

Handles 40

Application: Multi-purpose, e.g. for doors and drawers.

SZ0840N SZO850N 570820S SZO8ION

SZ0830N

oesgration —————Descrpion ———__——_atenal oot
SZ0840N Handle Al/L147, natural Aluminum, natural anodized 1669
SZ0840S Handle Al/L147, black Aluminum, black anodized 1669
SZ0O850N Handle Al 55°, natural Aluminum, natural anodized 159
SZ0850S Handle Al 55°, black Aluminum, black anodized 159
SZ0830N Handle Al/L700 Aluminum, natural anodized 1,100 g
SZ0820S Handle PA ABS 1229
SZO0810N Handle light Aluminum, natural anodized 1009
Machine Handle 40

Ergonomic shape and safety shield; mounts on doors, flaps and aluminium profiles.
Material: Plastic (PA), glass bead-reinforced
On-site mount

PZ5038 Machine handle 240 with caps for M8 screw

134 ROLLCO



HANDLES 40

Protection Wall Handle 40
Application: Handle for fixing to wire mesh panels.
Material: Handle: PA, black
Fixing plates: aluminum, natural anodized
Supply: 1x SZ0820S handle PA

2x fixing platel, handle
2x fixing platell, handle
2x cap head screw M8x 30
4x cap head screw M5x 30

>
0
0
0]
n
173
o
=
]
0

50

]
SZ8015N
SZ8015N Protection Wall Handle

ROLLCO 135



HANDLES 40

>
(2]
(2]
[}
n
173
o
=4
[}
7

Handle Strip Profile 30 x40 40 6

Application: Multi-purpose, e.g. for doors and drawers. Has a stabilizing effect when installed on
sheet material and protects the fingers.

30
SZ0059S

4 mm 5mm 6 mm 8 mm 10 mm

Acc.: SV2193V t-nut M5 mini, alternatively
SV2195V t-nut M 5 VA mini
SS0308V button head screw M5x8 (4 mm sheet)
SS0310V button head screw M5x10 (5 mm sheet)
SS0312V button head screw M5x12 (6 mm sheet)
SS0312V button head screw M5 x12 (8 mm sheet)
SS0316V button head screw M5x16 (10 mm sheet)

Acc.: SV2100V t-nut M5 / ball-type, push-in, alternatively
SV2104V t-nut M5 VA / ball-type, push-in
SS0312V t-nut M5x12 (t-slot series 40)
SSO310V t-nut M5x10 (t-slot series 30)
SZ8205V washer @8

The fastening elements listed here as well as the end cap set are sold separately and are not part of the deli-
very of the handle strip profile.

besraton | ourton | v | v

SPO590N Handle Strip Profile 30 x 40 Aluminium, natural anodized 0,81kg/m
SZ0059S Profile Cap Set PA 6, black 2,69

136 ROLLCO



FIXING ANGLES 40

Fixing Angles 40x 20 40
In 20
of
N ' 6.5
1
L
SZO9ION SZ0916N
oesgnation | oosrpton _————__weare |
SZ0O910N Fixing Angle 40x20x15 99
SZ0912N Fixing Angle 40 x 20 x 20 139
SZ0914N Fixing Angle 40 x20x 30 2049
SZ0916N Fixing Angle 40 x20 x40 279
Fixing Angles 40x40 40
Application: For right-angled fixing of profiles.
Material: Aluminium, natural anodized

SZ0920N SZ0926N
oesgnaton —————————— omipton oo
SZ0920N Fixing Angle 40x40x15 129
SZ0922N Fixing Angle 40 x40 x 20 179
SZ0924N Fixing Angle 40 x 40 x 30 279
SZ0926N Fixing Angle 40 x 40 x 40 379

>
0
0
0]
n
173
o
=
]
0

ROLLCO 137



FIXING ANGLES 40

S9110SS9Y

Fixing Angles

Application: For right-angled fixing and stabilizing of profiles.
Material: Aluminium, natural anodized

__‘ i _r'.|-- .
‘6\0_[
SZ0980N SZO990N SZ0985N SZ0995N SZ0997N
SZ0980N Fixing Angle 60 x 80 5239
SZ0990N Fixing Angle 60 x 120 6839
SZ0985N Fixing Angle 80 x 80 6109
SZ0995N Fixing Angle 80 x120 7429
SZ0997N Fixing Angle 120 x120 8759
© 0)
Angle Plate, steel @ﬁ
85 2o
Application: Universally applicable attachment elements for interconnecting profiles.
Material: Steel, black
$70950S
oesgnation | oeserption ———_woome__
SZ0950S Angle Plate 40 x 40, steel 1029
- © 0)
Tie Plate, steel
85 29
Application: Universally applicable attachment elements for interconnecting profiles.
Material: Steel, black
S70960S
oesgnatin | oosrpton ————__weane |
SZ0960S Tie Plate 40 x 80, steel 90¢g

138 ROLLCO



FIXING ANGLES 40

Fixing Angles 70x70

Application: For right-angled fixing of profiles without the need of machining the profiles.
Comes with required fixing set.

Material: Aluminium, natural anodized

Supply: SZ0941N: 4x anchor screw (M8x 32)

SZ0940N: 2x anchor screw (M 8x 32), 2x anti-twist set screw

>
0
0
(]
(7]
"
o
=h
[}
n
SZ0940N SZ0941N

Designation Description

SZ0940N Fixing Angle 70x 70 x 36 1669

SZ0941N Fixing Angle 70x70x 76 3449

G2 SS9
Corner Brackets Zn40 p
Application: For right-angled fixing of profiles without the need of machining the profiles.
Material: GDZn (zinc diecasting), natural
Supply: Corner backets are available separately or in a set containing a fastening set and a corner

bracket cap.

|
80

SZ0970N SZ0972N

De5|gnat|on Description

SZ0971N Corner Bracket Zn 40 x 40 powder coated 99¢g
SZ0970N Corner Bracket Zn 40 x 40, complete 1359
SZ0973N Corner Bracket Zn 40 x 80 powder coated 3099
SZ0972N Corner Bracket Zn 40 x 80, complete 388¢g

ROLLCO 139



FIXING ANGLES 40

S9110SS9IDY

Corner Fasteners 40
Application: For right-angled fixing of profiles.
Material: GDZn (zinc diecasting), natural
PA 6, black
Supply: Corner fastener sets contain the corner fastener 40 x40 45°, three button head screws

M8x 20, ISO 7380, and the appropriate cap.

Y Y

SZ0931S SZ0930S SZ0932S SZ0933S
SZ0931S Corner Fastener 40 x40 45° 899
SZ0930S Corner Fastener Set 40 x40 45° 1279
SZ0932S Corner Fastener Set 40 x40, round 1279
SZ0933S Corner Fastener Set 40 x 40, edge 1359
Angles 120 x120 40

Application: For right-angled fixing of profiles.
n = number of fixing holes
Material: Aluminium, natural anodized

80

fy

315

L g

SZ6501N
T S N
SZ6500N Angle 120 x120 x 40 2109
SZ6501N Angle 120 x120 x 80 8 4249
SZ6502N Angle 120 x120 x 120 12 6369
SZ6503N Angle 120 x120 x 160 16 850¢g
SZ6504N Angle 120 x120 x 200 20 10539

140 ROLLCO



FIXING ANGLES 40

Round Corners 40

Application: For right-angled fixing of round profiles.
Material: Aluminium, natural anodized

SZ5050N SZ5045N
SZ5050N Round Corner 40 749
SZ5045N Round Corner 80 5849
Clamp Angles 40

Application: For right-angled fixing of profiles.
n = number of fixing holes
Material: Aluminium, natural anodized

28
SZ6550N SZ655IN SZ6554N
T S N SN
SZ6550N Clamp Angle 28x22 x40 419
SZ655IN Clamp Angle 28 x22 x 80 2 839
SZ6552N Clamp Angle 28 x22x120 3 1259
SZ6553N Clamp Angle 28 x 22 x160 4 1679
SZ6554N Clamp Angle 28 x22x 200 5 2109

>
0
0
0]
n
173
o
=
]
0

ROLLCO 141



FIXING ANGLES 40

S9110SS9IDY

Gusset Plates Al 40

Application: Gusset plates are suitable for strengthening t- and corner connections of profiles within
machine frames and jigs.

Material: Aluminium, natural anodized

Supply: Gusset plates and appropriate fixing sets are available separately as well as in complete sets.

R
i ] ~Amp l

T s
5 <
| ‘ 116

A

T I Ly » o _J 4 ¥,
- y & y
SZ8043N 570780V SZ8070N Sz0784V SZ8060N S70782V
oesgnation | omerption—————_woome__
SZ8043N Gusset Plate Al, 160 x160 140 g
SZ0780V Fixing Set For Gusset Plate Al, 160 x160 39
SZ8048N Gusset Plate Al, 160 x 160, complete 176 9
SZ8070N Gusset Plate Al, t-version 150 g
SZ0784V Fixing Set For Gusset Plate Al, t-version 40 9
SZ8075N Gusset Plate Al, t-version, complete 182 g
SZ8060N Gusset Plate Al, angle 150 g
SZ0782V Fixing Set For Gusset Plate Al, angle 40 g
SZ8065N Gusset Plate Al, angle, complete 134 g

142 ROLLCO



SYSTEM GLIDERS 40

System Glider 40

Application: Linear guidance of one profile against another. Used for sliding doors or windows.
The system glider is locked into the profile t-slot via M4 grub screws. The distance between
the profiles amounts to 21 mm.

Material: POM, black

Supply: 2x grub screw M 8x 8, zinc-plated

1

SZ1300S 0

(1]

n

17

T T T |

(]

SZ1300S System Glider 40 /60 229 @
Slide Rail 40

Application: The slide rail is situated in the sliding door profile SPO401N to give a smooth running
surface for doors and sliding elements.

Material: POM, black
8
S)
Iy
SZ1310S
SZ1310S Slide Rail for sliding door profile

ROLLCO 143



SYSTEM GLIDERS 40

S9110SS9I0Y

System Glider 40 40

Application: Linear guidance of one profile against another. Used for sliding doors or windows.
The fixable system glider are locked into the profile t-slot via M4 grub screws.

Material: POM, black

Supplied length:  Max. 2950 mm

SZ1338S

.

-

SZ1330S System Glider 40

SZ1333S System Glider 40, fixable

SZ1335S System Glider 40, offset

SZ1338S System Glider 40, offset, fixable

Bin Locator 40
Application: The bin locator is locked into position by twisting the locator 90° into the profile t-slot.

Storage boxes for small parts can be clamped into position for workspace assembly lines.
Material: PA, black

SZ1590S
oesgnation | oeserption ——__woome__
SZ1590S Bin Locator 109

144 ROLLCO



SYSTEM GLIDERS 40

Omega Clamp 40
Application: The clamp is clipped into the t-slot. Using the clamp, pneumatic tubes, cable ducts or control
lines can be attached to profiles of series 30 and 40.
Material: PP, grey
max. g

16.5 0

SZ1580N
oesgration —————————omipton e

SZ1580N Omega Clamp, Type A 0,559

Glider / Spring Hook 40
Application: For sliding suspended equipment. Spring hooks are used for holding tools.

SZ1M0S SZ1210V
[oesgnation | ————psscrpion ————————__watoral____woiome__
SZ1110S Glider POM, black 149
SZ1210V Spring Hook Steel, zinc-plated 279

>
0
0
0]
n
173
o
=
]
0

ROLLCO 145



SYSTEM GLIDERS 40

S9110SS9IDY

Omega are used to clamp
conduits and compressed
air lines etc. to any type of
profile section that uses
the M8 t-slot. If they are no
longer needed, the clamps
can be removed easily.

146




ROLLERS 40

Rollers, POM 40

Application: The ball bearing roller is guided into the profile t-slot and can be used for flexible attachments
of panel elements. Because of its asymmetrical construction, distances between the panel
and profile can be adjusted.

Material: POM (polyoxymethylene), black

B.g

18
% @395 o
- 0o, @26 @29
@ o6 26 6

S72210S S72220S S72230S

SZ2210S Roller, POM, @ 24 359
SZ2220S Roller, POM, @ 26 359
SZ2230S Roller, POM, @29 289
Load Bearing Rollers 40
Application: Universal rollers that are designed to run in the profile t-slot.

Material: POM, black

Acc.: S725807Z: 1x cap head screw M 8x 35, DIN 6912

1x t-nut M 8/ ball-type, push-in
1x spacer ME2108197

29 29 8 29, 8 3 i
Q45 945 .
o8 28 ? I
-~
S72420S S72424S S72422S SZ2580Z
Description
S72420S Load Bearing Roller 45 849
SZ2424S Load Bearing Roller RM 45 8049
SZ2422S Load Bearing Roller RS 45 80g
S72580Z Fixing Set For Load Bearing Rollers 349

>
0
0
0]
n
173
o
=
]
0

ROLLCO 147



ROLLERS 40

SOI110SSDIDY

Roller Housings 40
Application: For attaching load bearing rollers to the profile.

Material: Aluminium, natural anodized

Supply: Roller housing 40:

1x spacer; steel, zinc-plated

1x load bearing roller axle

2x countersink screw M6 x12, zinc-plated
1x button head screw M8x16

2x SS9900V anti-twist set screw

1x roller housing 40

Roller housing 80:

1x spacer; steel, zinc-plated

1x load bearing roller axle

2x countersink screw M6 x12, zinc-plated
2x button head screw M8x16

1x roller housing 80

40
40 r\‘l
W I L

= e
)
D 1)
& @
% o
o

T
- \
40 80 40
SZ2620N SZ2640N
SZ2620N Roller Housing 40 709
SZ2640N Roller Housing 80 1609
Stabilizing Roller, vertical profile 40
Application: Support roller for sliding panels.
Material: POM, black
Supply: 1x special screw M8

2 xspacer 12x18x12
2 x single groove bearing 6001
1x t-nut M 8, ball-type, slide-in

S78044S
oesgration —————————— owpton oo
S78044S Stabilizing Roller, vertical profile 1399

148 ROLLCO



ROLLERS 40

Stabilizing Roller, horizontal profile

Application: Support roller for sliding panels.
Material: Roller: POM, black

Profile: aluminum, natural anodized
Supply: 1x special screw M8

2x spacer 12x18 x12

2x single groove bearing 6001
1x t-nut M 8 / ball-type, slide-in
1x SP5600N100 retaining profile
2x t-nut M 8 / ball-type, push-in
2x washer @6 mm

2x cap head screw M8x 35

2x profile cap 40x40

i il _:! - Frw-h

S78045S

40

bwsraton |t | v

S78045S Stabilizing Roller, horizontal profile

3909

>
0
0
0]
n
173
o
=
]
0

ROLLCO

149



HINGES 40

>
(2]
(2]
[}
0
0
o
=4
(1]
n

Hinges 40

Application:
Material:
Supply:
Acc.:

A medium to heavy load hinge for machines and protective guardings.
Aluminium, natural anodized, black anodized or GDZn (zinc diecasting), black
2x SS9900V anti-twist set screw
SZ0788V: 2x special t-nut 2x M8/ spring-loaded ball

4x button head screw M8x18

4x washer @8 mm

-y
?L-““:

F=750

| 1
-~

Stk

[

40

SZ0760N SZ0760S SZ0762N 520788V
SZ0760N Hinge 40, natural 839
SZ0760S Hinge 40, black 849
SZ0761S Hinge 40 GDZn, black 1909
SZ0762N Hinge 40, with countersink Am 8 104 g
SZ0788V Fixing Set For Hinges 40 689

Hinge 40, steel

Application:
Material:

A medium load hinge for machines and protective guardings.
Steel, black

SZ0760V

SZ0760V

Hinge 40, steel

239

40

eston | prton T

150



HINGES 40

Hinges 40 FS;(?
62 &3

Application: A medium to heavy load hinge for machines and protective guardings.

Material: Aluminium, natural anodized

40

SZ0O765N SZ0766N

SZ0765N Hinge 40 /L 124, natural 500 ¢

SZ0766N Hinge 40 /L 166, natural 508 g
Hinges Al ;Ii?

62 89
Application: A medium to heavy load hinge for machines and protective guardings.
Gap adjustment: 5-13mm
Material: Aluminlum, natural anodized
I
SZ8012N SZ8013N

oesgnatin | oot _weane |

SZ8012N Hinge Al, with 12 mm bolt, 2-parts 369

SZ8013N Hinge Al, with 12 mm bolt, 3-parts 54¢g

>
a
a
[0}
(7]
(7]
o
=
[0}
0

ROLLCO 151



HINGES 40

S9110SS9I0Y

Hinge 40 Al 40
Application: A medium to heavy hinge load for machines and protective guardings.

Gap adjustment: 5-13mm
Material: Aluminlum, natural anodized

SZ8014N

SZ8014N Hinge, Al
Hinges PA 40
Application: Door hinge for medium loads. These hinges are suitable to connect profiles from different

profile ranges, like the hinge 40/30 PA that connects profiles 40 to profiles 30.

Material: PA, black

Supply: All hinges PA, complete are supplied with the appropriate fixing set. These fixing sets include
all of the elements needed to connect both halves of the hinge with the respective profiles.

SZ0719S S70725S
I ™ s N
SZ0719S Hinge 40 /40 PA 2919
SZ0725S Hinge 40 /40 PA, complete 9259

152 ROLLCO



HINGES 40

Hinges 48 PA 40
Application: A medium to heavy load hinge for machines and protective guardings.

Material: PA, black

Acc.: SZ0791V: 2x countersink screw M6 x 20, black

1x double t-nut 20 M6

Two of the SZ0791V fixing sets are required in order to mount the hinge onto a profile.

S70773S S70774S SZ0791V
SZ0773S Hinge 48 PA, left
SZ0774S Hinge 48 PA, right
SZ0791V Fixing Set For Hinges 48
Inside Hinge Element 40

For surface elements and aluminium profiles. Lets you create your own combination of inside hinges.
To build a complete hinge: 2 x wing; 1 x pin, 2 x cap

On-site mount: M6 slot nut

Mounting instruction: ESD-ready only if using notched slot nuts.

Aﬂ I T
=
I
FHmiae

e e 2 e T T

Internal Hinge Set, Anodised
slot 8 aluminium

PZz5317

>
0
0
0]
n
173
o
=
]
0

ROLLCO 153



HINGES 40

S9110SS9IDY

Anti-Twist Set Screw

Application: Anti-twist set screw for hinges and other applications.
Material: Steel, zinc-plated
os_ , .
M\S!.J_ & = 2 . - h p
SS.99OOV

40

e ™ s N

SS9900V Anti-Twist Set Screw

149

154



HEAVY DUTY JOINTS 40

Heavy Duty Joints 40 40

Application: For connecting two profiles at any angle up to 180° (+90°). The clamp lever facilitates easy
positioning. For heavy duty joints without a clamp lever, the angle can be set by tightening
the hexagon nuts.

Material: Heavy duty joints: GDZn (zinc diecasting)

Heavy duty joint, labored: aluminum, natural anodized

31

DIN 974
9 15x6 80

>

a

SZ1020N SZ1020S SZ1021N SZ1050N SZ1022N SZ1023N %

n
SZ1020N Heavy Duty Joint 40 x 40, natural 2939
SZ1020S Heavy Duty Joint 40 x 40, black 2939
SZ1021IN Heavy Duty Joint 40 x 40, with clamp lever 3359
SZ1050N Heavy Duty Joint 40 x 40, massive, natural 293 g
SZ1022N Heavy Duty Joint 40 x 80, natural 4809
SZ1023N Heavy Duty Joint 40 x 80, with clamp lever 6909

ROLLCO 155



HANGERS 40

S9110SS9IDY

Hangers 40 V and 40 U 40
Application: For tool-free mounting of frame elements to support leg profiles for protection and

separating walls. According to machinery directive 2006 /42 / EG.
Material: Casing: aluminum, black anodized

Latch, screws: steel, zinc-plated

SZ0610S SZ0611S 5706125

oesgnatin | oot e |
SZ0610S Hanger 40 V Fastener R, black Nn5g
SZ0611S Hanger 40 V Fastener L, black N5 g
SZ0612S Hanger 40 U, black

Hangers 40 40

Application: For hanging frame elements to vertical profiles to make protective guardings or removable

panels. Mounting dimension per side: 20.5-23.0 mm
Material: SZ0601S: POM, black

SZ0600V: steel, zinc-plated
SZ0600S: steel, zinc-plated black
Acc.: SZ0682Z: 2x t-nut M 8/ ball-type, push-in
1x cap head screw M8x12, zinc-plated
1x washer @8 mm

||'_|._ ||'_|._ ||'_|._
e e e
- -
T
4
& 235 - 835 3 ;_
20| 20| £ 4
SZ0600V SZ0600S SZ0601S 5706827

SZ0600V Hanger 40, natural N59g
SZ0600S Hanger 40, black N59g
SZ0601S Hanger 40 PA 4049
S706827 Fixing Set For Hangers 40 289

156 ROLLCO



HANGERS 40

Hangers 40 SVPS 40

Application: For hanging frame elements to vertical profiles to make protective guardings or removable
panels. Mounting dimension per side: 20.5-23.0 mm

-

S7Z0602S SZ0602V
SZ0602S Hanger 40 SVPS, black Steel, zinc-plated black 126.39 g
SZ0602V Hanger 40 SVPS, natural Steel, zinc-plated 126.39 g
(]
7]

Panel hanger open.

Fixing screw slides into the
hanger and is secured by
tightening both Allen set
screws.

ROLLCO 157



HANGERS 40

S9110SS9IDY

Mounting Elements According To Machinery Directive 2006 /42 /EG

g I L 8 O e 0
P T Fre LT
' LT Y =t

Mounting element is pivoted into the
hanger.

~ 9

Fixing screw slides under the latch.

M

Fixing screw in end position. The
latch secures and clamps the fixing
screw.

To unlock the element push the latch
through the bore opening.

158



SEALING RUBBERS, EDGING AND COVER STRIPS 40

Sealing Rubbers 40

Application: For sealing flat panels in a frame. Provides an anti-vibration seal. Not suitable for wire mesh
panels.

Material: EPDM, deterioration and ozone resistant, oil and water resistant

$719015 SZ1900S
Desgration | eserpton ——____|__waigm:_|
SZ1901S Sealing Rubber 40 4 mm 60g/m
SZ1900S Sealing Rubber 40 6 mm 30g9/m
Wedge Sealing 4 40
Application: For sealing 4 mm panels in a profile frame. Provides an anti-vibration seal. Not suitable for
wire mesh panels.
Material: Polypropylene, natural color

SZ1916N
Desgration | ————___pmerpton | Wolan_
SZ1916N Wedge Sealing 4 60 g

>
0
0
0]
n
173
o
=
]
0

ROLLCO 159



SEALING RUBBERS, EDGING AND COVER STRIPS 40

S9110SS9IDY

Edging and Covering Strips 40

Application: For covering the profile t-slot or for clamping sheet elements. Suitable for panel
thicknesses 4-5 mm.

Material: Polypropylene, natural or black

Supplied Length: 3000 mm

SZ1800N
SZ1800N Edging And Covering Strip 40, natural 789
SZ1800S Edging And Covering Strip 40, black 789

160 ROLLCO



COVER PROFILES AND RUBBERS, DOOR SEALING 40

Slot Profiles 40 40
Application: For covering an 8 mm t-slot.

Material: Polypropylene, natural or black, hardness 70° Shore A, oil and water resistant

5718205

SZ1820N Slot Profile 40, natural 359
SZ1820S Slot Profile 40, black 359
Cover Profile 40
Application: Suitable for covering profile surfaces. The rubber material provides a non-slip surface.

Material: NBR, black, hardness 70° Shore A, oil and water resistant

SZ1914S SZ1910S

S$71914S Cover Profile 24 x 3 140g/m

SZ1910S Cover Profile 32x 4 160g/m

>
0
0
0]
n
173
o
=
]
0

ROLLCO 161



MAGNETIC CATCH PLATES, DOOR STOPS 40

S9110SS9IDY

Magnetic Catch Plates 40

Application: Suitable for swing doors and windows. Steel stop plate is secured by using an industrial
adhesive. Suitable for a panel thickness of max 8 mm. Adhesive force: 5N

8

’

8
L

ey

SZ1550S

SZ1551S Magnetic Catch Plate 2mm 20 g
SZ1552S Magnetic Catch Plate 4 mm 20 g
SZ1550S Magnetic Catch Plate 6 mm 20 g
SZ1553S Magnetic Catch Plate 8 mm 20 g
Door Stop, top round (excentric) 40
Application: Upper door stop with excentric adjustment and o-ring cushioning.
Material: POM, black
Supply: 1x cap head screw M8x45

1x t-nut M 8/ ball-type, slide-in

S78042S
Desmation | Desroton _________Woiane__
S78042S Door Stop, top, round (excentric) 949

162 ROLLCO



MAGNETIC CATCH PLATES, DOOR STOPS 40

Door Stop 40
Application: Universally applicable door stop for protection and separating doors.

Material: POM, black

Acc.: 2x countersink screw M6 x16

2x t-nut M 8/ ball-type, slide-in

S78046S
esanation | —————_owserpion oo __
S7Z8046S Door Stop 39
Door Stops, bottom 40
Supply: 2x SS9900V anti-twist set screw

1x countersink screw M8x 25

S78041S SZ8041N
oesgration —————pescrpion | ————_wareial oot
S78041S Door Stop, bottom (POM) POM, black 439
SZ8041N Door Stop, bottom (aluminum) Aluminium, natural anodized 70 9

>
a
0
0]
n
173
o
=
[0}
0

ROLLCO 163



PROTECTION WALL LOCKS AND LOCKING MECHANISMS 40

S9110SS9I0Y

Protection Wall Lock 40
Application: Locking mechanism for swing or sliding doors. Distance dimension: 6 mm
Material: POM, black

Aluminium, natural anodized
Steel, zinc-plated

120

5780185
Desgration | —————_eserptin | waign:_|
$78018S Protection Wall Lock 650 g
Protection Wall Locking Mechanisms 40
Application: For locking protection wall doors.
Material: Aluminium, natural anodized
SZ8016V switch: Euchner NZ1VZ-538E-MC1233
Supply: Complete with fixing set.

S7z8016V SZ8017V

esgraton ———————— omipton e
S78016V Protection Wall Locking Mechanism 1.926 kg
SZ8017V Protection Wall Locking Mechanism w/ Transponder 1.926 kg

164 ROLLCO



PROTECTION WALL LOCKS AND LOCKING MECHANISMS 40

Door Locks 40
Application: Locking mechanism for swing or sliding doors. Fitting can be either right or left-sided.

The anti-twist security can be fitted in several ways.
Supply: Complete with key, latching plate and fixing set.

2x cap head screw M6 x 25, DIN 912
2x t-nut M6 steel /PA
1x special t-nut with grub screw

>
0
0
(]
(7]
(7]
o
—
(]
S70411S $70410S @
Designation Description m
SZ041S Door Lock 2179
SZ0410S Cylinder Door Lock 1549

ROLLCO 165



DOOR LATCHES AND INTERLOCKS 40

Door Latches

Ame @85 =215 50
@\éﬁ .
= - - o ;

= LY

40

% -
SZ0420V
40,240 40,240 40,480 40,480
| |
=i 1 L] I3 -I
>
a |
a y -
73 -~
]
=
(]
3
1 _- 1
- :il-\ i .h'\ s 1.‘.\ ..\
S70422V SZ0423V S70424V SZ0425V
SZ0420V Catch Plate, door latch
SZ0422V Door Latch 40 x40, right
570423V Door Latch 40 x40, left
SZ0424V Door Latch 40 x 80, right
570425V Door Latch 40 x 80, left
166 ROLLCO



DOOR LATCHES AND INTERLOCKS 40

Protection Wall Latches 40
Application: For locking single or double doors. Also mountable without any machining

(SZ8019V, SZ8020V).
Material: Aluminium, natural anodized

Fixing plate, t-nut profile: steel, zinc-plated
Handle: PA, black
Acc.: 1x profile 16 x40 or 16 x 80
1x catch plate, door latch, top
1x catch plate, door latch, bottom
1x door latch
1x angle 40 x 60, with accessories
1x fixing plate, top

.80
‘& 40, >
[ I
. @
S
(]
7]
Y ©
3 S ~
g g« S3
= = INIRSY
(=] o
(=] o
Q Q ~
[\
N
o
Q
— | — | | |
SZ8019V SZ8020V SZ0450V
SZ8019V Protection Wall Latch, for double doors
SZ8020V Protection Wall Latch, for single doors
SZ0450V Set Of Shoot Bolts

ROLLCO 167



DOOR LATCHES AND INTERLOCKS 40

Spring Door Catch 40
Application: Catch for swing doors.
s

> -
o
o .
®
[ S70402Z
o
=4
] S S T
SZ0402Z Spring Door Catch 40
Safety Interlocks 40
Application: For electronic monitoring of doors. Can be mounted on the left or right side.
The closing force amounts to 15N, the holding force 5N.
Supply: Complete with fixing set.
o S .
3
e
B .y e
i .
—
SZ0512S
esgnatin | oot _weane |
SZ0510S Safety Interlock, with one contact 2609
SZ0512S Safety Interlock, with two contacts 2609

168 ROLLCO



FIXING BLOCKS 40

Fixing Blocks 40

Application: SZ1512S is to be used for mounting 2 mm, SZ1514S for 4 mm, SZ1516S for 6 mm and
SZ71518S for 8 mm panels to profiles with an 8 mm t-slot.
S71540S and SZ1510S facilitate the entire 2-8 mm range of panels.
An M6 screw is required for installation.

Material: PA, black

Acc.: SZ1510S fixing block 40 Vario and SZ1540S fixing block 30 Vario are complete sets.
They comprise four different sized, removable caps to accomodate panels with
2-8mm thickness.

SZ1510S insert for SZ1510S

2
[2]
(0]
7]
7]
o
=
]
(7]

i % ] i % ]
il L .--_..-d % Ll i ,-_..-'j %
SZ1512S SZ1514S

SZ1516S
Description
SZ1510S Fixing Block 40 vario 279
SZ1512S Fixing Block 40 /2 199
SZ1514S Fixing Block 40/ 4 169
SZ1516S Fixing Block 40/6 149
SZ1518S Fixing Block 40/8 109

ROLLCO 169



170 ROLLCO



ACCESSORIES 6 & 5 OVERVIEW

Aluminium Profile Caps

-

Adjustable Feet

-~ B e <

Threaded Rods for Ball Head 15 with Base for Hinged Trapezoid Base for Square Base for
Hinged Knuckle Foot Female Thread Knuckle Feet Hinged Knuckle Feet Hinged Knuckle Feet
‘ e @ @
Base 40 with Arm Threaded Rod for Steady Base for Steady Trapezoid Base for Floor Mount for
Knuckle Feet for Levelling Knuckle Feet Steady Knuckle Feet Trapezoid Base
Absorber Plate for Adjustable Height-Adjustable Base Plate
Hinged Knuckle Feet Levelling Foot Floor Angle
Castors
= B -1 1 )
i ] 3
¢ € & v VU
Steering castors Heavy-Duty Castors Castor with Fitted Flange
-
Y7 -:
Plastic Double Castor Levelling Castor
Handles
Bow Handle Handle Handle AL Light-Duty Handle AL Natural Colour

Handle Bar Profile

ROLLCO 171



ACCESSORIES 6 & 5 OVERVIEW

2
[2]
[0}
3
0
o
=
[
[

Brackets
. . & & '
- -~ o o .
20 x 20 40 x 40 30 x 30 30 x 60 60 x 60 Articulated Floor Bracket
Bracket
Clamping Bracket
20 x 20
Angles
7 ‘
o W |/ & =
’. -
Corner Angle Round Square Angle Joint Angle Element Angle Plate Mounting Angle
black cap black cap
Tie Plates Sliding tool hangers and runners Joints
Sliding tool hanger Snap hook Runner Joint 20 Joint 30
Hinges
T G | i ' ol M ‘l
Mini Plastic Plastic Combination, Plastic with Plastic Double Combination of Hinge System
No Unhinging Clamping Lever Die-Cast Aluminium with Catch

‘] I N e

Hinge System with Combination Hinge Inside Hinge Light-Duty Metal, Die-Cast Zinc with Oblong
Adjustable Friction of Stainless Steel Element No Unhinging Holes, No Unhinging

Sealings and cover profiles

P A A B

Cover Profiles Cover and Lining Cover Profile 16 NBR Cover Profiles Sealing Strip
Profiles

172 ROLLCO



ACCESSORIES 6 & 5 OVERVIEW

Uniblock

Compact Door Lock

&

Ball Catch

o

Fastening elements

o Ca

Uniblock Spacer Mounting Pad / Clamping Pad Panel Bracket Earthing Strap

v

Compact Double
Door Lock

Ball Catch Mounting
Bracket

Multiblock

Door locks and catches

» 9

Door Lock PROe Emergency Door Bar
Lock Opener

’i ’\

Magnetic Catch Door Latch

=k

ROLLCO

173



PROFILE CAPS 6 &5

S9110SS9IDY

Aluminium Profile Caps 6 5

Use to cover the profile ends.
Material: Plastic (PA), fibreglass-reinforced.

o [ =

- 3,0

PA4015 Cap 10 x 20 5
PA4020 Cap 10 x 40 = 2,5 5
PA4025 Cap 20 x 20 - 2,5 5
PA4030 Cap 20 x 40 = 2,5 5
PA4035 Cap 20 x 60 - 2,5 5
PA4050 Cap R20 90° = 2,5 S
PA4045 Cap 40 x 40 - 2,5 5
PA4040 Cap 80 x 20 = 2,5 S
PA3005 Cap 30 x 12 - 3 6
PA3020 Cap 30 x 120 = Y 6
PA3010 Cap 30 x 30 - 3 6
PA1217 Cap 30 x 30 ESD Yes Y 6
PA3035 Cap 30 x 30 45° - 3 6
PA3015 Cap 30 x 60 = Y 6
PA3060 Cap R30 90° - 3 6
PA3025 Cap 60 x 60 = Y 6
PA3030 Cap 120 x 60 - 3 6

174 ROLLCO



ADJUSTABLE FEET 6 & 5

Threaded Rods for Hinged Knuckle Foot, Ball 15 (4]

Material: Galvanised / stainless steel

Pivoting range of ball-and-socket joint: + 20°
The lock nut is contained in the package.

40 6 5

Pz5M6 Threaded Rod, Stainless steel M6 x 15

pPz5m7 Threaded Rod Galvanised steel M6 x 30 14 7.5
Pz518 Threaded Rod Galvanised steel M8 x 25 14 7.5
PzZ5119 Threaded Rod, Stainless steel M8 x 25 14 7,5
Pz5120 Threaded Rod Galvanised steel M8 x 40 14 7.5
Pz5121 Threaded Rod, Stainless steel M8 x 40 14 7,5
pPz5122 Threaded Rod Galvanised steel M8 x 80 14 7.5
Pz5123 Threaded Rod, Stainless steel M8 x 80 14 7,5
Pz5124 Threaded Rod Galvanised steel M10 x 45 14 7.5
Pz5125 Threaded Rod, Stainless steel M10 x 45 14 7,5
Pz5126 Threaded Rod Galvanised steel M10 x 70 14 7.5
pPz5127 Threaded Rod, Stainless steel M10 x 70 14 7,5
pPz5128 Threaded Rod Galvanised steel M10 x 90 14 7.5
Pz5129 Threaded Rod, Stainless steel M10 x 90 14 7,5
Pz5130 Threaded Rod Galvanised steel M10 x 125 14 7.5
PZ5131 Threaded Rod, Stainless steel M10 x 125 14 7,5
pPz5132 Threaded Rod Galvanised steel M10 x 150 14 7.5
Pz5133 Threaded Rod, Stainless steel M10 x 150 14 7,5
pPz5134 Threaded Rod Galvanised steel M12 x 45 14 7.5
Pz5135 Threaded Rod, Stainless steel M12 x 45 14 7,5
Pz5136 Threaded Rod Galvanised steel M12 x 66 14 7.5
pPz5137 Threaded Rod, Stainless steel M12 x 66 14 7,5
pPz5138 Threaded Rod Galvanised steel M12 x 100 14 7.5
Pz5139 Threaded Rod, Stainless steel M12 x 100 14 7,5
Pz5140 Threaded Rod Galvanised steel M12 x 125 14 7.5
Pz5141 Threaded Rod, Stainless steel M12 x 125 14 7,5
pPz5142 Threaded Rod Galvanised steel M12 x 150 14 7.5
Pz5143 Threaded Rod, Stainless steel M12 x 150 14 7,5
pPz5144 Threaded Rod Galvanised steel M16 x 66 17 7.5
Pz5145 Threaded Rod, Stainless steel M16 x 66 17 7,5
pPz5146 Threaded Rod Galvanised steel M16 x 100 17 7.5
Pz5147 Threaded Rod, Stainless steel M16 x 100 17 7,5
pPz5148 Threaded Rod Galvanised steel M16 x 125 17 7.5
Pz5149 Threaded Rod, Stainless steel M16 x 125 17 7,5
Pz5150 Threaded Rod Galvanised steel M16 x 150 17 7.5
PZ5151 Threaded Rod, Stainless steel M16 x 150 17 7,5
Pz5152 Threaded Rod Galvanised steel M16 x 200 17 7.5
Pz5153 Threaded Rod Stainless steel M16 x 200 17 7,5

2
a
0
7]
7]
o
=
[}
(7]

ROLLCO

175



ADJUSTABLE FEET 6 & 5

Ball Head 15 with Female Thread @ 40 6 5

Directly links knuckle feet by means of a standard screw.
For hinged steel/stainless steel knuckle feet
Material: Galvanised/stainless steel: 1.4305

g =

>

0

0

[0}

(7]

(7]

9
PZ5154 Ball 15 6x10 Galvanised steel
PZ5155 Ball 15 6x10 Stainless steel
PZ5156 Ball 15 8x10 Galvanised steel
PZ5157 Ball 15 8x10 Stainless steel

176 ROLLCO



ADJUSTABLE FEET 6 & 5

Base for Hinged Knuckle Feet, Ball 15 40 6 5

Pivoting knuckle foot for levelling out uneven floors; no mounting hole.
Matching threaded rod: Threaded rod for hinged knucklefoot, ball 15

YYY Y

cvtionJovmin] i [0 | S

>
PZ5158 Plate 30 Black plastic (PA) §
PZ5159 Plate 30 Black plastic (PA) with absorber plate 29 500 - %
PZ5160 Plate 30 Stainless steel (1.4305) 29 2000 Yes %‘
PZ5161 Plate 30 Die-cast zinc with a black powder coat 29 2000 - =
PZ5162 Plate 40 Black plastic (PA) 39 900 -
PZ5163 Plate 40 Black plastic (PA) with absorber plate 39 900 -
PZ5164 Plate 40 Black plastic (PA) with absorber plate 39 900 Yes
Pz5165 Plate 40 Stainless steel (1.4305) 39 3000 Yes
PZ5166 Plate 40 Die-cast zinc with a black powder coat 39 3000 -
PZ5167 Plate 45 Black plastic (PA) 44 900 -
PZ5168 Plate 45 Black plastic (PA) with absorber plate 44 900 -
PZ5169 Plate 50 Black plastic (PA) 49 900 -
PZ5170 Plate 50 50 Black plastic (PA) with absorber plate 49 900 -
PZ5171 Plate 50 50 Black plastic (PA) with absorber plate 49 900 Yes
PZ5172 Plate 60 Black plastic (PA) 59 900 -
PZ5173 Plate 60 Black plastic (PA) with absorber plate 59 900 -
PZ5174 Plate 60 Black plastic (PA) with absorber plate 59 900 Yes
Pz5175 Plate 60 Stainless steel (1.4305) 59 3500 Yes
PZ5176 Plate 60 Die-cast zinc with a black powder coat 59 3000 -
PZ5177 Plate 80 Black plastic (PA) 79 900 -
PZ5178 Plate 80 Black plastic (PA) with absorber plate 79 900 -
Pz5179 Plate 80 Stainless steel (1.4305) 79 3500 Yes
PZ5180 Plate 80 Die-cast zinc with a black powder coat 79 3000 -
PZ5181 Plate 80 Black plastic (PA) with absorber plate 79 900 Yes
PZ5182 Plate 100 Black plastic (PA) 99 900 -
PZ5183 Plate 100 Black plastic (PA) with absorber plate 99 900 -

ROLLCO 177



ADJUSTABLE FEET 6 & 5

Trapezoid Base for Hinged Knuckle Feet, Ball 15 40 6. 5

Pivoting knuckle foot for levelling out uneven floors.
Material: Die-cast zinc with a black powder coat
Matching threaded rod: Threaded rod for hinged knuckle foot, ball 15

& [ [
' a0 |

5 pPzZ5184 Trapezoid base for hinged knuckle feet 2500
(1] A .
@ P75185 Trapezoid bgse for. hlpged knuckle feet 60 59 18 2500
o with anti-slip plate
=
3 PZ5186 Trapezoid base for hinged knuckle feet 80 79 20 3000

p75187 Trapezoid bgse for. hlnged knuckle feet 80 79 20 2000

with anti-slip plate
Square Base for Hinged Knuckle Feet, Ball 15 40 6. 5

Pivoting knuckle foot for levelling out uneven floors.
Material: Die-cast zinc with a black powder coat
Matching threaded rod: Threaded rod for hinged knuckle foot, ball 15

PZ5188 Square base for hinged knuckle feet 29.5 59 x 59 2500

P75189 Square ba§e for h|nged knuckle feet 60 295 59 x 59 2500
with anti-slip plate

PZ5190 Square base for hinged knuckle feet 80 29.5 79 x 79 3000

P75191 Square ba§e for hlnged knuckle feet 80 295 79 x 79 2000
with anti-slip plate

PZ5192 Square base for hinged knuckle feet 100 29.5 99 x 99 3500

P75193 Square base for hinged knuckle feet 100 295 99 x 99 3500

with anti-slip plate

178 ROLLCO



ADJUSTABLE FEET 6 & 5

Base 40 with Arm, Ball 15 40 6 5

Pivoting knuckle foot for levelling and reliable floor mounting

Material: Plastic (PA), glass bead-reinforced

Colour: Black

Carrying capacity: 600 kg

Matching threaded rod - threaded rods for hinged knuckle foot, ball 15.

@ 4

>

(2}

(2]

&

:

PZ5194 Base with arm 29,5 32,5 335 o
Threaded Rod for Steady Knuckle Feet for Levelling 40 6 5

Material: Galvanised / stainless steel
Pivoting range: * 4°
The lock nut is contained in the package.

,./ = H@

Pz5195 Threaded rod Galvanised steel M12 x 66

Pz5196 Threaded rod Stainless steel M12 x 66 770 22 16
pPz5197 Threaded rod Galvanised steel M12 x 100 770 22 16
Pz5198 Threaded rod Stainless steel M12 x 100 770 22 16
PZ5199 Threaded rod Galvanised steel M12 x 125 770 22 16
PZ5200 Threaded rod Stainless steel M12 x 125 770 22 16
Pz5201 Threaded rod Galvanised steel M12 x 150 770 22 16
Pz5202 Threaded rod Stainless steel M12 x 150 770 22 16
Pz5203 Threaded rod Galvanised steel M16 x 66 1450 22 16
Pz5204 Threaded rod Stainless steel M16 x 66 1450 22 16
PZz5205 Threaded rod Galvanised steel M16 x 100 1450 22 16
PZ5206 Threaded rod Stainless steel M16 x 100 1450 22 16
Pz5207 Threaded rod Galvanised steel M16 x 125 1450 22 16
Pz5208 Threaded rod Stainless steel M16 x 125 1450 22 16
Pz5209 Threaded rod Galvanised steel M16 x 150 1450 22 16
PZ5210 Threaded rod Stainless steel M16 x 150 1450 22 16
Pz521 Threaded rod Galvanised steel  M16 x 200 1450 22 16
Pz5212 Threaded rod Stainless steel M16 x 200 1450 22 16
Pz5213 Threaded rod Galvanised steel  M16 x 250 1450 22 16
Pz5214 Threaded rod Stainless steel M16 x 250 1450 22 16

ROLLCO 179



ADJUSTABLE FEET 6 & 5

S9110SS9IDY

Base for Steady Knuckle Feet 40 6 5

Steady knuckle foot for levelling out uneven floors; no mounting holes.
Material: Plastic (PA), fibreglass-reinforced

Colour: Black

Matching threaded rod: Threaded rod for steady knuckle feet for levelling

LB B

PZ5215 Base for steady knuckle feet 1200
PZ5216 Base for steady knuckle feet with anti-slip plate 50 49 1200
Pz5217 Base for steady knuckle feet 60 59 1200
Pz5218 Base for steady knuckle feet with anti-slip plate 60 59 1200
PZ5219 Base for steady knuckle feet 80 79 1200
Pz5220 Base for steady knuckle feet with anti-slip plate 80 79 1200
pPz5221 Base for steady knuckle feet 100 99 1200
pPz5222 Base for steady knuckle feet with anti-slip plate 100 99 1200
Trapezoid Base for Steady Knuckle Feet 40 6 5

Steady knuckle foot for levelling out uneven floors.
Material: Die-cast zinc with a black powder coat
Matching threaded rod: Threaded rod for steady knuckle feet for levelling

® .

PZ5223 Trapezoid base for steady knuckle feet 2500

Trapezoid base for steady knuckle feet

pPz5224 : L 60 59 18 2500
withanti-slip plate

pPz5225 Trapezoid base for steady knuckle feet 80 76 20 3000

P75226 Trapezoid base for steady knuckle feet with 80 76 20 2000

anti-slip plate

180 ROLLCO



ADJUSTABLE FEET 6 & 5

Floor Mount for Trapezoid Base 40 6 5

Now or later mounts the trapezoid knuckle foot on the floor.
Material: Die-cast zinc with a black powder coat

PZ3135 Floor mount for trapezoid base 60 5
PZ1455 Floor mount for trapezoid base 80 70 76,5 38 14 20 150 g
o
=
7]

Absorber Plate for Hinged Knuckle Feet 40 6 5

Prevents knuckle feet from slipping on smooth industrial floors and absorbs vibrations.
Material: Thermoplastic elastomer ~ 70 shore A
Properties: Oil and water resistant (up to 60 °C)

. | 210

Designation

PZ1460 Absorber plate for base 30 20
PZ1465 Absorber plate for base 40 30
PZ5071 Absorber plate for base 45 35
PZ3140 Absorber plate for base 60 50
PZ1470 Absorber plate for base 80 68
PZ1475 Absorber plate for base 80 Fixed 68

ROLLCO 181



ADJUSTABLE FEET 6 & 5

Adjustable Levelling Foot 6

Compact levelling knuckle foot that mounts on aluminium profiles.
Material: Housing: Plastic (PA), fibreglass-reinforced
Mechanism: Galvanised steel. Carrying capacity: 150 kg

Mk

b3

>
[2]
(2]
o
n
0
<)
=
0
(7]

o)

R o

PZ5109 Adjustable levelling foot 35-50 B=20.5

Height-Adjustable Floor Angle 6

Creates a height-adjustable link between aluminium profiles and the floor.
Package includes the adjustment screw and threaded plate.
Material: Die-cast zinc

Note: To install the ESD-ready floor angles, use a notched slot nut in order to make aconductive link.

JJ -

LxHxW

Pz5021 Height-adjustable floor angle 120 x 45 x 28 Uncoated 2500
PZ3081 Height-adjustable floor angle 120 x 45 x 28 6 Black powder coated 2500 -

Fildix

182 ROLLCO



ADJUSTABLE FEET 6 & 5

Floor Bracket 18x140 5

To securely fix aluminum profiles to the floor.
Material: Aluminium

>
0
0
0]
n
173
o
=
]
0

PZ5236 Floor Bracket 1 slot version

Base Plate 6 5

For retaining knuckle feet, rollers, hooks or similar components.
Screws to the face end of profiles.
Material: Die-cast zinc with a black powder coat.

Recommended screws:
¢ D5.5 = galvanised M5 x 30 screw (DIN912)

¢ D7 = galvanised M6 x 30 screw (DIN912)
| hJ@ 'S

e o BB

_-r_"._.|

PZ4015 Base plate 40 x 40 (slot 5) 5.5 (M5)

PZ4020 Base plate 20 40 x 40 (slot 5) 5.5 (M5) 12 M12
PZ4025 Base plate 20 40 x 40 (slot 5) 5.5 (M5) 12 M16
Pz2315 Base plate 30 30 x 60 7 (M6) 12 M10
PZ3020 Base plate 30 30 x 60 7 (M6) 12 M12
PZ3025 Base plate 30 30 x 60 7 (M6) 12 M16
PZ3035 Base plate 30 30 60 x 60 7 (M6) 12 M10
PZ3040 Base plate 30 30 60 x 60 7 (M6) 12 M12
Pz3045 Base plate 30 30 60 x 60 7 (M6) 12 Mi16

ROLLCO 183



CASTORS 6 & 5

Steering Castor 40 6 5

The castors run extremely smoothly.
Particularly gentle to the floor.
Oil-resistant for use in workshops.
Suitable for ESD-sensitive areas.
Conductive material variant.

‘? Particularly gentle to the floor
; Oil-resistant for use in workshops

@ Suitable for ESD-sensitive areas. Conductive material variant.

¢'>; Fiddi Fildi
[2] F i
]
I
7]
o
=4
[
17 ] *
e sl e
Lockable steering castor Steering castor

S X P Y

Thermoplastic rubber wheel,

PZ5073 contains oil w. lock
P75072 Thermoplastic_rubb_er wheel, 75 n o8 29 750 o5
contains oil

PZ5075 thermoplfsitriT:: (rl:ﬁf:;er w. lock JP 80 13 108 39 800 32
PZ5076 thermigrllaétpiﬁ)l:ubber o 80 13 108 39 800 32
PZ5077 thermoplgtri“c (rzﬁ)k;er w. lock » 100 13 133 39 1000 32
PZ5078 thermimagtpiﬁ)r'ubber o 100 13 133 39 1000 32
PZ5079 thermoplfsitinl (rzﬁi)'er w.lock » 125 13 158 39 1000 32
PZ5074 thermig‘agf@r’ubber » 125 13 158 39 1000 32
PZ5080 Chemif;:gfroersciifaifw ok = 100 13 133 39 1200 32
PZ5081 chsrfwi;;c”ﬁgsmént = 100 13 133 39 1200 32
PZ5082 chemif;:gffefiifaifw lock = 125 13 158 39 1200 32
PZ5083 Cheﬁ?g:[;‘iggiﬁént = 125 13 158 39 1200 32
s Jlemevlmcnberel @y v e om0 w
P75085 Thermoplastic rubber wheel, -':.E:':l 75 n o8 29 500 22

conductive thread guard

184 ROLLCO



CASTORS 6 & 5

T B ) T T ) T Y

Thermoplastic rubber wheel,

PZ5086 conductive thread guard w. lock ':E:'

PZ5087 T e e e ) 80 13 108 39 650 32
PZSOS8  niuiveshreadouard wilock (&) 100151339 700 32
PZ5089 Thceggzi'ajteictg;‘fa%egL"j"ahrze" ) 100 13 133 39 700 32
PZSO90 e thread guard w lock (&) 12515 158 39 780 32
PZ5091 Thermoplastic rubber wheel, {al 125 13 158 29 780 22

conductive thread guard

>
0
0
0]
n
173
o
=
]
0

ROLLCO 185



CASTORS 6 & 5

>
(2]
(2]
[}
n
173
o
=4
[}
n

Heavy-Duty Castor 40 6. 5

Heavy-duty castor with fitted flange.

Sold as lockable and non-lockable steering castor and fixed castor.
Particulary sturdy for use in workshops.

The castors run extremely smoothly.

Material: Galvanised steel; transparent chromate coating; Wheel: TPU

Required accessories:
* MI10x%16 screw (ISO4762), A10.5 washer (DIN125),
1FSt lock washer for fastening the castor on the mounting plate.
« Hammer head screw, flanged nut, M12 or S12 centre bolt for
fastening themounting plate on the profile frame.

e

3
B
b=l
m

Designation

PZ5231 Lockable steering castor 3000
PZz5232 Steering castor 3000
PZ5233 Fixed castor 3000




CASTORS 6 & 5

Castor with Fitted Flange 40 6 5

Sturdy castors with fitted flange.

Run very smoothly and are a particularly good choice for workshops.

Sold as lockable steering castor and fixed castor.

Lockable steering castor: locks to prevent the wheel from rolling and turning
Material: Wheel: Solid rubber; rim: polypropylene;

Housing: Galvanised steel sheet; transparent chromate coating

" £

Steering castor

>
0
0
0]
n
173
o
=
]
0

Fixed castor

Fixed castor

Designation Description — 7 - - a L . = e - -
Al oo | mm) | mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm)
700 100 125 80 100 60 85 30 9

PZ5099 Steering Castor - 36
PZ5100 Steering Castor Yes 1000 125 150 80 100 60 85 37,5 9 40
PZ5101 Fixed Castor - 750 75 98 - - - - 25 n -
PZ5102 Fixed castor = 750 75 98 = = = = 25 n =
PZ5103 Fixed castor - 700 100 125 80 100 60 85 30 9 -
PZ5104 Fixed castor - 1000 125 150 80 100 60 85 375 9 =

ROLLCO 187



CASTORS 6 & 5

Plastic Double Castor 40 6 5

Double castor that carries up to 75 kg.
Optional: ESD-ready and locking variant.

Base plates allow installation in the core pulling.
Colour: Black

Wheel with thermoplastic polyurethane tread
Bearing: Friction bearing

@o

75

>
(2]
(2]
[}
n
173
o
=4
[}
7

Wheel Width (mm) F (N)
750

PZ5105 Plastic double castor - 2 x15

PZ5106 Plastic double castor Yes 75 2 x15 750
PZ5107 Plastic double castor with wheel stopper - 75 2x15 750
PZ5108 Plastic double castor with wheel stopper Yes 75 2 x15 750
Levelling Castor 40 6. 5

Steerable levelling castor.

Simply push the stop lever to turn the castor into a stable foot pad.
Easy to handle due to the lever’s stop position.

Much ground clearance when moving.

Easy foot operation by lever.

Carrying capacity: 300 kg

Housing: Electrolytically galvanised steel, blue passivated,

free from Cr6

Wheel: PAG, natural white

]

pPz5234 Levelling castor with integrated locking pad, polyamide wheel

188 ROLLCO



HANDLES 6 &5

Bow Handle 40 6 5

Mounts on doors, flaps and aluminium profiles.
Material: Plastic (PA), fibreglass reinforced
On-site mount: By cheese head screw at the front and screw/nut at the back.

>
0
0
0]
n
173
o
=
]
0

PZ1565 Bow handle 120 E PA 26 x 40 x 140
PZ1585 Bow handle 160 E PA 28 x 53.5 x 166
i
ROLLCO

189



HANDLES 6 & 5

S9110SS9IDY

Handle 40 6 5

Mounts on doors, flaps and aluminium profiles.

Material: Plastic (PA), fibreglass reinforced.

Colour: Black (other colours available on inquiry).

On-site mount: by cheese head screw at the front and screw/nut at the back.
Cap: Clips on to the handle

~ L

¥
s [#1 1
e T =

A

130

. =

Pz4075 Handle PA 80
PZ1580 Handle PA 120
pPz1577 Cap for handle PA120
PZ1570 Handle PA 160
PZ1575 Cap for handle PA160

190 ROLLCO



HANDLES 6 &5

Handle AL 40 6 5

Stable aluminium handles.
Use the bent variant to minimise the risk of crushing.
For sliding and swing doors.

"

— g

| 1o | i, | ki) | -
S Thrwad I o M5 ihei W Seg

>
0
0
0]
n
173
o
=
]
0

PZ1590 Handle AL120

PZ1595 Handle AL120, bent

PZ1600 Mounting kit for handle AL120, 2 lugs 120 GD-ZN, 2 M5 x 10 countersunk screws (DIN7991)
Light-Duty Handle AL 40 6 5

Slim aluminium handle.

For general use.

Material: Anodised aluminium

Ons-site mount: concealed M5 screws at the back

Iy Thiead
£ B @"I"\ﬂﬁ

L l&l

PZ1605 Light-duty handle AL

ROLLCO 191



ANGLES AND BRACKETS 6 & 5

S9110SS9IDY

Brackets

Various bracket sizes and models are available. Mount both in the slot and on straight surfaces (break off the
centring lug). Dirt protection cap.

Mounts easily without having to machine the profile. Slot nuts with a guide step make mounting the brackets
easier.

Note: To install the ESD-ready brackets, use a notched slot nut in order to make a conductive link.
The caps in the sets are not ESD-readly.
1] q 1

Loz

— /

Bracket 20 x 20 5

Material: Bracket: Die-cast zinc, uncoated and silver powder coated.
Cap: Black plastic (PA)
Mounting kit: Galvanised steel

Mounting material:
e« 2x M5 slot 5 slot nuts with step
e 2x M5 x 8 screw (DIN 6912)

17
==

| 55
= -
"\.I.-' | =
(| Fmax (N) Mmax 1 (Nm) Mmax 2 (Nm)
| — ]
i 500 5 15
e = N Y T
PZ5005 Bracket 20 x 20
PZ5006 Bracket 20 x 20 with mountingmaterial and ABDK 5 Yes
PZ5007 Bracket 20 x 20 silver powder coated with mounting material and ABDK 5 -
PA1203 Cap 20 x 20 -

192 ROLLCO



ANGLES AND BRACKETS 6 & 5

L\

Bracket 40 x 40

Material: Bracket: Painted die-cast zinc, white aluminium (RAL9005)
Cap: Black plastic (PA)
Mounting kit: Galvanised steel

i
[

LE

l - ﬂ—l-

F =1

PZ5008 Bracket 40 x 40 painted silver white aluminium (RAL9006) 5 -

Bracket 40 x 40 painted silver white aluminium

PZEOOL (RAL9006) plus mounting material and ABDK & .
PA1204 Cap 40 x 40 -
Bracket 30 x 30 L“KJ
(e
Material: Bracket: Die-cast zinc, uncoated and silver powder coated.
Cap: Black plastic (PA)
Mounting kit: Galvanised steel
Mounting material:
e 2x M6 slot 6 slot nuts with step
e 2% M6 %X 14 screw (DIN 7380)
55
R A-A
e
|
4 |
| = -4
2
& 1j Fmax (N) Mmax 1 (Nm) Mmax 2 (Nm)
_...i G o
. 800 15 40
PZ5001 Bracket 30 x 30 6 -
PZ5002 Bracket 30 x 30 with mounting material and ABDK 6 -
PZ5003 Bracket 30 x 30 silver powder coated with mounting material and ABDK 6 Yes
PA1202 Cap 30 x 30 =

>
a
a
0]
(7]
173
o
=
[0}
0

ROLLCO 193



ANGLES AND BRACKETS 6 & 5

S91I0SS9IIY

Bracket 30 x 60 6

Material: Bracket: Uncoated die-cast aluminium
Cap: Black plastic (PA)
Mounting kit: Galvanised steel

Mounting kit includes:

e 4x slot nut with M6 step

e 4x M6x%14 screw (ISO7380 )
e 4x washer (DIN 125)

11

Ly

o e i

Pz5004 Bracket 30 x 60 with mounting material and ABDK

194 ROLLCO



ANGLES AND BRACKETS 6 & 5

Bracket 60 x 60 6

Material: Bracket: Uncoated die-cast zinc
Cap: Black plastic (PA)

Slot 6 mounting material:

e 8% M6 slot 6 slot nuts with step
¢ 8x M6 x 14 screw (DIN 7380)

¢ Slot 12 mounting material:

e 8x M8 slot 12 slot nuts with step
* 8x washer (DIN 125)

¢ 8x M8x28 screw (DIN7380 )

A-A
5
Fmax (N) Mmax 1 (Nm) Mmax 2 (Nm)

] G 2000 100 120
PZ5010 Bracket 60 x 60 6/12 -
PZ501 Bracket 60 x 60 with mounting material and ABDK 6 Yes
Pz5012 Bracket 60 x 60 silver powder coated with mounting material and ABDK 6 -
PA1205 Cap 60 x 60 =
PZ5013 Bracket 60 x 60 with mounting material and ABDK 12 Yes

>
0
0
0]
n
173
o
=
]
0

ROLLCO 195



ANGLES AND BRACKETS 6 & 5

S9110SS9I0Y

Corner Angles

Right-angled links between up to three square or semi-circular profiles of the same cross section.Square or
round caps for protection against injury and dirt.

Material: Corner angle: Uncoated die-cast zinc
Caps: plastic (PA).

Note: The caps in the sets are not ESD-ready.

Corner Angle 20 5

I!ﬁ-

A-A

ﬂ o) m

PzZ5014 Corner angle 20 including 3 M5 x 12 screws (ISO 7380)

PZ5015 Corner angle 20 including 3 M5 x 12 screws (ISO 7380) 5 Yes 12
and square black cap

P75016 Corner angle 20 including 3 M5 x 12 screws (ISO 7380) 5 Yes 12
and round black cap

PA1206 Round black cap -

PA1207 Square black cap -

196 ROLLCO



ANGLES AND BRACKETS 6 & 5

Corner Angle 30 6

& B5u]

pPzZ5017 Corner angle 30 including 3 M6 x 16 screws (ISO 7380)
Corner angle 30 including 3 M6 x 16 screws (ISO 7380)

P and square black cap @ VES 0
Corner angle 30 including 3 M6 x 16 screws (ISO 7380)

PZ5018 and square grey cap (RAL7004) 6 Yes 40

P75298 Corner angle 30 including 3 M6 x 16 screws (ISO 7380) 6 Yes 40

and round black cap

PA1208 Round black cap 6

PA1209 Square black cap 6

PA1210 Square grey cap (RAL7004) 6

Machining of corner angles Profile 20x20 Profile 30x30

Thread (M) M5 M6

Depth (T) 25 mm 25 mm

>
0
0
0]
n
173
o
=
]
0

ROLLCO 197



ANGLES AND BRACKETS 6 & 5

S91I0SS9IIY

Articulated Brackets 6 5

Links two aluminium profiles at various angles.
The bearing bush ensures unrestricted rotation even when mounted.
Material: Die-cast zinc

Note: To install the ESD-ready brackets, use a notched slot nut in order to make a conductive link.

= w0
Lan ) o
3 5
A B

% B 7 ‘;

Articulated bracket 20 Articulated bracket 30

Articulated bracket 20, aluminium coloured with
PZ4170 M5 slot 5 slot nut, 1x M5 x 8 screw (ISO7380),
1x M5 x 10 flanged fillister head screw, 1x bearing bush

o v

18

PZ5019 Articulated bracket 30, uncoated for M6 screw Yes 800

PZ3085 Articulated bracket 30, aluminium coloured for M6 screw 800

198 ROLLCO



ANGLES AND BRACKETS 6 & 5

Clamping Bracket 6

Simple and reliable link between intersecting profiles.
Bracket with clamping lever for variable use.

Sets to any angle.

Material: Aluminium coloured die-cast zinc

¥
LR
-T
LBl
#n
g

>
a
0
0]
n
173
o
=
[0}
0

k]

| 11
Clamping bracket 30 Clamping bracket 30 with clamping lever
PZ3090 Clamping bracket 30 6 800 200
PZ3095 Clamping bracket 30 with clamping lever 6 600 100
Angle Joint 5

Easily links two aluminium profiles at a 45° angle using a M8 screw.

Note: To install the ESD-ready brackets, use a notched slot nut in order to make a conductive link.

=55

Angle joint 20 Angle joint 40/20
Pvi2n Angle joint 20 45° 5 Uncoated die-cast zinc
PV1212 Angle joint 20 45° 5 Aluminium coloured die-cast zinc
PV1213 Angle joint 40/20 45° 5 Uncoated die-cast zinc Yes
PV1214 Angle joint 40/20 45° 5 Aluminium coloured die-cast zinc

ROLLCO 199



ANGLES AND BRACKETS 6 & 5

Angle Element 6

Connecting element for mounting a profile at a 45° angle when building
intersections or trusswork.

Use the angle element with a universal connector.

Use caps Slot 6 30 x 30, 45°,

Material: Anodised aluminium

Note: Use a notched slot nut to ensure that the connection is ESD-ready.

Bragls: wigerenis T1 drale e T2

Mgl bk P P e Bl T 10 a1
Piwhw Tl LA
B Urdmrid! coaras izt § Mt b Flol bed s [0 T ORI

B Urtemrail [oyracior &

S91I0SS9IIY

oo ol

PZ3210 Angle element T1-30 6

PZ3215 Angle element T1-60 6 Yes
PZ3220 Angle element T2-30 6 Yes
PZ3225 Angle element T2-60 6 Yes

200 ROLLCO



ANGLES AND BRACKETS 6 & 5

Angle Plate, Steel 6 5
Links two aluminium profiles at a right angle.
Note: To install the ESD-ready angles, use a notched slot nut in order to make a conductive link.

Mounting material On-site construction:
¢« Angle 20: M5 x 8 countersunk screw (DIN7991), M5 slot 5 slot nut
¢ Angle 30: M6 x 10 countersunk screw (DIN7991), M6 slot 6 slot nut

L

L '__. — P P

-

—]

il

e e B0

pPz4045 Angle Plate 20 x 20 Black powder coated steel
PZ3060 Angle Plate 30 x 30 Steel, blue galvanised Yes 1000 25
PZ3050 Angle Plate 30 x 30 Black powder coated steel 1000 25

Mounting Angle 40 6 5

Variable angles for mounting components.
Oblong holes provide a wide range of position and angle adjustment. Use up to M6 screws to attach them.
Material: Black die-cast zinc

He s
I

]
e

= =
3
gl

PZ1920 Mounting angle

PZ1925 Mounting angle 60 40 33 13
PZ9020 Mounting angle 60 60 33 33
PZ1935 Mounting angle 80 40 53 13

>
0
0
0]
n
173
o
=
]
0

ROLLCO 201



S9110SS9I0Y

Tie Plates 6. 5
Links two aluminium profiles.

Note: To install the ESD-ready tie plates, use a notched slot nut in order to make a conductive link.

",ﬁb\ Tie plate loads
-

Size F1(N) F2 (N)
20x40 250 300
20x80 350 400
30x60 400 550
30x60 700 800
30x60 700 800

B

I 1] H

e

st B

i |

Tt

. . o B L H D L1 Recomended

Tie plate 20 x 40 mm;
PV1215 Black powder coated 20 40 3 5,5 20 1SO7380 M5x8
steel

Tie plate 20 x 40 mm;
PV1216 Nickel-plated aluminium, Yes 18 38 4 55 20 1ISO7380 M5x8
matt

Tie plate 20 x 80 mm;
PV1217 Nickel-plated aluminium, Yes 18 78 5 5,5 20 1ISO7380 M5 x 8
matt

Tie plate 30 x 60 mm;

PV1218 Nickel-plated aluminium, 27 57 5 7 30 1ISO7380 M6x%12
matt
Tie plate 30 x 60 mm; Countersink
PZ3055 Black powder coated 30 60 3 DIN74-Am6 30 1ISO7991 M6 % 10

Tie plate 30 x 60 mm;

PV1219 galvanised steel

Yes 30 60 3 n 30 ISO7380 M6 x 10

202 ROLLCO



SLIDING TOOL HANGERS AND RUNNERS 6 & 5

Snap Hook & Sliding Tool Hanger 6

Hang your tools and clear up your bench.

Cost-effective solution for sliding tool hangers.

Slides in the profile slot.

Slot nut can be used as stopper.

Material: Slide: Plastic (PA); fibreglass-reinforced / galvanised steel

ﬁ‘ =

|‘

|_'.l"l
= PR E

>
0
mm :
7]
PZ1245 Snap hook Galvanised steel 8
=
PZ5110 Snap hook 80 Stainless steel 3
PZ1250 Sliding tool hanger 6 Plastic (PA), fibreglass-reinforced 40
Runner 6. 5

Guides moving parts along the aluminium profile slot.
Material: Runner: Plastic (PA), glass bead-reinforced
Socket: Galvanised steel

Washer: Galvanised steel

#5.1

19
@15
]

]

Ll 1 L
PZ4060 Runner
Pz3245 Runner 6 29 250

ROLLCO 203



HINGES 6 & 5

Mini Plastic Hinge 20 5

On-site mount: by M5 x 10 countersunk screw and M5 slot 5 slot nut
Material: Wing: Plastic (PA), fibreglass-reinforced
Pin: Stainless steel

il
! iz
] rags
Flmas
aaial: Flsas

Pz4080 Mini plastic hinge 20

S9110SS9I0Y

Plastic Combination Hinge, No Unhinging 6

For surface elements and aluminium profiles.

Material: Wing = Plastic (PA), fibreglass-reinforced.

Pin = Stainless steel

On-site mount: M6 x 12 or M6 x 16 countersunk screw and slot nuts at the front

aaia: FARZ

PZ5024 Plastic combination hinge 30 x 30 175 /17,5 29,5
PZ5025 Plastic combination hinge 30 x 40 175/ 22,5 29,5/ 38,5 450 750

204 ROLLCO



HINGES 6 & 5

Plastic Hinge with Clamping Lever 6

For surface elements and aluminium profiles; can be locked at any point.
Material: Hinge & clamping lever: Plastic (PA), fibreglass-reinforced
Mechanism: Galvanised steel (RoHS-compliant)

Colour: Hinge: black powder coated

On-site mount: by M6 countersunk screw at the front

>
0
0
0]
n
173
o
=
]
0

W:
Filman

Al (mm) | A2 (mm) | B1(mm) | B2 (mm) FAmax (N) FRmax (N)

PZ5026 Hinge 30 x 30 17,5 17,5 29,5 29,5

Plastic Double Hinge 6 5

On-site mount: by M6 x 16 countersunk screw and M6 slot 8 slot nut.
Material: Wing: Plastic (PA), fibreglass-reinforced
Pin: Stainless steel

™ I —
ol
Ei
|
i | 5
LN
Nut 5 Nut 6
esgnation | oesrpton st |
PZ4085 Plastic double hinge 5
PZ3110 Plastic double hinge 6

ROLLCO 205



HINGES 6 & 5

Combination Hinge of Die-Cast Aluminium 6

For surface elements and aluminium profiles

Material: Wing: Die-cast aluminium; pin: Stainless steel

On-site mount: by M6 x 12 or M6 x 16 countersunk screws and slot nuts at the front
Mounting instruction: ESD-ready only if using notched slot nuts.

&l

S9110SS9I0Y

—T B | radsal B | radal

FiEas Filman
PZ5027 Combination aluminium hinge 30.30 17,5
PZ5030 Combination aluminium hinge 60.60 32,5 ns 100 400
Hinge System with Positioning Catch 6

For surface elements and aluminium profiles; with cap.

Catch keeps doors and flaps open at 85° or 175° or reliably shut.

Material: Housing = Plastic (PA), fibreglass reinforced; Pin = Stainless steel

On-site mount: Mount, slot 6: 4x M6 x 12 cheese head screw (DIN6912) 4x slot nut.
Colour: Black

% o

I it ol The L Wi "l'::!.:'u;:'wl
Bt e wriingy i | L] [ -
- e [ PR

wirwewr dred rasl

'n Faidsdl
Filman

Pz5314 Hinge system 30 with positioning catch

206 ROLLCO



HINGES 6 & 5

Hinge System with Adjustable Friction 6

For surface elements and aluminium profiles; catch holds doors and flaps at any angle.
Infinitely adjustable at O-5 Nm torque; can also be used to lift lightweight flaps.
Material: Wing = Plastic (PA), fibreglass reinforced; Pin = Stainless steel

On-site mount

Slot 6 mount: 4x M6 x 12 cheese head screw (DIN6912) 4x slot nut-

Colour: Black

adial: FAmas

Syt hivge B0

Hinge system 30 with

PZ5291 adjustable friction

Combination Hinge of Stainless Steel 5

To hinge panels or aluminum profiles.
Material: Wing: Stainless steel SS316, Axle: Stainless steel SS430 F
On site mount: From the front, using M4 countersunk screws

|I¢

FAmax FRmax Weight
Designation Description

Combination Hinge system 20,
stainless steel

Pz5235

>
0
0
0]
n
173
o
=
]
0

ROLLCO 207



HINGES 6 & 5

S91I0SS9IIY

Inside Hinge Element 6 5

For surface elements and aluminium profiles.
Lets you create your own combination of inside hinges.
To build a complete hinge: 2 x wing; 1 x pin, 2 X cap
Material: Wing = Anodised aluminium; Pin = Stainless steel
On-site mount: by M6 x 10 - M6 x 16 countersunk screw, slot 6 M6.
Mounting instruction: ESD-ready only if using notched slot nuts.
B | radial

I u )
=
i
FHmae

e e e B

B

]

it
i3

E
¥
—

P75315 Internal Hinge Set, Anodised 53
Slot 5 aluminium

PZ5316 g [Fge 52s,  Aneelsee Yes 30 195 @ 32 6.4 150 100
Slot 6 aluminium

208 ROLLCO



HINGES 6 & 5

Light-Duty Metal Hinge - No Unhinging 6 5

For surface elements and aluminium profiles.
Optional adjustment by the oblong holes make this hinge fit for slot rows 5-8.
Once mounted, the surface element pivots by 180°.

Mounting material included:

e 3 M5 x 8 screws (ISO 7380),

¢ 1M5 x 16 screw (DIN 903),

* 1M5 nut (DIN 934),

¢ 15.3 washer (DIN 125) - black galvanised (RoHS-compliant)

Slot nuts to be
provided on site

hh

D |ragal
Fiman
el FAma

PZ1555 Light-duty metal hinge Black powder coated steel

Die-Cast Zinc Hinge with Oblong Holes, No Unhinging 6

Directly links to frameless surface elements and, by creating an articulated link between two profiles,
allows surfaces with frames to connect to the base frame. No unhinging.
Material: Wing: Die-cast zinc with a black powder coat; Pin: Stainless steel
On-site mount

Note: Use a notched slot nut to ensure that the connection is ESD-ready.

0 | radeal
Fiman
derH

Pz3230 Hinge 30 1000

FARZE

Pz514 Hinge 30 6 350 1000

>
0
0
0]
n
173
o
=
]
0

ROLLCO 209



JOINTS 6 &5

S9110SS9I0Y

Joints

Joint with adjustable friction. Creates an articulated link between two profiles or surface elements; use the
screw to infinitely vary the joint’s friction resistance or to fasten the joint at a defined position.

Note: On-site mount.

Joint loads
I
= F1
Type F1(N) F2 (N)
Joint 20 500 200
Joint 30 6000 500
1] 5
[m i)
Do i e e
PZ4160 Joint 20 Aluminium coloured die-cast aluminium
PZ4161 Joint 20 with clamping lever 5/6 Aluminium coloured die-cast aluminium
Joint 30 6
b £ K ol |

s

ERaakis s ==k

] O%»
v et e e
Pz3200 Joint 30 Aluminium coloured die-cast zinc
PZ3205 Joint 30 with clamping lever 6 Aluminium coloured die-cast zinc

210 ROLLCO



SEALINGS AND COVER PROFILES 6 & 5

Cover Profiles 6

For covering slots. Prevents the profile slot from becoming dirty.
Flush with profile surface. Cables are firmly buried in the slot.
Material: Plastic (PP)

Designation Description “ Length (mm)

PZ1271 Cover profile, black RAL9005 6 2000 r)a’

0

PP3906 Cover profile, stamped in aluminium colour 6 2000 3

7]

PZ51M Cover profile, light grey RAL7035 6 2000 2

PZ5112 Cover profile, natural 6 2000 3
Cover and Lining Profiles 6.5

For covering slots and lining surface elements.

Clearance-free installation of surface elements up to 6 mm thick along the slot.
Cables are firmly buried in the slot.

Material: Plastic (PP & TPE)

Hut &

b.2

Designation Description ESD D m Length (mm) L2 (mm)

Pz4070 Cover and lining profile, black RAL9005 5 2000 L1+10
PA1214 Cover and lining profile, black RAL9005 Yes 5 2-3 2000 L1+10
PZ4065 Cover and lining profile, natural 5 2-3 2000 L1+10
PZ3075 Cover and lining profile, black RAL9005 6 2-4 2000 L1+17.5
PA1215 Cover and lining profile, black RAL9005 Yes 6 2-4 2000 L1+17.5
PAS5116 Cover and lining profile, light grey RAL7035 6 2-4 2000 L1+17.5
Pz3076 Cover and lining profile, natural 6 2-4 2000 L1+17.5

ROLLCO 211



SEALINGS AND COVER PROFILES 6 &5

S9110SS9I0Y

Cover Profile 16 5
Application: Suitable for covering profile surfaces. The rubber material provides a non-slip surface.
Material: NBR, black, hardness 70° Shore A, oil and water resistant

SZ1912S Cover Profile 16 x 2.2 60g/m

NBR Cover Profiles
For covering aluminium profiles.

Use as a non-slip cover on steps, as a footrest, stopper for sliding doors etc.
Material: Plastic (NBR)

Tl
im =

Ruth

PZ3901 NBR cover profile slot 6 6

212



SEALINGS AND COVER PROFILES 6 & 5

Sealing Strip 6 5

Holds and seals surface elements in the
slot.(Delivered on coil - sold by metres)
Material: Plastic (TPE)

>
0
0
0]
n
173
o
=
]
0

L

P4 GO LrE ]

PZ4150 Sealing strip Black L1+10
PZ3240 Sealing strip 6 Black 2-4 L1+15

ROLLCO 213



FASTENING ELEMENTS 6 & 5

S9110SS9I0Y

Uniblock 6 5

Fastening surface elements to aluminium profiles made easy.
Material: Pad: Plastic (PA), fibreglass-reinforced
Nut: Galvanised steel

L)

] - " 5
I
i ma
Ok "y
2 1+ ]O Q| O e
G =
A T ~ .
[ . |
H 4 & :
Slot 5 Slot 6
PZ5060 Uniblock 14 with M4 square nut 5
PZ5061 Uniblock 18 with M4 square nut 6
PZ5062 Uniblock 18 with M5 square nut 6
PZ5063 Uniblock 18 with M6 square nut 6
Uniblock Spacer 6 5

T ™ S N S

PzZ5300 Uniblock 14 5 spacer 1,0 mm 5
Pz5301 Uniblock 14 5 spacer 2,0 mm 5
PZ5302 Uniblock 14 5 spacer 3,0 mm 5
PZ5303 Uniblock 14 5 spacer 4,0 mm 5
Pz5304 Uniblock 18 6 spacer 2,0 mm 6
PZ5305 Uniblock 18 6 spacer 3,0 mm 6
PZ5306 Uniblock 18 6 spacer 5,0 mm 6

214 ROLLCO



FASTENING ELEMENTS 6 & 5

Mounting Pad / Multi Block 6

Fastening surface elements to aluminium profiles made easy.

The universal pads reliably fasten surface elements of any thickness to the slot.
Allows surface elements to be installed or removed later.

Made for high loads

Material: Pad: Plastic (PA); fibreglass-reinforced; Nut = Galvanised steel

. B T< >

0

0

o

7]

Nut & ]

—

b
S S T

PZ5115 Mounting pad with nut Black

Clamping Pad 6 5

For fastening surface elements to aluminium profiles without tools.
Material: Plastic (PA), fibreglass-reinforced
Clamping width: 1-9 mm surface elements

&

=

H

A3

Y T

PZ4115 Clamping pad Black 5
PZ5064 2 mm clamping pad spacer Black 5
PZ5065 3 mm clamping pad spacer Black 5
PZ5066 4 mm clamping pad spacer Black 5
) Traffic grey, similar to
PZ5067 Clamping pad RAL7042 5 4 1,6 3,6
PZ3165 Clamping pad Black 6 7 2,7 4,5
PZ5068 Clamping pad Traffic grey, similar to 6 7 2,7 45

RAL7042

ROLLCO 215



FASTENING ELEMENTS 6 & 5

>
0
(2]
0
n
0
o
=
0
(7]

Panel Bracket 40 6 5

Fastens the surface element on the profile without further changes.

Tightening the clamping screw fastens the collet to both the surface element and the profile.
Do not use for grids or wave grids.

For 2-9 mm surface elements.

Material: Die-cast zinc, aluminium coloured powder coat

Set: 1 panel bracket, M5 x 16 screw,

5 rubber pads for 2-9 mm plates

PR Ly

Ll 115
PZ5069 Panel bracket
Earthing Strap 40 6. 5

Creates a conductive link between surface elements and brace profiles.

Material: Stainless strip steel

Package includes: 1x M6 x 20 fillister head screw (DIN7380), galvanised, 1x M6 x 12 fillister head screw
(DIN7380), galvanised

Bk

o & &

PZ5070 Earthing strap with welded-on nut

216 ROLLCO



DOOR LOCKS AND CATCHES 6 & 5

Compact Door Lock 40 6

Easily and reliably locks doors and flaps.

Installs without drilling or other mechanical means.

Secured against disassembly when closed.

Material: Die-cast aluminium

Surface: Black powder coated

Extras: Upon request, the door locks are available with aluminium coloured powder coat.

o —————

PZ1633 Keyed alike compact door lock 8 and 10
PZ5040 Individually keyed compact door lock 8 and 10
Compact Double Door Lock 40 6

Easily and reliably locks doors and flaps. Installs without mechanical means; secured against
disassembly when closed.

Selective access by using a single post.

With separate slot fasteners for slot 8 and slot 10

Material: Die-cast aluminium

Surface: Black powder coated

Mount: By M6 cheese head or fillister head screw at the front

ik LD

PZ5041 Compact double door lock Alike
PZ5042 Compact double door lock 6/8 Individual 448

* Alike = identical keys for all locks. Individual = separate key for every door lock.

Combinations of matching size

Type Description Size
Posts C= 40
Door frames D1D2= 30/40

>
0
0
0]
n
173
o
=
]
0

ROLLCO 217



DOOR LOCKS AND CATCHES 6 & 5

S9110SS9IDY

Door Lock PROe 40 6

Everything in hand. Door lock PROe with safety function. Secures safety doors and flaps up to Cat. 4/Ple.
Fashionable, systematic design. Perfect choice for aluminium profiles.

PROe is a multifunctional door handle which secures and monitors guards such as doors and flaps of
machines and systems. It consists of a handle and a locking module fitted with the tried and tested transponder-
coded CES safety equipment supplied by EUCHNER. Using the transponder technology ensures a top safety
level in conformity with EN ISO 13849-1 (Cat.4/PLe) and demands that everything is absolutely manipulation-
proof.

The on-board CES AR data processor supports up to 20 PROe units connected in series. PROe features two
obviously placed LEDs for status indication and fast diagnosis. Its compact and symmetrical design makes
mounting on profiles easy and supports the use on doors hinged either on the left or right. The industry-
standard metal housing has a stable door stop and is perfectly fit for use in rugged environments. An M12
connector ensures convenience of hooking up. Turn it by 180° to accommodate for differently routed cables. A
lock protects PROe against being opened unintentionally. Easy and flexible installation without

mechanical effort.

Easily and reliably locks doors and flaps; secured against disassembly when closed.

Eight-pin M12 connector for doors hinged on the left or right; connector outlet at the top or bottom;
24 V system voltage;

UL-certified; tested to B6;

Safety category 4; PLe

Material: Die-cast aluminium

Surface: Black powder coated

Mount: By M6 cheese head or fillister head screw at the front

I3
:|".
|

- Y L

1 g it _

1, T -

dar . ]

i o

i PN

(| 1.4

T T

! +14

1. N i

Oaakadis6

PZ5043 Door lock PROe unicode Alike

Matching connector hardware

besation | oerpton | omn

PZ5044 Short-circuit plug M12, 4-pin, male
PZ5045 M12 Y junction with connecting lead M12, 1 x 8-pin; 2 x 5-pin
PZ5046 Y junction M12, 1 x 8-pin; 2 X 5-pin
PZ5047 PVC connecting lead; 8-pin; open-ended cable M12; 5 m
PZ5048 PVC connecting lead; 8-pin; open-ended cable M12; 10 m
PZ5049 PVC connecting lead; 8-pin; open-ended cable M12; 20 m

218 ROLLCO



DOOR LOCKS AND CATCHES 6 & 5

Emergency Door Lock Opener 40 6

Emergency release at the back of the Compact Catch Lock. Matches profiles 30,40.
Material: Base body and push-button: Plastic (PABG), fibreglass-reinforced
Unlocking bar: Steel

Colour: Base body: Black

Push-button: Red

Mount: By two M6 x 20 cheese head screws (DIN 912) at the front

>
0
0
0]
n
173
o
=
]
0

mn. 37 7 wae sA

PZ5050 Emergency catch lock opener 10,8

Bar 6 5

Easily locks doors and flaps; with spring-assisted locking pin; separate slot locking included.
Material: Bar: Aluminium coloured die-cast zinc
Handle: Plastic (PA)

—_
-

PZ9024 Bar 66 x 38 mm

ROLLCO 219



DOOR LOCKS AND CATCHES 6 & 5

S9110SS9I0Y

Ball Catch 40 6 5

Quick acting door opener; adapts to the surface element thickness.
Mount: By M6 screw
Material: Black plastic (PA)

i)
16 i
sl = + (
a0 "~
o Linl
] »
1n i L
1 a
Ball catch Spacer
PZ1615 Light-duty ball catch M8 x 12, Galvanised steel ~ 40
PZ5052 Light-duty ball catch M8 x 12, Stainless steel ~ 40
PZ5053 Heavy-duty ball catch M8 x 12, Stainless steel ~ 50
PZ5054 Heavy-duty ball catch M8 x 12, Galvanised steel ~ 50
PZ5055 Ball catch spacer
Ball Catch Mounting Bracket 40 6 5

Lets you install the ball catch at any point.
Material: Galvanised steel
Mounting instruction: ESD-ready only if using notched slot nuts.

50
iy

v I @

PZ5056 Ball catch mounting bracket

220 ROLLCO



DOOR LOCKS AND CATCHES 6 & 5

Magnetic Catch 40 6 5

Easy closing of sliding and swing doors.

Adapts to the thickness of surface elements.

Material: Black plastic (PA), fibreglass-reinforced

Mount Slot 5: by M4 x 5 screw (DIN921), galvanised steel.

& |- "

PZ5057 Magnetic catch Approx. 5 N (front) / 3 N (back)
PZ1610 Magnetic catch 8 Approx. 20 N (front) /10 N (back)
Door Latch 40 6

Low-profile door latch for use in the gap of swing doors. Its low height allows you to narrow down
the door gap to 12 mm. The door latch snaps onto the head of a M6 cheese head screw (DIN912)
which screws into a slot nut and, together with the slot nut, into the bottom of the opposite slot.
Match slots 6.

Material: Door latch; Die-cast zinc

Cover plate: Black plastic (PA)

95
|—E — | =
bE j
v |1 = -

PZ5059 Door latch and cover plate 6

93
o

>
0
0
0]
n
173
o
=
]
0

ROLLCO 221



222 ROLLCO



SHEET MATERIAL

Panels & Sheet Material

Rollco offers a wide range of sheet materials and panels, ideal for building protective walls and doors, work-
stations etc. The materials below are just samples of our assortment. Please contact us with your application
requirements and we will help you to find a suitable solution.

For further information about the various materials, specifications and designations, please contact us.

Beech Plywood

Application: Suitable for workshops and laboratory benches. Clear coated on both sides.
Material: Beech
Max. size: 2500 mm x1500 mm
Polycarbonate
Application: Sheet materials for protective walls and separator applications.
Material: Makrolon, clear or smoked
Max. size: 3050 MM x 2050 mm
Plexiglass
Application: Sheet materials for protective walls and separator applications.
Material: Plexiglass, clear or smoked
Max. size: 3050 mm x 2050 mm
_\_\_\_‘—\—\_

ROLLCO 223



SHEET MATERIAL

Aluminum Laminated Material (Alucobond®)

Application: Suitable for workshops and laboratory benches. These surface elements comprise of two
anodized aluminum cover plates that are permanently bonded by a polyethylene plate.

Material: Alucobond® (aluminum laminated material)

Max. size: 3000 MM x1500 mm

Cellulose

Application: For highly stressed surfaces and panelling. Drilling and tapping in this material is possible.

Resin bonded cellulose, hot pressed. Double sided surface coating. Further gauges and
colours on request.

Material: Cellulose, many colours available

Max. size: 2750 mm x 2020 mm

Mesh Steel

Application: Sheet materials for protective walls and separator applications.
Material: Steel, natural or black

Max. size: 3000 MM x2000 mm

224 ROLLCO



SHEET MATERIAL

Weld Meshes

Application: Welded wire mesh used for doors, protective walls, and partitions.
Material: Steel, zink-plated
Max. size: 3000 MM x1500 mm

Aluminum Sheets

Application: The panel can be supplied in a variety of colours. The colour must be advised at time of order.
Material: Aluminum, natural anodised
Max. size: 3000 MM x1500 mm

Aluminum Checker Plate

Application: Sheet material for protective walls and separator applications.
Material: Aluminum, blank (not degreased)
Max. size: 2500 mm x 1250 mm

Perforated Plate, Al

Application: Available from stock with 10 mm perforation in staggered rows.
Distance to next hole / to next row: 15mm

Material: Aluminum, blank (not degreased)

Max. size: 2500 mm x 1250 mm

ROLLCO 225



226 ROLLCO



SWIVEL ARMS & WIRE DUCTING OVERVIEW

Wiring Ducts

ﬂ-_-"""nh_-"ﬂ'b

< & 4y )l

Wiring Duct 16 x40 Wiring Duct 40 x40 Wiring Duct 40 x 80 Wiring Duct 80 x 80 Wiring Duct 80 x120

BN J

Cable Joints Turntable Sets

i

Turntable Sets 40

Turntables

= . -
B ' = -‘
Turntable 40 Turntable 80 Turntable 80, open U

Turntable Sets 80

ROLLCO 227



WIRING DUCTS

Wiring Duct 16 x 40 40
Application: Comprises wiring duct 16 x 40 and wiring duct cover 40.
Acc.: SZ0053S: wiring duct cap 16 x40

T

0
_4 .
27.8 L2
t-___'] 40
SP1300N SP1370N
SP1300N Wiring Duct 16 x 40 0.15 218 0.16 1.09 1.04 0.28
SP1370N Wiring Duct Cover 40 0.08 2.01 0.12 1.01 117 0.32
Wiring Duct 40 x 40 40
Application: Comprises wiring duct 40 x 40 and wiring duct cover 40.
Acc.: SZ0050S: wiring duct cap 40x40
4 b
M4 3 0
© 2
Al 1Yz
! 27.8 27.8
40 40
SP1310N SP1370N
SP1310N Wiring Duct 40x40 313 5.93 1.24 2.97 2.28 0.62
SP1370N Wiring Duct Cover 40 0.08 2.01 0.12 1.01 117 0.32

228 ROLLCO



WIRING DUCTS

Wiring Duct 40 x 80 40
Application: Comprises wiring duct 40 x 80 and wiring duct cover 80.
Acc.: SZ0051S: wiring duct cap 40 x80

P —

1 R 1
M4 3 E "?l
© 2
’Mf IDES *g*
1 67.8 \ 67.8 i
80 | 80
SP1320N SP1380N
SP1320N Wiring Duct 40x80 3.74 29.82 1.36 7.46 2.87 0.78
SP1380N Wiring Duct Cover 80 0.10 14.91 0.14 3.73 2.37 0.64
Wiring Duct 80 x 80 40
Application: Comprises wiring duct 80 x 80 and wiring duct cover 80.
Acc.: SZ0052S: wiring duct cap 80 x80
2
|1 ST Pl
67.8 | m.{ m
80 N 80
SP1330N SP1380N
SP1330N Conduit 80x80 37.60 70.95 17.74 6.14 1.66
SP1380N Wiring Duct Cover 80 0.10 14.91 0.14 3.73 2.37 0.64

ROLLCO 229



WIRING DUCTS

Wiring Duct 80 x 120 40
Application: Comprises wiring duct 80 x120 and wiring duct cover 120.
Acc.: SZ0055S: wiring duct cap 80x120

L 2
4
e
o

S =
1 SI :m'
107.8 e ﬁl‘ 107.8 “:@ o3|
120 N | 120
SP1340N SP1390N
SP1340N Wiring Duct 80x120 42.39 175.96 7.60 29.33 1.93
SP1390N Wiring Duct Cover 120 on 46.70 0.15 7.78 3.37 0.91

230 ROLLCO



CABLE JOINTS

Cable Joints 40

Application: Together with the cable arm, the cable joint forms an ideal unit for running electrical data or
control cables from switch box/control cabinets to the control desk. The cable runs entirely in
the profile, providing the best possible protection to the cables.

Material: Aluminium, natural or black anodized

Acc.: SZ1720V: 4x cap head screw M8x 70, DIN 912

4x central fastener 40EQ

SA5200N SA5200S
oesgraton | oeserption ——_woome__
SA5200N Cable Joint 80, natural 1.87 kg
SA5200S Cable Joint 80, black 1.87 kg
SZ1720V Fixing Set For Cable Joints

ROLLCO 231



TURNTABLES

Turntables 40

Application: The turntables are used to construct moving swivel arms. The turntable 80 allows for
cable runs in the open profiles to enter the turntable through the core hole.

§
- L ]
- —— ]
(@) ')
o™
80 80
1
\ © N*l\ 20 ! |
SA5225N SAS5215N SA5250N
oesnaion ————Desrton v oot
SA5225N Turntable 40 Steel, zinc-plated 1.03kg
SA5215N Turntable 80 Steel, zinc-plated 1.03 kg
SA5250N Turntable 80, open Aluminium, natural anodized 0.99 kg
Glide bearing: plastic
Turntable Sets 40
Application: The turntable set forms an ideal unit for creating swivel arms for monitors, control desks, etc.

The turntable set 80 is installed in a section of profile 80 x80 round, 120 mm long, and is
supplied complete.

Material: Steel, zinc-plated or zinc-plated black
POM, black

SA5220N SA5220S SA5210N
SA5220N Turntable Set 40, natural 474 g
SA5220S Turntable Set 40, black 474 g
SAS5210N Turntable Set 80, natural 800g
SA5210S Turntable Set 80, black 800g

232 ROLLCO



TOOLS

Drill Jigs

Application: Used for positioning the hole for the central fastener housing.
Material: Steel, zinc-plated. Drill bush hardened and ground.
15 15
= .:_U o G QQ
©
L\ ‘.—-,u — "
30 30
V 80
SZ6000V S76030V $76020V

betonaton |t | v

SZ6000V Drill Jig 40 3829
SZ6030V Drill Jig 30 midi 2649
SZ6020V Drill Jig 20 mini 1539

Spiral Drills

Application: For drilling profiles.
BB mEEI=— Lall==
$76280S 5762855 $76320S

$76280S Spiral Drill @8
S76285S Spiral Drill @8,5
$76320S Spiral Drill @12

Short Step Drills

Application:
-_— - L] ‘_._-—--""
$76205S 5762085

Designation
S$76205S

Used for drilling holes for cap head screws DIN 974.

Short Step Drill180°M 5 (25,7 /10 mm)

S76206S

Short Step Drill 180°M 6 (@ 6,8 /11 mm)

$76208S

Short Step Drill180°M 8 (@ 8,4 /15mm)

ROLLCO

233




234 ROLLCO



APPLICATION EXAMPLES

Application Examples

Our aluminium profile system makes it easy to build structures, such as machine frames, workbenches, fixtures
for advanced automation etc. The system is simple to change or expand and is compatible with the most other
profile systems. Below are some examples of the endless possibilities it offers.

In addition to a complete product range, we provide rapid production, fast delivery times and high delivery
accuracy. We also offer technical support and are happy to assist with design proposals.

Welding booths JSF boom tooling

>
T
S
=
o
=p
[e]
3
(7]

Shipping container for jet engines

Composite assembly tooling Nimrod lightning strike framework design

ROLLCO 235



APPLICATION EXAMPLES

Frame

Product lifetime cycle testing

Testing station

LED support screen

Office enclosure

Applications

Wind screen

236



APPLICATION EXAMPLES

Industrial

>
T
S
=
o
=p
[e]
3
(7]

= 237



APPLICATION EXAMPLES

Workstations And Laboratory Furniture g i ﬂ

Foot support

Desk with monitor support m

File cabinet

Work bench Table

>
T
=2
=
o
e
o
3
(7]

Laboratory furniture

Workstation

238



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
Absorber Plate for Hinged Base for Hinged Knuckle Feet, Ball 15 177 Corner Bracket Caps 108
Knuckle Feet 181 Base for Steady Knuckle Feet 180 Corner Brackets Zn40 139
Adjustable Feet @ 39 110 Base Plate 183 Corner Fasteners 140
Adjustable Feet @79 with Bearing Plates 129 Cover and Lining Profiles 211
anti-vibration pad and fixing holes 13 Beech Plywood 223 Cover Profile 16 212
Adjustable Feet @79 with Bin Locator 144 Cover Profile 40 26
anti-vibration pad n2 Blend Corner Profile 40 30 Cover Profile 161
Adjustable Feet @79 with Blend Profiles 40 29 Cover Profiles 2N
fixing holes m Blend Profiles 80 30 Cube Connector 20 93
Adjustable Feet @79 10 Bolt G-type 80 Die-Cast Zinc Hinge with
Adjustable Foot @119 with Bow Handle 189 Oblong Holes, No Unhinging 209
fixing holes n4 Bracket 20 x 20 192 Door Jamb Profile 31
Adjustable Foot @136 Steel with Bracket 30 x 30 193 Door Latch 221
anti-vibration pad and fixing holes 16 Bracket 30 x 60 194 Door Latches 166
Adjustable Foot @136 with Bracket 40 x 40 193 Door Lock PROe 218
anti-vibration pad and fixing holes 15 Bracket 60 x 60 195 Door Locks 165
Adjustable Foot @136 with Cabinet Profile 30x74 25 Door Stop 163
fixing holes 15 Cabinet Profiles 30x52 25 Door Stop, top round (excentric) 162
Adjustable Levelling Foot 182 Cable Joints 231 Door Stops, bottom 163
Adjusting Elements 130 Castor with Fitted Flange 187 Double Castors @75, rubber 19
Aluminium Profile Caps 174 Castors, rubber o Double T-Nuts 40/20 60
Aluminum Checker Plate 225 Cellulose 224 Doweling T-Nut 73
Aluminum Laminated Central Fastener 40 120° 69 Drill Jigs 233
Material (Alucobond®) 224 Central Fastener 40 135° 70 Dummy Plug 63
Aluminum Sheets 225 Central Fastener 40 90° 69 Earth Connection 40 82
Angle 40 x 60 80 Central Fastener 40 EL / EQ 66 Earthing Strap 216
Angle 60 x 70 80 Central Fastener 40 EVLS / EVQS 72 Edge Stop Profile 40 30
Angle Element 200 Central Fastener 40 G 68 Edging and Covering Strips 160
Angle Joint 199 Central Fastener 40 GC / GCV 71 Emergency Door Lock Opener 219
Angle Plate, steel 138 Central Fastener 40 NL / NQ 67 Fixing Angle Caps 109
Angle Plate, Steel 201 Central Fastener 40 S/SV 65 Fixing Angles 40 x 20 137
Angle Profile 120x120 Bridge 24 Central Fastener 40 SL / SVL 67 Fixing Angles 40 x40 137
Angle Profile 120x120 24 Central Fastener 40 SPS / SVPS 71 Fixing Angles 70 x 70 139
Angle Profile 40x120/120 18 Central Fastener 40 SVL 66 Fixing Angles 138
Angle Profile 60x120 23 Central Fastener G 30 SS / G 45 SS 68 Fixing Blocks 169
Angle Profile 60x80 23 Clamp Angles 141 Floor Bracket 18x140 183
Angle Profile 70x70 23 Clamp Profile 22x28 26 Floor Fixing Plate 131
Angle Profile 80x120 24 Clamp Profiles 40 22 Floor Mount for Trapezoid Base 181
Angle Profile 80x80 23 Clamp Strips 40 22 Floor Plate 132
Angle Profiles 40x80/80 18 Clamping Bracket 199 Floor Plates 131
Angles 120 x120 140 Clamping Feet n7z Foot Block, Jacking Screws 132
Anti-Twist Set Screw 154 Clamping Pad 215 Foot Plates 120 x 120 127
Articulated Brackets 198 Closed Profile 40/40 R90O 20 Foot Plates 120 x 160 127
Attachment Plates 77 Closed Profile 80x80 Edge 19 Foot Plates 160 x 160 128
Attachment Plates, angled 78 Closed Profile R40/80 30° 19 Foot Plates 40 x120 124
Attachment Screws 75 Closed Profile R40/80 45° 20 Foot Plates 40 x160 124
Automatic Butt Connector 92 Closed Profile R40/80 60° 20 Foot Plates 40x200 125
Automatic Combination Connector 91 Closed Profile R40/80 90° 20 Foot Plates 40 x 80 124
Automatic Connectors 90 Combination Hinge of Foot Plates 80 x120 126
Automatic Fastening Set 40 64 Die-Cast Aluminium 206 Foot Plates 80 x 160 126
Ball Catch Mounting Bracket 220 Combination Hinge of Stainless Steel 207 Foot Plates 80 x 200 127
Ball Catch 220 Compact Door Lock 217 Foot Plates 80 x 80 Edge 7N 125
Ball Head 15 with Female Thread 176 Compact Double Door Lock 217 Foot Plates 80 x 80 125
Bar 219 Corner Angle 20 196 Foot Plates R40 x 80 90° 126
Base 40 with Arm, Ball 15 179 Corner Angle 30 197 Glider/ Spring Hook 145

ROLLCO 239



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
Gusset Plates Al 142 PA1202 193 PN2005 85
Hand Rail Profile 27 PA1203 192 PN2006 86
Handle AL 191 PA1204 193 PN2007 86
Handle Strip Profile 30 x40 136 PA1205 195 PN2008 86
Handle Strip Profile 30x40 25 PA1206 196 PN2009 86
Handle 190 PA1207 196 PN2010 86
Handles 134 PA1208 197 PN20T 86
Hangers 40 SVPS 157 PA1209 197 PN2012 84
Hangers 40 V and 40 U 156 PA1210 197 PN3010 84
Hangers 40 156 PA12T 93 PN3015 84
Heavy Duty Fasteners 76 PA1212 93 PN3020 84
Heavy Duty Joints 40 155 PA1214 21 PN3025 84
Heavy-Duty Castor 186 PA1215 21 PN3030 84
Height-Adjustable Floor Angle 182 PA1217 174 PN3055 84
Hinge 40 Al 152 PA3005 174 PN3060 84
Hinge 40, steel 150 PA3010 174 PN3065 84
Hinge Castor 18 PA3015 174 PN3115 86
Hinge System with Adjustable PA3020 174 PN3125 86
Friction 207 PA3025 174 PN3914 84
Hinge System with Positioning PA3030 174 PN4010 85
Catch 206 PA3035 174 PN4015 85
Hinges 40 150 PA3050 87 PN4020 85
Hinges 40 151 PA3055 87 PN4025 85
Hinges 48 PA 153 PA3060 174 PN4030 85
Hinges Al 151 PA4015 174 PN4035 85
Hinges PA 152 PA4020 174 PN4110 85
Holder, adjustable 81 PA4025 174 Pneumatic Fastener 40 74
Inside Hinge Element 153 PA4030 174 Polycarbonate 223
Inside Hinge Element 208 PA4035 174 Portal Plates 133
Joint 20 210 PA4040 174 Potential Equalizers 82
Joint 30 210 PA4045 174 PP3010 11
Levelling Castor 188 PA4050 174 PP3020 42
Lifting Castor Units n8 PA4065 87 PP3030 42
Light-Duty Handle AL 191 PA4066 87 PP3040 43
Light-Duty Metal Hinge - No PAS5116 21 PP3050 43
Unhinging 209 Panel Bracket 216 PP3060 41
Load Bearing Rollers 147 Perforated Plate, Al 225 PP3070 42
Locator Block 73 Pivoting Double Slot Nut, 10.5 mm 86 PP3080 42
Machine Handle 134 Pivoting Slot Nut, 10.5 x 6.3 mm 84 PP3090 43
Magnetic Catch Plates 162 Pivoting Slot Nut, 10.5 x 6.9 mm 84 PP3100 43
Magnetic Catch 221 Pivoting Slot Nut, 7.7 x 4.0 mm 85 PP3110 41
Mesh Guarding Profile 40 35 Pivoting Slot Nut, 8.0 x 4.2 mm 85 PP3120 41
Mesh Steel 224 Plastic Combination Hinge, PP3130 41
Metal Foot 16 No Unhinging 204 PP3150 141
Mini Plastic Hinge 20 204 Plastic Double Castor 188 PP3160 41
Miter Connector 40 90° 74 Plastic Double Hinge 205 PP3906 2N
Mounting Angle 201 Plastic Hinge with Clamping Lever 205 PP4010 45
Mounting Feet nz Plate Gasket/Sealing Strip 213 PP4030 44
> Mounting Foot Profile 60x80 32 Plexiglass 223 PP4031 44
l:l Mounting Foot Profile 80x80 32 PN1030 57 PP4040 44
g Mounting Pad / Multi Block 215 PN1035 57 PP4050 45
g NBR Cover Profiles 212 PN1040 57 PP4070 45
Omega Clamp 145 PN1045 57 PP4071 44
PATI0 63 PN2003 85 PP4110 44
PATNS 63 PN2004 85 PP4900 44

240 ROLLCO



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
Profile 20x20 R90° 44 PV1212 199 PZ1920 201
Profile 20x60 45 PV1213 199 PZ1925 201
Profile 28x120 17 PV1214 199 PZ1935 201
Profile 28x160 18 PV1215 202 PZ2315 183
Profile 40x40 45 PV1216 202 PZ3020 183
Profile 80x200 15 PV1217 202 PZ3025 183
Profile 80x80 7N Double Bridge 19 PV1218 202 PZ3035 183
Profile Cap for SV drillings 109 PV1219 202 PZ3040 183
Profile Cap for SV drillings 70 PV1224 93 PZ3045 183
Profile Caps 40 107 PV1225 93 PZ3050 201
Profiles 120x120 15 PV1226 93 PZ3055 202
Profiles 120x160 16 PV1227 93 PZ3060 201
Profiles 160x160 16 PV3015 88 PZ3075 21
Profiles 16x40 17 PV3016 89 PZ3076 21
Profiles 16x80 17 PV3020 87 PZ3081 182
Profiles 20x10 45 PV3025 87 PZ3085 198
Profiles 20x20 44 PV3045 90 PZ3090 199
Profiles 20x40 44 PV3050 92 PZ3095 199
Profiles 30x120 42 PV4010 87 PZ3110 205
Profiles 30x30 45° L 41 PV4020 88 PZ3135 181
Profiles 30x30 R90O° L 41 PV4025 87 PZ3140 181
Profiles 30x30 41 PV4030 89 PZ3165 215
Profiles 30x60 42 PV4035 90 PZ3200 210
Profiles 40/40 Edge 19 PV4040 92 PZ3205 210
Profiles 40x120 1 PZ1245 203 PZ3210 200
Profiles 40x160 1 PZ1250 203 PZ3215 200
Profiles 40x200 12 PZ1271 21 Pz3220 200
Profiles 40x40 9 PZ1455 181 Pz3225 200
Profiles 40x80 10 PZ1460 181 PZ3230 209
Profiles 60x120 43 PZ1465 181 PZ3240 213
Profiles 60x60 43 PZ1470 181 Pz3245 203
Profiles 80x120 14 PZ1475 181 PZ3506 214
Profiles 80x160 14 PZ1540 123 PZ3901 212
Profiles 80x80 13 PZ1541 121 PZ3905 90
Protection Wall Handle 135 Pz1542 121 PZ4015 183
Protection Wall Latches 167 Pz1543 123 PZ4020 183
Protection Wall Lock 164 PZ1544 123 PZ4025 183
Protection Wall Locking Mechanisms 164 Pz1545 121 PZ4045 201
Protection Wall Profiles 40 33 Pz1549 122 PZ4060 203
Protection Wall Support Leg Cap 108 PZ1550 122 PZ4065 21
Protection Wall Support Leg Door PZ1551 122 Pz4070 21

Profile 60x80 34 PZ1555 209 PZ4075 190
Protection Wall Support Leg PZ1565 189 Pz4080 204

Profile 80x80 34 PZ1570 190 PZ4085 205
Protection Wall Support Leg PZ1575 190 Pz4ns 215

Profiles 60x80 33 PZ1577 190 PZ4150 213
PV1015 63 PZ1580 190 PZ4160 210
PV1022 62 PZ1585 189 PZ4161 210
PV1076 197 PZ1590 191 Pz4170 198
PV1203 90 PZ1595 191 PZ5001 193
PV1204 91 PZ1600 191 PZ5002 193
PV1205 91 PZ1605 191 PZ5003 193
PV1209 92 PZ1610 221 PZ5004 194
PV1210 92 Pz1615 220 PZ5005 192
PVI211 199 PZ1633 217 PZ5006 192

ROLLCO 241



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
PZ5007 192 PZ5077 184 PZ5140 175
PZ5008 193 PZ5078 184 PZ5141 175
PZ5009 193 PZ5079 184 PZ5142 175
PZ5010 195 PZ5080 184 PZ5143 175
PZ50T1 195 PZ5081 184 PZ5144 175
PZ5012 195 PZ5082 184 PZ5145 175
PZ5013 195 PZ5083 184 PZ5146 175
PZ5014 196 PZ5084 184 PZ5147 175
PZ5015 196 PZ5085 184 PZ5148 175
PZ5016 196 PZ5086 185 PZ5149 175
PZ5017 197 PZ5087 185 PZ5150 175
PZ5018 197 PZ5088 185 PZ5151 175
PZ5019 198 PZ5089 185 PZ5152 175
PZ5021 182 PZ5090 185 PZ5153 175
PZ5024 204 PZ5091 185 PZ5154 176
PZ5025 204 PZ5099 187 PZ5155 176
PZ5026 205 PZ5100 187 PZ5156 176
PZ5027 206 PZ5101 187 PZ5157 176
PZ5030 206 PZ5102 187 PZ5158 177
PZ5038 134 PZ5103 187 PZ5159 177
PZ5040 217 PZ5104 187 PZ5160 177
PZ5041 217 PZ5105 188 PZ5161 177
PZ5042 217 PZ5106 188 PZ5162 177
PZ5043 218 PZ5107 188 PZ5163 177
PZ5044 218 PZ5108 188 PZ5164 177
PZ5045 218 PZ5109 182 PZ5165 177
PZ5046 218 PZ5110 203 PZ5166 177
PZ5047 218 PZ51M 211 PZ5167 177
PZ5048 218 PZ5112 211 PZ5168 177
PZ5049 218 PZ5114 209 PZ5169 177
PZ5050 219 PZ5115 215 PZ5170 177
PZ5052 220 PZ5116 175 PZ5171 177
PZ5053 220 PZ517 175 PZ5172 177
PZ5054 220 PZ5118 175 PZ5173 177
PZ5055 220 PZ5119 175 PZ5174 177
PZ5056 220 PZ5120 175 PZ5175 177
PZ5057 221 PZ5121 175 PZ5176 177
PZ5059 221 PZ5122 175 PZ5177 177
PZ5060 214 PZ5123 175 PZ5178 177
PZ5061 214 PZ5124 175 PZ5179 177
PZ5062 214 PZ5125 175 PZ5180 177
PZ5063 214 PZ5126 175 PZ5181 177
PZ5064 215 PZ5127 175 PZ5182 177
PZ5065 215 PZ5128 175 PZ5183 177
PZ5066 215 PZ5129 175 PZ5184 178
PZ5067 215 PZ5130 175 PZ5185 178
PZ5068 215 PZ5131 175 PZ5186 178
PZ5069 216 PZ5132 175 PZ5187 178
> PZ5070 216 PZ5133 175 pZ5188 178
N PZ5071 181 PZ5134 175 PZ5189 178
3__ PZ5072 184 PZ5135 175 PZ5190 178
o PZ5073 184 PZ5136 175 PZ5191 178
PZ5074 184 PZ5137 175 PZ5192 178
PZ5075 184 PZ5138 175 PZ5193 178
PZ5076 184 PZ5139 175 PZ5194 179
242 ROLLCO



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
PZ5195 179 Round Corners 141 SFO822V 115
PZ5196 179 Rubber Boot @79 14 SFO918V 115
PZ5197 179 Runner 203 SF0922V 115
PZ5198 179 SA5200N 231 SFO929V 115
PZ5199 179 SA5200S 231 SFO931V 115
PZ5200 179 SAS5210N 232 SFO950V 116
PZ5201 179 SA5210S 232 SFO951V 16
PZ5202 179 SAS5215N 232 SFO952V 16
PZ5203 179 SA5220N 232 SFO953V 16
PZ5204 179 SA5220S 232 SF2200V 19
PZ5205 179 SA5225N 232 SF2210V 19
PZ5206 179 SA5250N 232 SF2300V 120
PZ5207 179 Safety Interlocks 168 SF2302V 120
PZ5208 179 Sealing Rubbers 159 SF2310V 120
PZ5209 179 SF0202S 110 SF2312V 120
PZ5210 179 SF0204S 110 SF2400V 19
PZ5211 179 SF0210S 110 SF2401V 19
PZ5212 179 SF0415V 1 SF2600V 18
PZ5213 179 SF0417S 1 SF2601V 18
PZ5214 179 SF0421V 13 SF2602V 18
PZ5215 180 SF0423S 13 SF2604V 18
PZ5216 180 SF0427V 11 SF2605V 18
Pz5217 180 SF0429S 11 SF2606V 18
PZ5218 180 SF0433V 13 SF2607V 18
PZ5219 180 SF0435S 13 Short Step Drills 233
PZ5220 180 SF0443S 112 Slide Rail 143
PZ5221 180 SF0447S 112 Sliding Door Profile 40 26
PZ5222 180 SF0448S 110 Slot Profiles 40 161
PZ5223 180 SF0449S 12 Snap Hook & Sliding Tool Hanger 203
PZ5224 180 SF0450S 110 SPO330N 30
PZ5225 180 SF0464S 110 SPO340N 30
PZ5226 180 SF0470V 110 SPO360N 30
PZ5231 186 SF0480V 110 SPO380N 30
PZ5232 186 SF0481V 112 SPO400N 26
PZ5233 186 SFO515V 111 SPO410N 31
PZ5234 188 SFO516S 111 SP0O420N 30
PZ5235 207 SFO517S 111 SPOS00N 29
PZ5236 183 SF0527V 111 SPOSION 29
PZ5291 207 SF0529S 111 SPO520N 29
PZ5298 197 SFO533V 13 SPO530N 32
PZ5300 214 SF0535S 13 SPO560N 32
PZ5301 214 SFO615V 111 SPO570N 29
PZ5302 214 SF0616S 111 SPO580N 29
PZ5303 214 SF0617S 111 SPO590N 136
PZ5304 214 SF0721V 13 SPO590N 25
PZ5305 214 SF0722S 13 SPO60ON 27
PZ5314 206 SF0723S 13 SPO6ION 26
PZ5315 208 SF0727V 111 SP0O620N 27
PZ5316 208 SF0729S 111 SPO630N 28
PZ5317 153 SFO733V 13 SP0O640N 27
PZ9020 201 SFO735V 13 SPO650N 28
PZ9024 219 SFO750V 111 SPO660N 27
Quick Fastener 40 65 SFO760V 111 SPO700N 27
Roller Housings 148 SFO770V 14 SP1300N 228
Rollers, POM 147 SF0818V 15 SPI1310N 228

ROLLCO 243



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
SP1320N 229 SP5590N 13 SP80O50N 19
SP1330N 229 SP5600N 9 SP8100N 13
SP1340N 230 SP5620N SP8150N 13
SP1370N 228 SP5630N SP8200N 14
SP1370N 228 SP5640N 9 SP8250N 14
SP1380N 229 SP5670N 19 SP8400N 13
SP1380N 229 SP5700N 10 SP8500N 14
SP1390N 230 SP5800N 13 SP8600ON 15
SP1800ON 25 SP5900N 10 SP8700N 14
SP1810N 25 SP600OON 22 SP880OON 13
SP1820N 25 SP601ON 22 SP9300N 23
SP1900N 26 SP6100ON 26 SP9400N 23
SP2500N 28 SP6120N 30 SP9450N 23
SP3000N 17 SP6200ON 24 Special T-Nut 59
SP3050N 17 SP6270N 33 Spiral Drills 233
SP3100N 17 SP6280ON 33 Spring Door Catch 168
SP3150N 17 SP6300N 35 Square Base for Hinged Knuckle
SP3300N 17 SP6310N 35 Feet, Ball 15 178
SP3400N 18 SP6320N 35 Square T-Nut 59
SP3900N 21 SP6330N 34 SS2225V 75
SP3910N 21 SP6340N 33 SS2230V 75
SP3920N 21 SP6350N 33 $52240V 75
SP4000N 9 SP6360N 33 SS2330V 75
SP4200N 10 SP6370N 33 SS2332V 75
SP4400N 1 SP6380N 34 SS2340V 75
SP4450N 1 SP6390N 31 SS3060S 132
SP4500N 18 SP6400N 9 SS3100S 132
SP4600N 1 SP6450N 33 SS9900V 154
SP4650N 1 SP6460N 31 ST3510V 130
SP4700N 12 SP6500N 9 ST4010V 130
SP4800N 18 SP660ON 13 ST4500S 132
SP5000N 9 SP6700N 13 Stabilizing Roller, horizontal profile 149
SP5050N 9 SP68OON 10 Stabilizing Roller, vertical profile 148
SP5100N 9 SP690ON 10 Standard Connector 40 62
SP5150N 18 SP7000N 28 Standard Fastener 87
SP5200N 10 SP7100N 9 Standard Fastening Set 62
SP5220N n SP7180N 10 Steering Castor 184
SP5250N 10 SP7200N 19 Steering Castors, rubber 120
SP5300N 10 SP7210N 20 Step Fasteners 79
SP5350N 12 SP7250N 19 Step Profile 43x100 26
SP5400N 13 SP7260N 20 Step Profile 43x150 27
SP5420N 14 SP7270N 20 Support Rail For Table Profile 29
SP5440N 14 SP7280N 20 SVO101V 65
SP5450N 13 SP7500N 22 SV0102V 65
SP5470N 19 SP7510N 22 SV1001V 65
SP5480N 9 SP7520N 22 SVI1ONvV 66
SP5500N 13 SP7650N 15 SV1021vV 66
SP5510N 9 SP7660N 15 SV1031vV 67
> SP5520N 9 SP7670N 16 SV1041vV 67
N SP5530N 9 SP7680N 16 SV1071vV 68
g SP5540N 10 SP7800N 23 SVIIv 68
g SP5550N 10 SP7850N 24 SV1151V 68
SP5560N 10 SP7860N 24 svi2nv 65
SP5570N 10 SP7900N 26 Svi2izv 65
SP5580N 13 SP8OOON 13 SV1213V 67
244 ROLLCO



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
SVi1221vV 67 SV2570N 61 SZ0031S 107
SV1222V 66 SV2570V 60 SZ0042S 107
SV1231V 71 SV2575V 61 SZ0043S 107
SV1241vV 71 SV2800V 57 SZ0050S 108
SV1251V 72 SV2810V 57 SZ0051S 108
SV1261V 72 SV2850V 56 SZ0052S 108
SV1301vV 71 SV2860V 56 SZ0053S 108
SVI3NV 71 SV2870V 56 SZ0055S 108
SV1350V 65 SV2880V 56 SZ0059S 136
SV1351V 66 SV2890V 56 SZ0060S 107
SV1352V 66 SV3200N 79 SZ0070S 108
SV1353V 65 SV3202N 79 SZ0071s 108
SV1640V 69 SV3205N 79 SZ0075S 109
SV1645V 70 SV3500V 74 SZ0076S 109
SV1650V 69 SV5001IN 77 SZ0077S 109
SV1660V 69 SV5002N 77 SZ0082S 108
SV1665V 70 SV5003N 77 SZ0099S 109
SV1670V 69 SV5004N 77 SZ0099S 70
SV1700V 64 SV5005N 77 SZ0100S 107
SV1800V 64 SV5006N 77 SZ0160V 129
SV1801V 64 SV5013N 78 SZ0166V 129
SV1900V 62 SV5014N 78 SZ0210V 124
SV1901V 74 SV5016N 78 SZ0o21vV 126
SV2000V 57 SV6000V 76 SZ0212V 124
SV2001V 57 SV6002v 76 SZ0213V 126
SV2002V 57 SV6005V 76 S70214V 124
SV2003V 57 SV6008V 76 SZ0216V 124
SV2050V 58 SV6010V 76 SZ0220V 125
SV2051vV 58 SV60TV 76 S70222V 125
SV2052v 58 Swivel Castor, Plate Fitting 122 SZ0223V 125
SV2060V 59 Swivel Castors, Bolt Hole 121 570224V 126
SV2070V 73 Swivel Castors, Bolt Hole 123 570226V 126
SV2100V 56 System Glider 40 144 SZ0227V 126
SV2101vV 56 System Glider 143 SZ0230V 124
SV2102v 56 System Plates 129 SZ0232V 124
SV2104V 56 SZ0010S 107 SZ0233V 124
SV2105V 56 SZOOoMNs 107 SZ0234V 124
SV2106V 56 SZ0012S 107 SZ0236V 124
SV2110V 56 SZ0013S 107 SZ0237V 124
svanav 56 SZ0014S 107 SZ0240V 125
SV2114vV 56 SZ0016S 107 S70242V 125
SV2145S 59 SZ0017S 107 SZ0250V 126
SV2146S 59 SZ0018S 107 SZ0252V 126
SV2147S 59 SZ0019S 107 SZ0255V 125
SV2148S 59 SZ0020S 107 SZ0256V 125
SV2150V 58 SZ0021S 107 SZ0257V 125
SV2151vV 58 SZ0022S 107 SZ0258V 125
SV2152V 58 SZ0023S 107 SZ0259V 125
SV2178N 59 S$Z0024S 107 SZ0260V 124
SV2179N 59 SZ0025S 107 SZ0261V 124
SV2180N 59 SZ0026S 107 SZ0262V 124
SV2202v 60 SZ0027S 107 SZ0263V 124
SvV2210vV 60 S$70028S 107 SZ0264V 124
SV2560N 61 SZ0029S 107 SZ0265V 125
SV2560V 61 SZ0030S 107 SZ0266V 125

ROLLCO 245



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
S$70267V 125 SZ0761S 150 S71512S 169
$70268V 125 SZ0762N 150 $71514S 169
SZ0269V 125 SZ0765N 151 $71516S 169
SZ0270V 126 SZ0766N 151 $71518S 169
SZ027V 126 SZ0773S 153 $Z1550S 162
SZ0272V 126 SZ0774S 153 SZ1551S 162
SZ0273V 126 $70788V 150 $71552S 162
$20274V 126 SZ0791V 153 SZ1553S 162
SZ0275V 127 SZO8I1ON 134 SZ1580N 145
SZ0276V 127 $70820S 134 $Z1590S 144
SZ0277V 127 SZ0830N 134 SZ1700V m
$70278V 127 SZ0840N 134 SZ1700V 13
SZ0279V 127 S70840S 134 SZ1700V 115
$Z0280V 128 SZ0850N 134 SZ1700V 115
$70281V 128 SZ0850S 134 SZ1700V 116
$70282V 127 SZ0910N 137 $71701S 14
570283V 127 SZ0912N 137 SZ1720V 231
570287V 127 SZ0914N 137 SZ1730V 131
520288V 127 SZ0916N 137 SZ1732V 132
$Z0300S 131 SZ0920N 137 SZ1732V 133
SZ0300V 132 SZ0922N 137 SZ1735V 17
SZ0310S 132 SZ0924N 137 SZ1750V 17
$70321S 133 SZ0926N 137 SZ1800N 160
$Z0322S 133 $Z0930S 140 $Z1800S 160
$Z0325S 133 SZ70931S 140 SZ1820N 161
$70327S 133 $70932S 140 $71820S 161
$70329S 133 $Z0933S 140 $Z1900S 159
SZ0337S 133 SZ0940N 139 SZ1901S 159
SZ0350V 131 SZ0941N 139 $Z1910S 161
SZ0352V 131 $70950S 138 SZ1912S 212
$70402Z 168 $70960S 138 $71914S 161
SZ0410S 165 SZ0970N 139 SZ1916N 159
SZ041S 165 SZ097IN 139 $Z2210S 147
SZ0420V 166 SZ0972N 139 $22220S 147
SZ0422V 166 SZ0973N 139 $72230S 147
SZ0423V 166 SZ0980N 138 $Z22420S 147
S70424V 166 SZ0985N 138 $22422S 147
SZ0425V 166 SZ0990N 138 $22424S 147
SZ0450V 167 SZ0995N 138 $22580Z 147
SZ0510S 168 SZ0997N 138 $Z2620N 148
SZ0512S 168 SZ1020N 155 SZ2640N 148
SZ0600S 156 $71020S 155 $Z3000S 73
SZ0600V 156 SZ1021N 155 SZ3500V 129
SZ0601S 156 SZ1022N 155 SZ3510V 129
SZ0602S 157 SZ1023N 155 SZ3520V 129
SZ0602V 157 SZ1050N 155 SZ3530V 129
SZ0610S 156 SZ1110S 145 SZ5045N 141
SZ061S 156 Sz1210V 145 SZ5050N 141
> SZ0612S 156 S71300S 143 SZ6000V 233
N $70682Z 156 S71310S 143 $Z6020V 233
3__ SZ0719S 152 S71330S 144 SZ6030V 233
o SZ70725S 152 SZ71333S 144 $76205S 233
SZ0760N 150 SZ71335S 144 $Z6206S 233
$Z0760S 150 $71338S 144 $26208S 233
SZ0760V 150 SZ1510S 169 $26280S 233
246 ROLLCO



ALPHABETICAL INDEX

Designation/Name Page Designation/Name Page Designation/Name Page
S76285S 233 T-Nut Profile, slide-in 60
SZ6320S 233 T-Nuts ball-type, push-in, flat 57
SZ6500N 140 T-Nuts steel / plastic 59
SZ6501N 140 T-Nuts, ball-type, push-in 56
SZ6502N 140 T-Nuts, ball-type, slide-in 57
SZ6503N 140 T-Nuts, push-in 58
SZ6504N 140 T-Nuts, slide-in 58
SZ6550N 141 Trapezoid Base for Hinged
SZ6551IN 141 Knuckle Feet, Ball 15 178
SZ6552N 141 Trapezoid Base for Steady
SZ6553N 141 Knuckle Feet 180
SZ6554N 141 Tread Plate 40 27
SZ6800N 82 Tread Plate 80 28
SZ7000N 82 Turntable Sets 232
SZ80OOON 80 Turntables 232
SZ80O1IN 80 Uniblock Spacer 214
SZ80O05N 80 Uniblock 214
SZ8010V 81 Universal Butt Connector 89
SZ8012N 151 Universal Connectors 88
SZ8013N 151 Universal Fastener 63
SZ8014N 152 Universal Fastener 40 64
SZ8015N 135 Wedge Sealing 4 159
SZ8016V 164 Weld Meshes 225
SZ8017V 164 Wiring Duct 16 x 40 228
S78018S 164 Wiring Duct 40 x 40 228
SZ8019V 167 Wiring Duct 40 x 80 229
SZ8020V 167 Wiring Duct 42x60 31
SZ8040N 16 Wiring Duct 80 x 120 230
SZ8041IN 163 Wiring Duct 80 x 80 229
S78041S 163 Wiring Duct Caps 108
S78042S 162 Wiring Duct @27 31
S7Z8044S 148
SZ8045S 149
SZ8046S 163
SZ80O50N 7
SZ8055N 7
SZ808ON 7
SZ808IN 7
SZ8082N 7
Table Profile 40x40 28
Table Profile 40x80 28
Tear-Off Profile 40x40 0/4N 21
Tear-Off Profile 40x80 O/6N 21
Tear-Off Profile 80x80 0/8N 21
Telescope Profile @34.5 26
Tent Profile 27
Threaded Rod for Steady

Knuckle Feet for Levelling 179
Threaded Rods for Hinged

Knuckle Foot, Ball 15 175
Tie Plate, steel 138
Tie Plates 202
T-Nut Profile, aluminium, push-in 61
T-Nut Profile, aluminum, slide-in 61
T-Nut Profile, push-in 61

i

ROLLCO 247



248 ROLLCO



Notes

ROLLCO 249



Notes

250 ROLLCO



Notes

ROLLCO 251



Notes

252 ROLLCO



Notes

ROLLCO 253



Notes

254 ROLLCO



Notes

ROLLCO 255



Notes

256 ROLLCO



Notes

ROLLCO 257



Notes

258 ROLLCO



Rollco Products

COMPACT RAIL C-RAIL U-RAIL CURVI LINE

LINEAR RAIL LINEAR MINIATURE LINEAR ROLLER
HRC/ARC/ERC GUIDE GUIDE

LINEAR RAIL TELESCOPIC RAIL TELESCOPIC RAIL EASYSLIDE
ALUMINIUM HEAVY LIGHT

BALL SCREWS BALL BEARINGS
& STEEL SHAFTS

LINEAR UNIT QME LINEAR UNITS CT & MT PNCE ELECTRO- BELT CONVEYORS
MECHANICAL CYLINDERS

ROLLCO 259



ALWAYS THE RIGHT
SOLUTION AT THE RIGHT TIME. RDLLCD

LINEAR SOLUTIONS YOUR WAY

With reliability, competence and
commitment Rollco rapidly delivers the
right solutions and components to

create safe and cost-effective automation
and linear movement.

Rollco AB
Box 22234
Ekvandan 3
250 24 Helsingborg
Sweden
Tel. +46 42 150040
www.rollco.se

Rollco A/S
Skomagervej 13 E
7100 Vejle
Denmark
Tel. +45 7552 2666
www.rollco.dk

Rollco Oy
Sarankulmankatu 12
33900 Tampere
Finland
Tel. +358 207 57 97 90
www.rollco.fi

Rollco Norge AS
Industrigata 6
3414 Lierstrada
Norway
Tel. +47 32 84 00 34
www.rollco.no

Rollco Taiwan
No. 28, Lane 125, Da-an Road
Shulin District 238
New Taipei City, Taiwan
Tel. +886-2-8687-2726
Fax +886-2-8687-2720
www.rollco-tw.com

Aluminium Profile System_English_201910 Art.no. P7ZO0O0OENC



	Tools And Screws
	Swivel Arms & Wire Ducting
	Aluminium Profile Overview
	System 40
	Profiles 40x40
	Profiles 40x80
	Clamp Strips 40
	Clamp Profiles 40
	Tear-Off Profile 80x80 0/8N
	Tear-Off Profile 40x80 0/6N
	Tear-Off Profile 40x40 0/4N
	Closed Profile 40/40 R90
	Closed Profile R40/80 90°
	Closed Profile R40/80 60°
	Closed Profile R40/80 45°
	Closed Profile R40/80 30°
	Profile 80x80 7N Double Bridge
	Closed Profile 80x80 Edge
	Profiles 40/40 Edge
	Angle Profile 40x120/120
	Profile 28x160
	Profile 28x120
	Profiles 16x80
	Profiles 16x40
	Profiles 160x160
	Profiles 120x160
	Profiles 120x120
	Profile 80x200
	Profiles 80x160
	Profiles 80x120
	Profiles 80x80
	Profiles 40x200
	Profiles 40x160
	Profiles 40x120
	Angle Profiles 40x80/80



	Special profiles 40
	Angle Profile 70x70
	Angle Profile 60x80
	Angle Profile 60x120
	Angle Profile 80x80
	Angle Profile 80x120
	Angle Profile 120x120
	Angle Profile 120x120 Bridge
	Cabinet Profiles 30x52
	Cabinet Profile 30x74
	Handle Strip Profile 30x40
	Telescope Profile Ø34.5
	Clamp Profile 22x28
	Cover Profile 40
	Sliding Door Profile 40
	Step Profile 43x100
	Step Profile 43x150
	Tent Profile
	Hand Rail Profile
	Tread Plate 40
	Tread Plate 80
	Table Profile 40x40
	Table Profile 40x80
	Support Rail For Table Profile
	Blend Profiles 40
	Blend Profiles 80
	Blend Corner Profile 40
	Edge Stop Profile 40
	Wiring Duct Ø27
	Wiring Duct 42x60
	Door Jamb Profile
	Mounting Foot Profile 60x80
	Mounting Foot Profile 80x80
	Protection Wall Profiles 40
	Protection Wall Support Leg Profiles 60x80
	Protection Wall Support Leg Door Profile 60x80
	Protection Wall Support Leg Profile 80x80
	Mesh Guarding Profile 40




	Technical information System 40
	SYSTEM 6
	Profiles 30x30
	Profiles 30x30 45° L
	Profiles 30x30 R90° L
	Profiles 30x60
	Profiles 30x120
	Profiles 60x60
	Profiles 60x120




	SYSTEM 5
	Profiles 20x20
	Profile 20x20 R90°
	Profiles 20x40
	Profile 20x60
	Profiles 20x10
	Profile 40x40




	Technical information System 6 & 5



